
� ��

���������	
���
�����������������������

����
��������������

������	
	����
������	���
	�������


��	������

���
	������������

����������
��	��
�

�

�

�

�

�

�

�

���������������������������������

�����������������	
���
������

����������������������

�������������������
�������������

�

�
�
�
�
�
�

�

���������
����
�����

�
���	���
�����	��

 �����
�
���	����!""!#!""$%

� � � � �



� !�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�����������	���
���
��������������������
�	����
�����
������	������
�������
������������
�
������

������	�������������	��������
�����
���������������������

���������

��� ��������� ��
������� ���� 
�������� �
������ ��� 
����� �	�� ������ ��	���	�� 
���
��� �
�

��
���
�������������
�
����

�



� $�

&������	�����	��%�
�

'�(
�)����
�
	������������	���*�
�
���
��+��,
�-��	�.�����	���������
�/�
�
�/�������
0�

�
�
���
��	����
�
���
���1
�����	
�
0�����
	�����

����	1��������	2��
���������������������������

�����
��������
������	1��
�3����
����������������	��������
�)����
����	
	��������

���������45��

6��������	�7�

&��
�
����
��������������������8����������
�	��������
���������������
�
	���������	
���

��
�
��
	��
��9���
������	��
���/�
�
��
��	�
0�����	
�
�8� ��	����	�������8� ���:���	������� ����
�

�����	1��
�������	���
�
��
�	����
��
���
�
��1��
������
�/�
�
0������	
��������
������
��
�
����

�
;
�<	��
%�

���
	���
� �

� 
�
	���� �������
� ��
��+�� ,
�-��	�� ��� �
� )���� 
���
	�0� ��� �����
�0�

������������
	�	�������
����
���
���

2	�	�����
�/�
�
����2��
�
	�
	�����
�������
	��������
�

���
����
� 
���	���
� �
�� ����
� �����	��
� �����
	���� ��� ����� =��	�	��	��%�>
�
� ��� ����	��� 
��+�0�

������
��0������ 
��
����
��������
�
�
��	����
����	
	��
%�)��������������
��
	�����
	����������

�����	�����������
�
����
��
	
�������2���
�
�
	�	�	����
��������
	������
���	�
������������


���	��������+����;�������
	
��������%�)��
������������
�
����
��������������������%��

��������
0����
����
�
��
������
�
�������8��������	����	��������
�	���
����
���������:���

	���

'�������������
�=��	�	��	���4������/�
�%�)��
����?���8������#�	��������
��������
���
2�	������	���

��	� �:	
��� ������ �
� �����	��� ����� /�
�� ���2��0� ��	� ����	��� 
�
� �����
� 8� �����
����0� ��� ��
�

���
����
� 
���	���
� �
�� �����#�	%� /�� �����0� ����� ���
�	���� ��� ��	�1��� ��	� ������	��� �
�

��
���

2	�	��������/�
��
�����
�������
�)������	��%�

�

�

�

�

�

�

�

�

�

�

�

�������������������������������������������������
5�@%�@ &&��0� ��!��������
�
�����"���
���
���
�
���
����	�
��������0�	��'� ���	�
�����	��;����
A�����
�	��
��(
B��������	��
�40�!""!0����"C%�



� D�

<
2�����
��
�	1��
%�

�

������
������� ���

�
��� �
 �����������
������������ �D�

�%� '�E�����������
�=��	�	��	���4%� �D�


.� >��	�	�	���=��	�	���%���� �D�

2.� A��������
�	��%� �F�

!%� '� ���	�
�	����:��
����	���	
���4�����
�)������	���/������������
�>��	�
�

�����@����%� �� � � � � � ������G�

�

���� ���!�������"����
�����	������ ���� � � � � �����"�

�%���E�
���

2	�	��������/�
�������
�
�'��
	�
�	�����
�	��
�������	��	�	��
�4%�� �����"�

!%�  ���	2��	��������������	���8����/�
�%��� � � � �������


.� )����	��
���
����
��
������/�
�%�� ���

2.� )����	��
�������
����
��:��H
�����
��������
����

��
����	���������������
��%��� �!�

�.� )����	��
������
��
���
���
�8��
��	
��
	�	��������/�
���
������


�����/�
�%��� �!�

�.� )����	����	�	������������I�����
�����/�
�%��� �$�

�.� )����	��
������
������
2
��������8����
�����
����	��
����	�	����
%�����D�

�.� ���/�
��
	������


	
��0�����	�	�����������I������
������
�
��

�
�����	

	���������
	��	�����
�	��
�������	��	�	��%���� �J�

�.�� )�����
	��
�
���'���
���	2��	���4%��� � � � ������F�

$%� ,�1����8������2�	�
�	���	�����
�	��
��%� �K�

D%� )��
�������
����
��
�����
��	��
�	����������2�	�
�	���	�����
�	��
����


���	2����8����/�
�%��� �K�

J%�� )�����
	��
�
����
�E�
���

2	�	�����
�/�
�
%��� � � � ������C�

�

�

�

�

�

�



� J�

���� �#����$����������%����&�������'��
���������������������
���� !"�

�%� (�/�
���
��	��
�	���	�����������
�
����/�
��<	��
%��� !��


.� (�
������
�	��
��	�	�
	��
%� !��

#��
������������
��������	

�����

���
�$	��	����	�������

���"�%
���� ���� � � � � ��������

#��&��"�%
������$	��	����� !��

#��&��'��(���	����$	��	����� !!�

#��&��"�%
������$	��	������ !D�

#��&��)�
��	����������
����*����
��������+	�������� !J�

"����	���������
�,	���
�	����������
�"�	��-	��
���������.������

�����/�������� !K�

����������	�"����������.�����������/���������0
����������������!C�

2.� (�
�	��������	��
��	�	�
	��
�������	�	1��
�
����
���
�
�	������
�
2��%!G�

#��&��1���2�����#����
������� !G�

#��&��)��
����$	��	������ $"�

#��&��3�
�
�����$	��	������ $��

#��&��)����/�������+�
	!���	��*����
�����#����
������� $!�

"����	���������
�,	���
�	����������
�"�	��-	��
���������.�������

�����/�������� $$�

����������	�"����������.�����������/����������
��������������� $$�

�������������
�"����������)����4#�����
��������.���������

���/������ $D�

�.� (�
�	��������	��
��	�	�
	��
�������	�	1��
�

�
�
���
�
�	������
�
2��%�$J�

#��&��5�
�
�
����
	��������)�
�������#�!
������� $J�

#��&�� 
�2��������
	���������
� �����	��������(��
	�����-�
����

�
������� $F�

"����	���������
�,	���
�	����������
�"�	��-	��
���������.�������

�����/������ $G�

����������	�"����������.�����������/���������0
��������������������D"�

�

�

�

�

�



� F�

�.� (�
�
���
���
����
��	����
�	���
��
�
������
;
��	��
%��� D��

#��&��5��������#����
������� D��

#��&��6�
�����!�����+�%
	����������+�
	!���	���

*����
�����#����
����� D!�

����������	�"����������.�����������/���������0
������������� D$�

!%� (�/�
���
��	��
�	��8���	����	�������
�
������	1��
%��� DJ�


.� (�
��:��
�	�	��
�����:���
	��
%��� DJ�

#��&��1����������+�%
	���������� DJ�

#��&��"�	(�6
�
�����1	7������ DK�

"����	���������
�,	���
�	����������
�"�	��-	��
���������.�������

�����/������� DC�

����������	�"����������.�����������/���������0
�������������DG�

2.� (
�������
�	���	�����
�	��
���=��	�	
	���������	�	1��%��� DG��

#��&��.��(������
��	��2����*�
�������-�

������ J"�

#��&����������������)�
������� J��

#��&��"
�!������)�
�������#����
������� J!�

"����	���������
�,	���
�	����������
�"�	��-	��
���������.�������

�����/�������� J$�

$%� )�����
	���
����������;�����	�%��� JD�

�

����� ("����������������
��������� JJ�

�%� ����	����;�����
��+�
%��� JF�


.� ���	
�������������
�)���%��� JF�

2.� &�������
	�	��%��� JC�

!%� >��:	1����;�����
��+�
%��� F$�

$%� E��
����
��	�
��
%��� FJ�

�

�)�� �������������������
���������*��+����������,�������"������������

� �����
������� FF�

�

�����
��������� � � � � � � � �����FG�

�

�



� K�

������
�������

�

)����
���	��������	�������!������

%���	��
�
�����������������������	
���
��������
!����

	�� $�
���� �	�� �
����!�
��� ���� ������� ��
���
���� ��� �
� 
�������� �	�
����� )��� ����
����� ���

���
��������	��
�������&��������
�����

����	��8
����������	����	����������)�����
����
�����

$�	���� ����
���������9������
������ ��	�� ,	����������:� ��%
����� ����� ��	���������� ����


�	������
����
	;�
����������
�����%��7����	�����������
���
�	�<��!�����'
�8�
����8
��������

�	� $�
���� ��
�

�
��� 
���(� !���� 
	;� ��	������� ���	
������ �	�� ��� 
������
����� �� ����� ���


	;�	���������������
��	����	�
��,�����
�
�����

���������

"���������	�����

��
��	
����������
���
��	������-�
����������������
�����

����
����

�	�� ��	�� ����������� �
��� 
	���� ��� ������� ��� ��	��� ������7����� -���� ����
��
�� 

�� �;��
����

����
���� 

%�� �
�� ����
���� ��� ��	��� 
������ 
�
����� 
��&��� ��� ����	��� ���� 
��������� ��� ����

���
�������	���������
������
�������-�
���$������
������
��������	������������	�!��������
�
�����

��	���� ������
�������� 	�� �
����� ���
����� ��� ������� ��� ��	��� �
	;� ���������
����� $�	�� ����

����������
�����	7�����������!��	��������������	��
	������� ���
��	�����
�
���������
��� �
�

/
	����	����������
��������������	����������������	���

�
���	�� ,�	�������
�����������-�
���
������������
���������� �����
��������	�� ��������

��	���
	����=��
���
������ ��� �	
��� ���� ����������	�� �������	
����� 	��� ��!��� ������������#� ���

���������
�8
�����������������	��
	�	������
���
!����������-�
����-����
�
�����
������
����

�	�� ��


���
������������$�
������ �����
������'���

	�������������������������!��������
	�	���

����������
���
!�������
�

�����������4����
���������������
��	������
�����������
�
�����������

�������
��������%��7����������
�
������

)����� �	
��	��� 
	���	
��� ��
���� ��� �������
� ���
� �
� 
	��
�	��� ��	����������� �
�
�

�
�������
��
���	
���
�)����/������������
�>��	�
������@������
�
���
��+��,
�-��	�0�������

���!""��%�

/�������0������
	��0������	���
��	�	����
�	��0��
���
�'�)������	���/������������
����	�
�

�����������4!����

�L
��	�������'��
�)����/������������
�>��	�
������@�����4%�

 ���	����������
�
	�0����
�
����
��:
�	����
	��������	
��	��0�2

���
�����
��
	�
�����
0����


���	�������������������+����=�
�	�	��
�
��������������2

�����
��%�

�

�

�������������������������������������������������
�� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0�)����/��%���%��%�0��!������2���!""�0��
�����NN�����%����%���%	��N�����N%�
!�)	#
��1
����������'�)/>@�4����'��
�)������	���4%�



� C�

�

(�
�/�
�
��
��	�
�8��
�)������	���
��
�������
��
�8���
���������
����	�
�����
����
�:�

�������� ����	���� �	
#8#�	
� ��� '������� ���
����� �����
��� ��� 

� =��	�	��	���4$%� )��
��

��	��	�
������� ���� ����
�	��� ��� ���	�	�	��� ��� ��� ������ '�=��	�	��	���4� ��	� ��

���	�
� ��� ���

��
�
	�%�)��
��2	����
�#�8����	�� �
��� ���������� ���
������ ��������
�
�;
����
�
�����
� �

� �
�

)/>@�����
O��
�����
���	�
�	����:��
����	���	
��%�/�������0� ���2����������������������
��
����


;
���
�	
��� ��
� ��	�1��
� �����
�:� ��	� ����������� ��� �	��� �
�
� ����
� �

� �
� )/>@� ��	��


�
���	��������
������
�
���
���
�/�
�
��
��	�
�������
������
��
�
�����
;
�<	��
%�A��
�
�	������

�

�9� ��/�
�� �
��	�� 
�	�� �
�
� 
��� �
;
� ��� �
�
� ��� �
;
� <	��
� ��� ���
�	��%� A�� �
��� ����� ��
2����

�:
�	���� ��
��� ��� /�
�� �:����� 

� =��	�	��	��� 8� �����
����%� /�
�	��0� ��	�����
��� �
�� ���� ��
�

�����
� ��� ��
� 
���
� ��������� ��
� ���
����
� *���� 	������� ����� �
�	��
�	��.� ���
�������
� 
��

����������
�
�����/�
��<	��
�*�
��	�
�8��
�)������	���������.%���������	�	���
	� �
�)������	���


�
���	����8���
����
����
0�	���
�����	��
	������
#�	����1���������
�=��	�	��	��������/�
����	�
�
�	%�

��� ����	��� ��
�	���� ���
	
���
� �1
� ���
� 8� ���	�	�� �������
� �����
%� (
� ���	��� ���

'�=��	�	��	���4�
��
����	�	�����������
2���0�
��������>��	��A�����
�	��
��3���
�	��0������������
���

���
��
��������
���
�)����
��

2������	
��3����	�0��������
H
������	
���	�����������
��	�����������

�
�)������	��%�(
����	�	�	�����
������
���
���������	�����
�����
�	�
��0����
�
�������
�
���
�8�

���	�	�� ���'��:��
����	���	
�	���40� ��� � 8� 

��	�� �
�
� ����
� �

� 	�� ����� �:	
���� ���� 
���	�
�	���

�:��
����	���	
�������
�)/>@%�)�
����:������
���
��������
�-
�����������������������������
��

��
��
����
�������������
�
	�%�

/�� 
�	�����


��� 
�:� �	��
�	��
� ��
� ���	�
� ��� �
� )������	��� /���������0� ����� ��
�

�����	��
���/�
�
��
��	�
������	��������������8� �����
����0������������8�

��	���
�
�����
��

�

��
�/�
�
�
��������
���

2��
������
��	��
�	��
%�A���
���������	������2
�����0��
�
�������:	1���

��
�	���0��
�<����	����	�
�������
2��������>��	��A�����
�	��
�������	�����������
�E�
���

2	�	���

��
� /�
�
0� �+��� 
	� ��
� �

� ��� ��
���

2	�	��� ���� ���� ��
2�	
� ��� �
�	1��� 
���	�	���� �
�� �
�

)������	��%� /�� �����0� ����� �����#�	0� 	�� ��� �
��� �

� +���� ��	�������� ��
���

2���

	�����
�	��
������0�	���
���������
��	��	��
�'����1���������
�=��	�	��	���4������/�
������
�
�%�

(�
�
��+�
�����
�)����/������������	����	�	

�������������'�=��	�	��	���4���
�
���
��

�

��
���	�
�	��
��:��
����	���	
��
�
�������
����2���:��������������
��
	�����	�
�	���%�A��
�
�	�
�

�����
�
�;
����������
#��
0��
�
�������	
	1�����
�	���0�����������
2�	�������;�����	��
	�
	�����

����
����������������
�	1�����
����	�
�����
�)������	������������������
%�

�������������������������������������������������
$� ��	��������)/>@���P�(�
�@
���
��
��	�
�)����
��
���
�������
	

����8����������
����������
�����������
=��	�	��	�����
����	�
�����	2����
����	�	
�
���	����A�����
����
�����)������	��Q%�



� G�

>
�
� ��� ��
��	1��� ��
�	���0� ���
� 
;�����	
����
� ��
� ��	�1��
� ���������
0� �����

��
���	�
�	��� ��� �
� )������	��� ��� �

� ��� �����	��� �:��
����	���	
��0� ��� 
�� 2


��� 
��� �
�

E�
���

2	�	��� ��
� /�
�
� ��� 
��� ��
� ��	�1��
� ���
��
� �
�� �
� )���� ��� �
� )���	

	���

/���������
%� &��
� 

����
� 
	�
	� ��
��� ���� ���
����0� 
���	���� �
�� �������� ������ ��� ��
�

�����	��
0������
�
������������8� �
�)����/������������
�>��	�
���� ��@�����
�	�������	��

�

�
�
��������������=����%�&��
������
����
0����
�
0���
���	�1��
��������
���	�	
��	��
��
�
���
�

�

������	�
��2

��
�����
����:��;��
����
�����
%�

�������	�����
�	����
��
����	��
���

�=��	
�������	�����	�
��
	����
���2��	�����
�����
�

)����/������������
��������
��	��
���
�����
�=��	
�����������
�R��
��
�
��

2������	
��
�
�

�������
�	1�������
��+��,
�-��	�D%�&��
�������
�
	0�
�������
��2
���
�	��
�������
���
����������


��
����
���
0��������	
	�����	�
��2

��
	��
��������
#�	�
��
	���	��������������������������
���
�

)���%�

�

�

�������������������������������������������������
D� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%�



� �"�

��� �
 �����������
������������

�

)����� ���
� ��
���
� �	�0� ���
� �����
� ���	�	��� ��� 
;
���
�	
��� �
�
� ����� �

� �
�

)������	��������
�
���	����� ���
���� ��
�
���
������/�
����������������
�
�����
;
�<	��
%�>��

������ �
�	1��0� ��� �����
� 

��	�� 
	� ��
� ���
����
� 
���	���
� �
�� �������� ��� ��
� 
���
0� ��	�

�	����
	���� �
� )/>@0� �����
	���� 
�� ��������� ���
��� �
� )���� /���������� ��
� >��	�
� ���

��@����%�A���
���������:��	������
�
�������
�
	��
�	��
�����	
#8#�	
����������
����
����
0���
�

�
��	�
�
����
�����8� �
���
������%�A��
�
�	�������
��	������������
�)/>@�������:��	�
�	������
���

������ '��������� ��� ����� =��	�	��	���4%� A�� �
���
� ��
�	��� 2	��� �:��	����� ��
� �

� ���� �����

���
	�1�������������
���'��:��
����	���	
�:�4%��

�

�%�'�E�����������
�=��	�	��	���4%�

�


.� >��	�	�	���=��	�	���%�

�

(
� ���	�	�	��� ��� �
� =��	�	��	��� 
�� ������� ����	1������� �
�
� ��
� ��	��	��
� ���>��	��

A�����
�	��
����2�	�%�)�
���	��	��
� �
����	�	

�����������
��
�
�	�����
�/�
�
�8��:������ �����

���
������� ��� ����� 
����	��0� ����
�	1��� ���
��0� ��������;
��� ��� ��� 
���	��
��� ��
� �1���
����

���	�� ��� ��
�	��0� ��� 
;
��� 8� =����� ��� ��
	���
� =��	�	
	��
� ��	� ;� 
���� �	��
%� R�� ����� �+���


��	�����������>��	�� A�����
�	��
�0� ��� ������'�=��	�	��	���4��
����� 
;���;������ �
����	������

'������������4%�

A�� �
��� �1
� ���
�����	
��� ���� �
����
������� �����/�
�0� 
	��	�	�� ��� �����	�� =��	�	���0�

��������������������
�����>��	��A�����
�	��
��8����/�
�0��������
O����������
��
	��0������������

��� ���	
	��0� ��� �
	��� ��� 
���0� ��
������	�� ���� 
��	��J%�  �� 
��
� ��� ��
��	���� ���� ��� �
�

)������	��0� ������ ����������� ���� ��
�/�
�
� �:������� 
��� ��
� ���
����
� ��	� ���1����� ��� �����

=��	�	��	��� ����� 
������� �	��������
� �����
%� /���� �����
� +���� ����	���	
����� ���
���� ��
� /�
�
�

�:�����������
������	�
�
������������
�����
�������
���
������������	��	��%�/���������
�
�

	�+����

���
�������0�����
	
�������	�������
�	��
�	�������
��	��	��������/�
������
�
�%�/���������
����	��


��:��	�����
��������������������
���	�����2�	�%�A��
�
�	�
�
���
���
���
�
������	
��+���8�

�����
����0�8�����
��������
����
0��
����
�
����	��
���2�	���
������
��������/�
�����2��F%�

>
�
������
�
	�0����
�����������
��

���	���������8��������������
�����
�	��	�	��
�

9����7�����������
�,	����������:������/�
�%���������
0�	���
����������
2����

��	���
�
�����
��

�

�������������������������������������������������
J�>%�E�SA/0�.�����)�����
����
���	!���0��
�	
0�/�%�>
���M�*��1���.0��GGD0��%�FD%�
F�A2	���0��%FD0�FKTK"%�



� ���

���/�
��9��;����� �
� ,	����������:� ��� 

� ���
������%� A�� 
�
�	�� ��� ��	�� ��
��� ���/�
�� 
� ��� ���

�����	�� =��	�	���� ��� �
	��� ��� 
���� 8� �����
����%� ����� ����
	�
0� ���:���	��� �
�� ��� /�
�� ��� 

�

=��	�	��	��� 	���	����
	�� '���
��	��
�	��� ��� ���:���	��� ������ 
����	��� =��	�	���� 
�������� ���

���
�����
�����
����
����
������
2��
�����������
	�����������
�����
����8���/�
��������
�	��0�

���
;
���������
���
�
��
�
��������I���4K%�(�/�
���:�����
	���������������I���
�����
����
����
�

��	�'����1��������

�=��	�	��	���4%�

(
��������	���8��
�)/>@���
�
���
�����	
��
����
�/�
�
��
��	�
���
���	�
��:�������

����� =��	�	��	��� 
��
� 	�	��	
�� ��� �
�
�%��	� ������ �	��
�	��� 
�
���
	�� ������0� ����� ��
���

2	�	���


��
	�����
�����	
#8#�	
�����
�)������	��%�R�������
������
�
	������
���	�1��
�����
�<����	�����

�
� +��
���
!������ ���� -�
��� *��
���	2��	��� ����� 
���� 8� ��� /�
�� ��� �
� 2�1���� 8� ���� ��� 
�
�

�2�	�
�	��
�	�����
�	��
��
.�������:
�	����
	����/�
��
��:�����

������������8������
��������

�������
������
���������
	���8��
�)/>@%��+���
	�������	�	�����:���	�������
�=��	�	��	����
�����

�����I��������/�
��
�����
�	��	�	��
0���������
�
�
	���������
���	��	��
�
��� �
�E�
���

2	�	���

��
�/�
�
%�/�������0�����������������
0����:#�	�����	������������	�1������'������I���������	��4�

�����
���	2�������
����8����/�
���
��	�%�

���� ��	
� ���
� 
�
�;
�0� 	�� �
��� �����	�� 
��� ���:���

	������2

����	����
� 	�����

�0� 8�



��	���� ��
��� ��
� ���
����
0� �������
� �
�� ��
� 
���
� ����� /�
�� ��
���

2��� ��� ���:#�	0�

���1����������

�=��	�	��	��%�(80����
�������
�

�
���������
2�	�����
�������	�1�����	��
�����
�

2	��� �
� �	��������� ������ ��� /�
�� ��	� �
�� 
	��������� ��
���

2��� 
�� �	��
�� 	�����
�	��
�� ���

���:	������ 	�
��	��� �
�
� �
� )������	��� ���� 
�
� ���	�
� 
�	���� 
���	���
� 
�:� ���
����
� ��	�

���1���������
�=��	�	��	�����
�/�
�
��
��	�
%�R��
�
��
����
�
���
�
�������	�����	�����
	���:	
����

��������
����
����
�
���	���
��
����
�
���
������
�/�
�
���
���

2��
�������:#�	%�

�����
��0���� �������
��
�
��	�������
�
��+�
���� �
�)������	��0� �
�)���� 
��
�� 
�������

��	�������� 2

��� 
��� ��� ��	�1��� ��� �
� E�
���

2	�	��� ����� /�
�� ��� ��� '������I��� ������	��40�

�������� 
� �
�� 	���������%� /���� 
�����
	�� 
���
� ���� �
� =��	�	��	��� 
��:����� ��� �
�	1���

�:��
����	���	
��� =�
���8� ��
��+�� ,
�-��	�%� /���� 
� �:	��0� 8� �
��	�� ��� ��� ������0� ����

��
���	�
�	�������	���	
�������
�=��	�	��	�������
��%�

&��
� 
����
� �
	����
��� ��	�� ��	��������
�	��� ��	� 
� ���� ������� 8� ��� �����0� ��� 
��

�����
���
�:�<�
	��
�����
��	���	��%�

�

�

�

�������������������������������������������������
K�)��%� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%�



� �!�

2.� A��������
�	��%�

�

 �
��� ������	��� ��	��������
�	��� ����� �����0� 	�� �
��� �
������� �������� �����#�	� ��	��


��������������
�������
�����
��������:������>��	��A�����
�	��
�%���������
0�	���
���������������
�

�1���
����>��	�� A�����
�	��
����	� 
�� ����������
�
� �
�)������	�������	�����
��� ���>��	����
�

<�
	��
%�(�
� 
��	���
�$�0� $!� ��� $$� ���	

���� �������
�	1��� ��� ��	����� ��
� ����
� A�����
�	��
�:�

�
�
��
��
�����8�
�	���������	����������������:��%�<������
2���0����
�������:��0���	#�+��0����	��

�
��� �2
������ 
�����	������0� ������ ��� �����	�� ��
��	���� $�� ��� )������	��� ����	�������'����

��
	�����	��+����	�������������2�������	�
�	�
������
��
����	�
	���8�
���	2����
�:������
������
	���

�
�
�����������:������8��
����	1������
����2=���������
���2���4%��	������:�����	#�+�������������

�

� ��+���� 	���������0� ��?��� 
�:� ��;��
� ��	��������
�	��� �	��
� 
���
� *��� 
��
� ���	�
	��� ��
�

�����
0���������:��������:��0�
����2=������
���2��.0���
���;��
�����������
	��
���������
���
�

+���� ��	�	
�
��� ��
� ��
�
�:� ����
�
��	��
� ��� ��
� �	����
�
���
� �
�
� ��
������
� ��� ��
	��� 
� ����

������C%�&��
�
����
�����0�	�	0������������
�������:�����	����
�	�����

�0���	
�����
�	�����
��

��	��������
�	��� ������� �
�� �
� ���	�	��	��� A�����
�	��
��� ��	� ��� �
�� �
� �
��	����%� /��	�� ���
�

����	����
� 
�
� ��
�
�:� ����
�
��	��
%� ����� ���
� 
	���� 8� ;� ��	�� ���
� ��
	�� �
�
� ������

	��������
�	��0����
��2
�������
��������
���:��
�	�����
�	��
�:�
	�	�
	��
0�

�
��������
���
	��


������������=��	�	�����
	
����
�
�����
	��������������	����
�
���	��������
�	��������:��%�

����	1������0��
�)������	���/������������
�>��	�
������@�������������0����
���


��	�������0�8�����	
�����
����
����
�������������1��%�A��
�
�	�����'����������
����������
�������
�

=��	�	��	�����
�@
���
��
��	�
�)����
��
���
�4G%��

/�
�	��0� �
� )���� /���������� ��
� >��	�
� ��� ��@����0� ����	1��� 
������

��	��������
�	�������
�)������	��0�
�������������
�������
��
����	�
	����������'�=��	�	��	���40�


�	�
�����������:��������:��0�
����2=������
���2��%�����
�
�;
������	
������
�=��	
��������0���	�

�������� ��
�
���	�
�	��
��:��
����	���	
��
���� �
�)������	��0� 
��
������������
�
� �
����:	1���

�
��	����������
�
	�%�

>���0� ���
� 
����
0� ��
2���� �2
������ ���	
���	���� ��� ��� ��:��� 
	�
	� ���� 
�
� ��
�
�:�

����
�
��	��
%�(��
���� �
�����	1��� ���
��	������ �
�)������	��0� �� 

��2����)��
���
�	������

)��
�	�� ��� ��/������ 
�
	�� 	����
� ��
� �����
� �
�
� ��� ��:��� ��� ��
��	���� ����� '������� ���
�����

��
	�
��� 
��� ��� ����	��	���4� ��
� �
���
� �
��	�
� )����
��
���
�"0� 
�� �	��� ��� ���:� ��	� �:	
�����


�����������%� ��� ���
#)��	��� L�����������
�� 
�
	�� 
���
� �	
����� ��� ������ �����
	�	��� ���

�������������������������������������������������
C� ��	����$!�)������	�������	�����
������>��	����
�<�
	��
%�
G� ��	��������)/>@%�
�"� %@%�ER,/E<�R&�*/�%.0�"���������-��������������>$�
�
	;����

�
������?��������-	��
����"�������������
/	�
��+�����0��GKJ0��
��%�AA0�!KF�*C�����%��GDG.%�



� �$�


�
	�� �����
�� ��� �����
���� ��� ������ '���
	�
���4� �
�� '��	�
���4� 
��� ��� ����	��	��� ��
� @
���
�

�
��	�
�)����
��
���
%����������)��	��0����	�
�
	�������2���'�����������
��
���������

	2�����
�

�
�����	�
�������
����
���	�2����	�	������
��
�
��	�
���������
��
�
�(
�)������	���4%�(��
�

��
� �	
��

	��
0� 	�� ���� 
��	
� ���� ��� ������ '���
	�
���4� ����
	�� ����
O���� ��
� ���2�1��
�

��	��������
�	��� �
�
� ��
� �	�������
� /�
�
� �
��	�
� ��� ���	�� �
�
	�� �	��:� ��� �����
���� �
��

���:���

	��0� ���
����� 
�=�������	0� '������
��� ��� �
� =��	�	��	���4��%� ���)��	��� ��/:����
� 
��

������H
��
�
�����+���
��
�
����������

	�	����	�������	�
�	���!%�)��
�������2	������������

��	� ���� �������������� ����� ��������	����������� 
�=�������	� 
����� �
������������ 
�
� ���
�����
%�

�+��� 
	� ���:#�	� ��� �	

	���� �

� �:���

������ ��
� �

� ���:��
����	���	
�	��0� 	�
� ����
	���0� ���

����� �

0� '���
��	�� 
��
��� ���� ��

	2��0� ��
� �
�����	�
� ��� ���
����
� ��	� 2����	�	���� ��
�

�
�
��	�
���������
��
�
��
�)������	���4�$%�(�
�
���	�
�	��
��:��
����	���	
��
�����
	���������

�

��:����
%�

A�� �:	
��� ��	�������� ��
����
� <�
	��
� ��� >��	�
� ��� �������0� 
	�	�
	��
� 8� �
�

)������	��0���	�����	�����������+����;�������	
��
	�	��%�(���
����A�����
�	��
��
�����
�>��	�
�

)	�	�
�������	�	���
���
�&
�	��
���	�
��	
��
�����
���
��	����!�U��������'�(�
�/�
�
��
��	�
�
��

���
���� �
���� 
V���
����� 8� ��
������� ��� 8� �
�
��	�� 8� ���
� ��
� 	��	�	��
� 
�� �����
��� 
��� �����

����	��	��� ��� �����
��� ��� ����� ����������� ��
� ���	�
� �������
� �
�
� ��� ���
���� �
���6�4%� )��

��:�����	�	
���+����	���������� ��� ������'������������4��� 	�� 
�
�	��2	���������������0� ������

>��	�� A�����
�	��
�0� ��
� ���:� �:���

	��
� 
���� 
;���;��
� ��������� ��
����%�)���
	�
� 
�� 
����

���
���
� 
	� ���9����:� ��	� ���	�� ��� ����	��	��� 8� �
� ����������0� �
�
� ������ �:���

	��0� 
�
	�� ���

�
�
��1��� ���=����	�� ��� �	
=����	�%� A�� 
� ���� 
��	
��
�� ���)��	�����
�>��	�
� ��� ��@�������
�

&
�	��
���	�
0��
�
����
	���
�
��
	��
�D0�������
����
����
���������
����
	���0�
�	��
����������


��� ��� ����	��	��������/�
���
��	�0�
�	�� �����������

� =��	�	��	��%�W�
���8� �
����	�	�	������������

'�=��	�	��	���40��������������	��:0�	�	0���?���8����:��	�
�	����	
=����	���������9����:0����	�����


���	�	����

�
������	��	�����
�/�
�
��
��	�
��
����
����
�����
���
��
	�����

�����������:���	
��
�

�+������
�%��

�������������������������������������������������
���A2	���0�!""�*J�����%��GJ".%�
�!�A2	���0�!$FT!F"�*�J�����%��GJ".%�
�$�E%�( X�R&0�	��L%��E/A�/&�*/�%.0�1�
����1���������%�
���)�����
����
��8�����
�����!""!0��%!CD%�
�D����������:������������
����
�
�������
���
����������	��	��������/�
���
��	���
	
��

�
��
�

�=��	�	��	�������	��
)�����
	��
����)��	�����
�>��	�
������@�������)�;���0�F�
��	���GGC0�))�EN)NKGN ��%�CC0�U$0��
�����NN�G$%�GD%�$C%�G"N�2
N���%�
�%��
���������:������������
����
������
�������
�=��	�	��	��������/�
���
��	���
	
����
�������
����

�
���
���
����	��	�������	��)��	�����
�>��	�
������@����0�(	������
��	���%������
;0� N$CND"0��FF0�
�����NN�G$%�GD%�$C%�G"N�2
N���%�
�%�



� �D�

(������������
��	�	������8�����
���0���	��������8�����
	��
����
����
������
��������

������	�
�	��� 	��	�	�������8� ����������������/�
�0�����

�����	��
�	����������	
��
	�	������

�
���0�����������0���	0��������:���

	���'������
������

�=��	�	��	���40����
���
��	�������%��

(��)��	�����
����	�
� ��� ��@�����
� ���	�������������� �
��+��� 	��������
�	������

������'�=��	�	��	���4��
�
�����
���������
����:�
��	���
0�����������	�	�
����

�
������	��	�����
�

/�
�
��
��	�
%�(��)��	���
���
��
����
	�����
�8���	������	�����	��:	
��0���������	��	�	�����	�
�
�2	�

�
� �	��
�	��� ��� ��/�
�� 
���H����� ��� ������ �	��
�	��0� ����I�� ���� � �������	�� �9� 
� ��� �	��� ������

�	��
�	��%�)���	����
�������	�1�������
����
�0���
��1
����
0�
�	����	����	�	�����
����
����
���	�

���1����� ��� �
� =��	�	��	��������/�
�� �
��	�%�(���
���� ��� 
��� ���������� ����
	

���� ����0� ��:�


�

	0� ��
� 
���	�
�	��
� �:��
����	���	
��
� ���� ����� ���1���
� ������ �
�	1��� ���
� 
;
���
�	����

�
�
��
����:	1����
��	�0��������
�
	
���
������
����	
	��
�����
�)����
��

2������	
�%�

(
� )������	��� A����# ���	�
	��� ��
� >��	�
� ��� ��@����0� ����0� ���
	�1��� ��� 
���


��	������������'�(�
�/�
�
��
��	�
�8��
�)������	���
����
�����8���
���������
����	�
�����	2����
�

��������
��
�
��
�)������	������8�


�����8����������
����������
�����������=��	�	��	���6�4%�

(
�)���	

	���A����# ���	�
	���
� 	�������������������'�=��	�	��	���4�0������
�

	0����������


���	�	�
����

�
������	��	�����
�/�
�
��
��	�
%�(������
���

2	�	��������+�������
�������
������
�


����
� ��� ��/�
�� 
�	

���� 
��� ��� ����	��	��� ���
����� ��� �	������ ������ )������	���J%� )��
�� ���

�����
������	�����������	��	�	��������/�
����	�	������0�����I�������
�
	��
�	��������
��	�������

�
��	��
�	��%�,	���������
����	
	��
�������������	�	��	�����
	������������
�����	��	�
�	��0�	���
��

	�����
������
���	������������������	������1�������;��������:��%�

/��	�0�	���
������
�������������>��	����
�<�
	��
���	�����	���

�����������=��	�	��	���
��

���1���8�����
���	�
�	����:��
����	���	
����������
	��%�/�������0�	�������	�����
���
��	����!G���9���

�������	@	�������������������������������������	���
�����	���������

��
����	�����
!�����	����
����

���� ��
�	��� ���� 

������ �� �@��
������ �@�����!��� ��� ���� �����������:AB���+��� 
	� ��
���	�
�	���

����	���	
���
��2���+�����
����
����������0���
���	�
�	����:��
����	���	
������
���

��:������������


��	���%�

�������������������������������������������������
�J�)��%�����
��	���
�;���

���
�	��L�
��
�
���,
;0�)�2
0�A����# ���	�
��)���	

	������@��
��E	���
0�
�
�����$0�!""!0�	��'�A�����
�	��
��(
B��
���	
�
�40����%�D�0�J$!�*!""!.%�
�F� ��	����!G�����
�)������	�������	�����
������>��	����
�<�
	��
%�



� �J�

!%� '� ���	�
�	��� �:��
����	���	
���4� ��� �
� )������	���/���������� ��
� >��	�
� ���

��@����%�

�

A�� 
�
�	�� 	�	� ���:��	����� ��� ���� 
	��	�	�� ���� '
���	�
�	��� �:��
����	���	
��� ��� �
�

)������	���4%�R�� �
���0� ��� �
	�0� ��� �

� �9� ���/�
�� �
��	�� 8� �
�)������	��� ��	�� ��
������� �
�

)/>@����
������
������
����
�
�
���
�
�����
������
�
����/�
��<	��
%��

(�/�
�� �
��	�� ����� 
�	�� *��� �������� ��
�	�.� �	���������� 8� �����
������� ��� 
���� ��
�

�:�����
� �������
�	��
� �	�	�
	��
0� ��	��������	��
� �	�	�
	��
� 
���� ��� 

�
� 
���
�
�	��
�

���
�
2��� ��� ��
���
� ��
����
� �	����
�	���
� 8� �����
����%�)�� 
���0� 8� ����������� �
����0� ��
�

�����	��
��:��
����	���	
��
%��

(�/�
�� ����� ��
������� ���������� ��� 
���� 8� ��	����	���� ��� 
��� ����	��	��� �
	
� 
�
�

���
�������
� ���� ��� 	��
��� �:���
	������� ��� �����
� ��� 
�
� �����	1��
%� (�
� �:�����
�

���:��
�	�	��� ��� ���:���
	��� 
���� 	�	� ����	����
%� A�� 
�
�	�� 
�

	� ��� �

� �9� ��� /�
�� ��	�� ���	��

������������
��������	
�8������
��������
�����������������=��	�	���%��

&��
� ����	����
� ��
� ���:� �;��
� ��� 
	��
�	��
� ��� ��
� ��


	�	����
� ��� ������ �
�	1����

�
�
���������
	����
�	���%�

W��	���	�� ��� 
�	�0� ���
�� ��/�
�0� �9� ��
� �����
� ��� ��
� 
���
� �9� ��� ��
� ��	

	��
� *��	�

����
O����� ���� �	��
�	��� '��	������4� ��� �
� )/>@.� 
�� ����� 
���	�0� ��	� ����� �
� �����	���

�:��
����	���	
��%�/�������0�	���
�����
�����/�
��������/�
���
��	���	
�����
�
��*��	��
��8�����	�	���

��� ��
� �
	�
� ��� ��	

	��
.%� )�� �
;
� ����� +���� �
��	�� 8� �
� )������	��� ��� ���%�)��	� ��
� �

�

��	��	������
�����
���	�1��
��������
�
����
������������������	�������

��	��
	��
�@
�����
��	��

�����
��
������	��
������������8��
�)/>@��
�
���
�
	��
�	��
%�W�
������/�
��
�	������
�
�����8�

�����
����0� 	�� 
��
� ���
� �	��	�	��� ��� ��	�� 
�	�� �:����� 2	��� 

� ����������%� )����� ���
�� 

�

��
���

2	�	��� ��	� �
�� ��� �
�
�0� 	�� �
���
� 
���
� ��	�	
��� ��
� ��	�1��
� ��
���	2��	��� ��� �
�

E�
���

2	�	�����
�/�
�
������������	�	��%�

/��	�0� ������
� 	�����
����
�������	�� 
	� ��
� 	��	�	��
�
���	��
��
�� ��
��	��
�	��
���� �
�

)������	��� �������� 
�� ����
��	�� ��� <�
	��� ��� 
�	�� ���
��� ��
� R��
��
� ��� ���

2����%� (�
�

���
����
0���	���	���������������� �
� =��	�	��	������ ��/�
�0�
�����������
� �
	�
0������	������

�

����


	������� 
�� �������� 
��� 
��� ����	��	��� �	� +���� ��� 

� �
�	��
�	��%� )�� ��	�1��� ��
� 
������

	��	������
�����
����������
��������
�
����
����������%�

&��
�

���
���������������
O��������

����:��
����	���	
�	��%�&��
�����:
�	�����
�

�������
#��
0�����
�	1������
�
��������	�0��
�
�������	
	1�����
�	���%�

�



� �F�

����� ���!�������"����
��������������������	�������

�

A�� 
�
�	�� ��
�
�;
��0� �
�
� ��� ��
�
	�0� 8� ������
� ���

	��
� ��� /�
�� ����� +���� �����

��
���

2��0�
�������
��2�	�
�	��
���	���	�	����2����
���	��������
�)/>@�������
���
��	�������0�

�������
��
	�
����	��
��
	������	
������	�
��
	�������������8������
����%�A���
�������	�����


������

��	������������
�
������0�8�����	���0��
������	�����>��	��A�����
�	��
��
����
�E�
���

2	�	�����
�

/�
�
%��

�����������	��	������>��	��A�����
�	��
��2	�����
2�	0�	���
����������
2�����:
�	����
	�

�
� �����	��� �:��
����	���	
��� ��
� ���
��
� ����� /�
�� ����� ��	� +���� 
���	2����K%� A�� �
��� ��
�	��0�


������
�)������	���/������������
�>��	�
������@����0����	�	���
	���
����
����
�
���	���
��
��

��
� 
���
� �:��
����	���	
�:� ���1����� ��� �
�=��	�	��	��� ��
� /�
�
� ��	� 
���� ��
���

2��
� ��� ���
�


���
%� )��
�� �������	� ��� 
���	����
� ��
2���� ��
� ��	�1��
� ��
���	2��	��� ����� 
���� 8� ��� /�
�0�

���
���	�� 
� 
�	� 8� �����
����0� ��� �
�	1��� �����
	��� 8� �
� )������	��0� �
�� ���
�� ��� ��	� �
	�� �
�

�	��	��������� ��
� �����	��
� ����	
�
� 8� �����
����%� A�� �
���
� ��
�	������	�	��� 
	� �����
#�	� 
����

�����
	��
��������8��
�)������	��%�)��
������������
�
����
��:��	�����8����
���%�(
����
�	���

��� ��	�� 
	� �������
����� ���1��� ��
	�������� 

� =��	�	��	�������
0� ��
�	��0� +���� ��
�����?��� 8�

��
���	�
�	��� ����� 
����� ��
�� ��	� ��������
� ��� ���	�	�� ��� �	��� 
���	�	���� ��	� �:	
���
	�� ������

���������
����������/�
����	�
�
�	%�)��
������������
�����������
��
�
���������
	����
�	����C%�

�

�%� E�
���

2	�	��������/�
�������
�
�'��
	�
�	�����
�	��
�������	��	�	��
�4%�

�

(�
��	���� ����	��� ��
� 
��	���
� ��� �
� )���	

	��� ��� >��	�� A�����
�	��
�� 
��� �
�

��
���

2	�	�����
�/�
�
� ������������
�� �:��	��������������#�	� 
��
� ���
���� ���
������/�
��

�����������
	��	�����
�	��
�������	��	�	��%�A�������
�
�
�	�������������
	���
��
	�
������	

	��
�

����	
� �
�� ���� /�
��G%� (�
��	���� !� �:��	���� ��
��� ��� 
�� ������� �
��� 8� ��� '��
	��

	�����
�	��
�������	��	�	���4���	��
�
�	����
��

��9��
������	����������/�
�����
	
����������
��	���

���������	

	�����	�
.��
��
���	2�
2���8�����/�
��
�����������	�� 	�����
�	��
����2�	����0�2.���	�

���
�	��������2�1����8������2�	�
�	���	�����
�	��
��������/�
�%�(�
�
��	���
�
�	�
��
��:��	������

���������
�
	��	�	������
�����	�	��
0����
�
����
���
�����	������
�����	
�����%��

�

�������������������������������������������������
�K�E%�( X�R&0�	��L%��E/A�/&�*/�%.0���%��	�%0��%!C�%�
�C�)��%�)�
�	����A�%�
�G�)��
���������	������	�	
���������'��
	��40������
�H
	
0���������
��	���'�
���40����
���
	
0��
��	��
�
�	����
�������
����	

	��
%�)��%�)������
	��������
��	��������	���%�)E XYRE>0�)�����	���������;��������������
���������

������������
�"�������������������������
����
���	���
����
���
!����������-�
��0�)
�2�	���0�!""!0��%�C"%��



� �K�

!%�  ���	2��	��������������	���8����/�
�%�

�

)����������
���0�
�	�����

��	��
	����/�
�������+����������������
���

2���������
	�0�

	���
�����������	#�	���	�
�	��
���	2��%�)��
������+�����	�1�����������	�	
��
��������	��
	����/�
��
�

�:�����

�=��	�	��	������

�����������%��

R�0����/�
����������
�	��*�������������
�	�.������
����	�������	
	������
�
�
����
����

��� 
�
� �����
���
��
%� (
� ���
�	��� �
�� ����� ��� 

��	�� ������
� ���
����
� �����
	���� +����

���
	�����
�������
�	


���
�����������/�
�!"%�A��
�
�	�
���
����
��
����
���������������0��

�����
����
����
����
���	�����
�	�
��
��
��	����	��0���	�
�	�
�	��������������I��������
����
��
0�

���
�#8#�	�����
�'�
����
������/�
��4!�%�(�����	��	�������=����
�8�������
�������I�����1
�	�����
���


�	�������
	�����������
����
����
�
�������
	�����
������������
%�(
������	���������
����
�

��	���
� ��� 
��
� �

0� �	���������0� 	������� 8� ���/�
�� 8���	�
� ���� ����	#�	� ��
	�� �

� ��	
� ��
�

��
���
�����


	��
������������	����
��
	�
�����	
��
����
����
����
%��

�


.� )����	��
���
����
��
������/�
�%�

�

(�
��	����D�����������
��
���	2������
������	��
���
����
��
������/�
��8�����	#�	%��A��


�
�	��������������	���	��	�	�����������������	�����	����
�	
����/�
�������	�
�������
��������
��	��


� ��H�� 
��� 
�
���� �	
� ��� ���	�� �
�	��
�%� A�� �����
� 
�
�	�� ��� 
�2�������
� ��� ��� 
����	���
�

	��	����������� ��� ��	� �:������� ��
� �����	��
� ���	
�
�	��
0� �:����	��
0� =��	�	
	��
� ��� 
����
%�

�����������	��	����������	��������/�
�0����������������������
��
��
��	
�
�������+����	�������

��
� ��	��
� ���	��
��
� ��� ���
��
� 8� ��	�
� ���� ����
	�
� ��
	��
� ��� �	�	����� �
� ��
���

2	�	��� 8�

�����	����
�
2��0�
����0�����������������	#�	�����������	�����������
�
�������
��%�&����
����	��

���������
��������
��	��
�	����
2�

������
�
������	�
������������
����	���
�:������
����	��
�

��H�
0�
���
����
��
����=���
�
���	2���8�����/�
�%��

A�� �
��� �
	��0� 	�	0� �
� �	��������� ������ ���� �����	��� ��	� ��
� �

� ���� 
����	
��� ��� ����

�����	��� �:���
	������� ��	���%� (
� ����	1��� �
�� 
���	2�
2��� 8� ��/�
�� �
	
� �

� �
� ����	1��0� 8�

��	�
�������/�
����
	������
������
������������
��	��������
	���	����
	�����������	���%�>
�
����

�

0����
������������������
�������
��
�
����
��
�8������

	�������
	������
��	���	��
���	������

�
������	���	�����
�	��
�������	��	�	��%�A��
�
�	���������	��
�	��0��
�������
��0�8������

	������

�������������������������������������������������
!"�)��%��%�)E XYRE>0���%��	�%0��%�C!%�
!��)��%��%�)E XYRE>0���%��	�%0���%�G�%�



� �C�

�
	������
��	���	��
0���� ���2�	�
�	�����
�	��������������	��������������

	����������+����
	�0�

��	����
����
���
���

2	�	���	�����
�	��
����������/�
�!!%�

����� ���������� ��
� �

� �����
��
� 
�	


��� 
��
� ��
����	��� ����� /�
�� ���2��� 8� �
�

)������	���/������������
�>��	�
������@����0�����������:
�	���
�
��1
0����������	��������

����
��
�	��������=���0��������	
	������:��
�	�	���������:���
	��������������������������


���
�
�	��� �
�� ��
� �����
� ��� ���	��� ����� /�
�� *�+��� 
	� ��
� 
����
� ���� 
�	� ��#�����
� ��� �
�


��1��� ��� ����� 
����	��� ��� ���� �	���� ��� ���	�� 	������0� ������ ��
� �
������ �
� )���� A����#

 ���	�
	�����
����	�
�����������!$.%��

�

2.� )����	��
� ��� ���
����
� �:��H
��� ��
� �������
� ��� ��
����	���

������������
��%�

�

�
�� ���	�	�	��0� ��
� ���
����
� ���� ����� ����	�� 	�	� ��� 
���� �

� ��
� ���
��
��
	
� 
����


����	
��
0� ������ ��
� ���
��
� 8� �:������ ��
����	��� ������������
��%� )�� ������� �����

�����
������ ��
� �������	
�
� ��2�	���
0� ��
� ���	��
� 
��	#��2�	���
0� ��
� 
�����
� ��2�	���
� ���

���������������+�����
�����
��	�
���	���
0������
��
����������
�
	��������
����	
��
0��
�� ���

���	���
�	��
�0�8��:��������
������	��
�����
�
��1�����2�	���%�

�

�.� )����	��
������
��
���
���
�8��
��	
��
	�	��������/�
���
�����
�����/�
�%�

�

(�
� 
���
������
����
��
� 
������ 
���	2��
� 8� ��/�
�� 
������ 	�
� 
�����	
�8��	
��
	�	��0�


�	�
� �:������� ��
� �������
� ��� ��
����	��� ������������
��� ��� ���� /�
�0� ��� 
�	


��� 
��
� 
���

�����I������

��	����	��%�

(�
������
�
����
����������	��0�����;��
��
�
����
�����/�
�������
�	���
�
�����
�����

/�
���
	
���	���
�������
��
���
����	��������/�
����	���
�����	�0�
	�
	�������
��

��������
�	��
0�


������ �:���
� ��� ������ �
�����	�%� (�
� 
��	���
� ���	�
� 
��� �
� E�
���

2	�	��� ��
� /�
�
� �
�� �
�

)���	

	��� ��� >��	�� A�����
�	��
�� ��� ��������� �

� ��� ������� ��
� 
���
� �����
�	

�	��
�

	�����
�	��
��
%�R�� ��� ����� ����� �

0� 	�	0� �������� ���:������ ��� �����
� 
����
� ����� ����
	��

���2�����/�
���	
�8��
��	
��
	�	���������R��
�	

�	��0���������R< &%�>
�
�����

0���
����

/�
��
��
	��	��	�	�����������������������
���

2������
�
�
���
%�

�

�������������������������������������������������
!!��%�(/&R,(/0�+��
���
!������)�����
����
�������-�
�����������<������������
�0�	��'�E�����2��������>��	��
A�����
�	��
��40��GC�#C!0��%�GFT�"$%�
!$����Z
���M�E���[���M�)

�0�AN �)�����@%E%0����������������;�!G0����	�
�)�&�%�D%0��GCC0�
�����NNBBB%�����	��%��%��N=��	
\	��N	���:%����%�



� �G�

�.� )����	����	�	������������I�����
�����/�
�%�

�

)������
�����	����� �
	�
�
���	2��
�8����/�
���
�2�
���������
� 	�����

����
�� �
�
�	���

�
�� ��� ��	�1��� ��� �����I��� ���	����
� �����	1������� �
�
� ��
� =�
�	�	�
�	��
� ��� �
� )����

/������������
�>��	�
���� ��@������
�
� ��
� �

��������
�����	����
����
� ��	�%� A�� 
�
�	�� ���

��	��������������0�����	
�������
�
��������
�	1��0��
�)���	

	������>��	��A�����
�	��
��
�	��

���������������������
������
����:�
	��	�	�
�	��
��
���
�
�	��%�

(�
��	����C���������
������	���������
����
�������������
���	�
��
�
���	2����8����/�
��

���
������
����
����
�
�	

������
��1
���
�	�
�����	��
����
��
��
��	����	��������������I����������

/�
�%�R�� 
� ��� ������ �����
�0� ��
� �����	��
� ��� ���
����
� ��	���
� ��� 
���� �

� 
���	2���
� 
�:�

/�
�
%�)�����
��0�	�	0��
�)���	

	���
�������������������
���

2������/�
��������
������	���

��� ��
� 	��	�	��
� 
�	�
� ���� 
�	���
��1
� 
�
� 	�
�����	��
� ��� ���� ����	
���� �
	�� 	��	�	��� ��0� ���
�

�����
������0� 
�	�
� 
�	

���� 
��
� �
��	����	��� ��� ��� �����I����������/�
�%� A����	��������:	
���0�

������ ��� �	�� ���
	���� �
��
� )�
B����� �
�
� 
�
� )������
	��
!D0� ��� ����� �	��� ������ ��
�

���
����
� ��� ������ �
� �
��	���	�� ��
�	���%� A�� ����	
�� ��
	�����
0� ���	� �
�� ������ 	�����
����

�
�	�
����
�
����
�=�����	����
����������0�����
������	����
��
�
����������0���
����
����
����

������
���	��	�	��
���	�
����������;�
�������������
	��
��
�
���
��
;
���	
	�
����8���	����

������
���
�	�
�����	��
�����	

	��
�8������
����%�

�����

��	�� 
	���������
	��������	���
����� 	�
���	�����������I�����
�����/�
�0� 	�� �
���

���������������	����
����
��	������������
�	������
������
��������/�
��������������


���
��	��

	�����
���� ��� ������ ����
�	��%� /�� �����0� ���� �����	��� 
��	��������� ��� ���	����	���� 8� ����

����
�	��� ���
����
� 
�� �����I��� ��� 8� �
� �	����	��� ��� ��/�
�%� (�� ������ ��� �����I��� 
��
�

��
���������	����	
�%�A����	���:	
�������9������<������������:���	���	��
�������
��������
��	��0�

����
��	����	���������
�����������������
�	�����������

�
	�������������
	��
�	��
������
������

������
����������
������0���������
����	����
�)����A�����
�	��
��������
�	����
�
�����

���
�

 ��	�	��
��	�	�
	��
� ��� �
�
�	�	�
	��
� 
��&	�
�
��
� ���
���� �
� ��
���

2	�	��� ��
� /�
�
� ��	
�

��
	��
����
��!J%�)�
���	�1��
���������������
�����������
������
�
	��
�	�������
	�%�

A�	� 
�

	� 
�� ��
�� ��� ���2�1��� ��� 

��	�� 
	� ��
� 
���
� ��	� �������	������� 
�:�

	�
�����	��
������������/�
����
���

2��%�A���
���
0�8������
�0���	��
	��
������	���	����
������
��

�

� 
���������
��	����������
�� �
������8� ������
�	����	�	������� �����I�����
�� ��
�
����	��
����

��/�
�%��

�������������������������������������������������
!D�)��%��%�)E XYRE>0��%���"%�
!J��	�	�
�;�
����
�
�	�	�
�;� ��	�	�	�
�	��
���
�
	�
��&	�
�
��
�*&	�
�
��
��%���	������
��
���� ���	�
.0�A)�0�
�GCF0������NNBBB%	�=#�	=%���N0�U�CF%�



� !"�

)���
��	�������
�
���	�
����2

�������
��������

��	��
	����������	����
��
���	2�
2���8�

���/�
�%�/�������0������	�1��������2����
�
����
��������
�
	��
�	��
���	����
�	�����

����*�����
�

��	��������������8� �����
����.%��
��
	�����
0� ��
���	�1��
�����	�
�
�
��� ����� ����������8���
����

��	
� 
�� ��	�1��� ���
�	���� ��� ���	�� 	������� ��� ��/�
�� ��� �
�
�� �
	
� ��	����
�	��� ����� �
	��

	�����
�	��
�������	��	�	���8����/�
��
�����	�	��
��������
������������
����	�1�����������I�����	�

�2�	���8���������
���
�	�����������	������
	�%�A���������
���
�����
��
�����8���/�
����
�
���
���	�

��
��	
���� ���:���	��� ��� �
	�� ��� 
�
� �����	��
0� �
�#�80� ��2�	���
0� �:�����
� �
�
� ��� �
���� ���

�����I��� ����	���	
����	����	�	�� �������	��� ��

���� ��/�
�� ��� 
�
����
��
�
��
��
� �
���!F%��+���

�
�
������	�1���
���	�	������
���
�
�����
��
�� ��
����
��
������/�
��8� �����
����0�������������

������ ���������� 
����	��	��� ��� �����I��%�)��
�� 
	�
	� �������
	���� �
����
�(���2��� ������ ���

���������� ���'�	�����
�	���4� ��
� �1���
� ���
�	��
� 8� ��
���	2��	��� ����� �
	�� 	�����
�	��
�������

	��	�	��� 8����/�
�� 
�� ��	�1������ �����I��� ����	���	
�!K%� A�� 
�
�	������������ ��	�1������� �������	��


�
�;
��� �
�
� ��
� �
	�
%� >
�
� ��� �

0� 
	� ��
� 
���
� ��� ��	

	��
� ���
�	������ ���� 2�1���� 
�:�

�2�	�
�	��
�	�����
�	��
��
��������/�
�0�	�����
��
���
���

2��%��

R�� ����� ���
� ��� ��=8� �
	��� ���
�����0� 8� ��� 
�
��0� ���� �+��� 
	� ��� ���	�	�� �
�

'�=��	�	��	���4� ������ ��� �����I��� ��������� 
��� ��
� 	��	�	��
� ��� 
��� ��� ����	��	��0� ��� ������

�
H��0������	��
����������8����'������I���������	��4������/�
����	������
�����
���������:
�	���

	�	������	������2����
�
����
���	�1��
���
���	2��	��%�

�

�.� )����	��
������
������
2
��������8����
�����
����	��
����	�	����
!C%�

��

&��
� 
����
� �2
������ ��� 
����� �

� ��� �����	��� ��	� �����
	�� +���� ��	��� ���
���� ���
�


�
�;
����
� ��
� 
��
	��
� �������
�	��
� �	�	�
	��
%� A�� 
�
�	�� ��� �
� �����	��0� ������ ��� �

�

��
2
��������8����
�����
����	��
����	�	����
0��
����
����
����
���	�������������	�	�������/�
�����

��	����
���
���
�

���
���

2	�	��%�)��
�0��
���:�����0�����

�������
;
�	��
�
2������������I����

�
� ���
�	��� ��� 
��� ����	��	��� �
	
� ��	� ��
��� ��
���

2��� ��
� 
���
� ����	
� 
��� �
� �
��	�� ���

����	��	�����	���	����
����*

���
	����
����
����	��������
�����/�
����	��
��
���
��:������
���������

�
��	����������.%�

�

�

�������������������������������������������������
!F��%�(/&R,(/0���%��	�%0��%�"$%�
!K�A2	���0��%�"�%�
!C� ��	���
�G���
� ��	���
�
���(
���
���

2	�	�����
�/�
�
�����
�)���	

	���������	��A�����
�	��
�0�
�����
����G�

�]��!""�0�	���%�)E XYRE>0�)�����	���������;��������������
���������
������������
�"�������������������
������
����
���	���
����
���
!����������-�
��0�)
�2�	���0�!""!0��%F!%�



� !��

�.� ���/�
��
	������


	
��0�����	�	�����������I������
������
�
��
�����	

	���

������
	��	�����
�	��
�������	��	�	��!G%�

�

���/�
����	�
�������
���
	������
���


	
�
����8����
�����/�
���������������������
	��

	�����
�	��
������� 	��	�	��� ��� 
��
� ��
���

2��� 
�	�� �
�� 	��������� ��� ����
	


���� ��
�

�	����
�
���
� ���� ��� �
	�� ��
	�� 	�����
�	��
������� 	��	�	��%� A�� �
��� 
�

	� ���� ���� 
���� 
	�� ����

	��	�	���
	�����/�
��
�
	��
�	��	���������%�

)�� �;��� ��� �

� ���
� 	�����

�� �
�� 	�� 	���
���� ��
� 
	��
�	��
� �9� ��� /�
�� �
�	�	���

�����1�������������
����
����
������
��������


	
���8��
���
�����	�����������	���
���	��	�	��
�

�
�	��
�:�������
;
��	��
%�

(�/�
�0�����	�����
���

2��0�
��
���	������������	���	�
�
�	��
	
�����	���	���
�
	���

���


	
���
��
���
���

2���
�

	������
����I������
������%��

)��
������
���������
��

��9����/�
���������8����
���������



���
���
�������	��	���

�
�
����2�����
��
��������
������
;
�����	����
	�
	���	�����	��	������
�������
������%��

��� /�
�� ��	� �����	�� ���� 
	��� �
���	��� 8� ��� 
����� ��� ��	� ��	�	
�� ������ 
	��� �����

���������� ��
� �	��
�	��
� ��
� ���	�
� ��� �������0� 
��
� ��
������� ��
���

2��� ��� ������ 
����

��


	
�
���%� ����#+���� ����#��� �������� 	�	� ���:������ ��/�
�
� ��	� �������� ��
� 
���
� ��� ��
�

	�
�������
�����������
�8����
�������	���
�	������������������
��:
��	��
�
���

������
�	��%�

&��
�������
������
����
��
��%�>
�
�����;�������

��9���


	
�
���������/�
��
��
	���
�	�	�����
�


2�
�
�:����	�
���� ���������
�����
�����/�
�0� ��
��	����
�
���
���� ��
���� �

���	����� +����

�:
�	���
� 
�	�� ��� ������	���� 
	� ��/�
�0� ��	� 
� ������0� 
��� 
	��� ��
	�� ���
�	���� ���� ������ 
	���

�
�	�	���
	���
�����	

	��������������	���	�����
�	��
�������	��	�	��$"%��

���/�
����	��	�	�����������I������
�����/�
���
�
��
�����	

	���������
	��	��	�	����
��

�����
�:��+�������	�	��
�����
�	����
	��������


	
���*	����	��
�	���������
	


��������
�
�����

����
	��
�

	�+��������
2�������������	��
�	���
�	����
��������
	����	#�+��.%�)�����
��0�����	�

��	��	�	�����������I����
���	�����������������
���

2����������
	�� 	��	�	���*�������
	���������

�����
���
	������
���


	
�
���.%��

A�� 
�
�	�� ��
� 
	��
�	��
� ��� ������
���
� ������ /�
�
0� ������ ��� �����
	�� ���:
�	����

����� ��� �

� ������E���2�	���� 	�������
�����
	
���	� ��
��� 
��
� ��
����	��� �����������
	���
�

�������������������������������������������������
!G� ��	���
��FT�K���
� ��	���
�
���(
���
���

2	�	�����
�/�
�
�����
�)���	

	���������	��A�����
�	��
�0�
�����
����
G�
�]��!""�0�	���%�)E XYRE>0���%��	�0��%FD%�
$"�)��%��%�)E XYRE>0���%��	�%0��%��J"�T��J�%�



� !!�


����
��
;
$�%�)��
������
���������
��:�����
��������
�	����9���R����
����
����
���

2�����
�

�
	�
������R���������	���	�	�����������I��%�

�

�.� )�����
	��
�
���'���
���	2��	���4%�

�

A���:	
�����
����
��

0��:��	���
��
���
�)���	

	������>��	��A�����
�	��
�0��9����/�
��


��
�������������
���

2���������
	�� 	��	�	����
��	�� ��	��
��
���	2��$!%�)�����
��0���
��:�����
�

���
�	�����

������	�
��
�
�������������

��������
��������������
��
���
�
�	��%�

/��������
�����
��:��	�
�	��
�����
�)���	

	������>��	��A�����
�	��
����
�
	��
�	��
�

�9����������	�����	�� +���� 
���	2���� 8����/�
�0� ��� 

	����
��� ��� ��������������
� ����	�	��
�

����� ������ /�
�� 
�	�� ��
���

2��� ������ �	��
�	��� ��� 
�
� �2�	�
�	��
� 	�����
�	��
��
� 
��
�

�����	��*�������	����	�+����	������.%�R�������
����������
������
��

���	����
�	�����

���
�
�

�
� =��	
������������ �
�)����/���������� ��
�>��	�
� ��� ��@�������	� ���
	�1����� �����
��	��

��
���

2��0������
���	�1��
�����������	�	
�0�
������
���	�1��
���
2�	
����>��	��A�����
�	��
����
���

8� �
�E�
���

2	�	��� '������
���4���
�/�
�
� ��� 
����
�
��1���'���
���	2��	���4���� ��/�
���	
� ���

�
�
�%�&��
�����������
�������
����

�������������
�)������	���/���������0�����0��:	�������

����	�	��� 
���������
	��� 
�
��� ��� ������� ��� /�
�� ��
���

2��� ��� 
�
� 
���
��� ��
� ���
����
�


���	���
��
����
�
���
���	�����'�������������
�=��	�	��	���4��������/�
�%�

R�� ����� ��
���	�
� ��������� ��� ����� ���	� ���	�� �
�� ��

	2��� �������2��� ��� ���


;�����	
��� ��
� ��	�1��
� ��	����
�	��� ����� 
���� 8� ��� /�
�� ��� ��	�	

��� ��	�������� ����	� ���

�����I���������	�������/�
�%�)����������
��	�0�����	#�	������������
��
�����8���/�
����
�
���
���	�

��
��	
���� ���:���	��� ��� �
	�� ��
� �����	��
� ��2�	���
0� �:�����
� �
�
� ��� �
���� ��� �����I���

����	���	
����	����	�	���������	�����

������/�
�����
�
����
��
�
��
��
��
���%�A��
���	��
	���������

��	����������������	�1�����������I�������
�	1�������������
�
���
��

��������
���	�
�����
�������

8����
��������
���������
���	��	��
����>��	��A�����
�	��
����	�������������
�E�
���

2	�	�����
�

/�
�
%�(�������I���
	��	�	�0��
�#�80��
���	
��������������������	��������	��������:�����
������

	��	�	�����������$$%�A���
����1
�8����
�����
	������
����������
	������	�1�����������I��������+����

��� 
���� 8� ��	�	
��� �
�
� ��� ����	��� ����
0� ��
� 
����
� ��	�1��
� ��
���	2��	��� �������� +����

	����	
������� �:
�	��
� �
�
� ���� 
��
	��� �����1��%� /�� �����0� ��
� �1���
� 
���	�	���
�

�������������������������������������������������
$��)��%�����

�����
�E���2�	������ ������0����������
�
�����
�����
��
�
���
�
�;
����
�
��+�
�����
�)����
/������������
�>��	�
������@����%�
$!���	��������
O���
������	��������
�����/�
����������
����
�
	����0�
�	�����������
�����/�
��8�
�	�������
������
����������	�
������	�������������
���
��������
��	���L�����������%�
$$��%�(/&R,(/0���%��	�%0��%�"C%�



� !$�

��	����
2	�	���������
	��	�����
�	��
�������	��	�	������������������
2�	����
��	�������
������
����

�����I����:����
��
�����/�
���
�
�����
	��
�	���������%��

�

$%� ,�1����8������2�	�
�	���	�����
�	��
��%�

�

)����� ���:��	���� ��
��	�����!���� ��:������ �
�)���	

	������>��	�� A�����
�	��
�0� 	��

�:	
�������2�1������������	��
�	����������2�	�
�	���	�����
�	��
�����
�����/�
����
�	���

����

�������	���
���������������	�����������2�	�
�	��0�����	�������
�����	�	������
����
�
��1��%��

�����������	����
	���/�
��
���
������
������
������0�	���
���
�����0��
�
���
�����

0�

����
�����
������	��0��
�
���
��
	�
0�8��
������	��0����
��	������
��������
�����2�	�
�	��%�

(���	�	���������2�	�
�	�����
��

���	�����
����������������
����	�������<�
	����������
�

)������� 	�����
�	��
��%� /���� �����
� +���� 2	�
���
��0� ����	�
���
��� ��� �	
#8#�	
� ��� �
�

������
����	�����
�	��
���������	��%�

A�������
�
�	���������2�	�
�	��������;�����������
���
���
��
����
�
��1���	�����������

��
������%�

(��2�	�
�	��������	���
�����
�	�����	��+��������	������
����������9���/�
��
�	�%�)��
��

������������	�� ��
��	�����D%�(
�)���	

	������ �
�)����/���������
���
�>��	�
���� ��@�����

������ 
�

	� �
�������
�
�������2���:��

� ���
�������
����� ����
����
���
	���
��������
� �
	�
�

����	
�
�
����������������	����������
�)������	����
�
�����
	�
��
;
%��
���
������
���������

��� ��������� ��� �	������ ��� �
� )������	��0� ��
� 
��	���
� �J� ��� �F� �:��	������ ��
	�����
� ��
�


���	�
�	��
� �
�
� ��� ����
� ��� ����
	�
� �
	�
0� ��	� �������� 
�� ���������� ��� +���� ���
�	���
� ���

���
	���
��
	�
�	��	�	��
0��
���
������
�������������������������	����������
�)������	��%�

>
�
���
��

���� ��
���

2	�	��0� ��� 
���� �����
� ��
��2�	�
�	��
������/�
����	���	�����

+������
������%��������
��
	�
�����	
��
����
�/�
�
����2��
�8��
�)/>@0����
���	�
��������������

8� �����
����0� ��� ��������
� ���
� �
��� 8� ��	�� 
	� ��� 
���� ���
� ��
� ���	�
� ��� �
� )������	��� ��	�

�������0���
������	
0�+������
�����
%�

�

D%�)��
�������
����
��
�����
��	��
�	����������2�	�
�	���	�����
�	��
���
���	2����8�����

/�
�%�

�

(
� )���	

	��� ��� >��	�� A�����
�	��
�0� �
�
� 
��� �������	��� ��
��	���
� 
��� �
�

��
���

2	�	�����
�/�
�
0������	��
�

	���
����
�������
�������
��
;
��	
��������������	��
�	�
�


���� �������
� ��
���

2��
%� )�����
��0� ������ ��
� �������
	��
� ��� ��
��	���� !C� ���



� !D�


���	�	���$D0���
����
����
��������
����
�����	��
�	��
��������
	��
��2�	�
�	��
0������������
�

�
	��
� 
�:� ���	�
� ����
����
�:0� ��� ��
� ����������� �

%� (�
��	���� $$� ;� �
	�� 
�

	� ����������

���
���	�� �����	�� ���� ��
� �	
��
	�	��
0� ����
��� ��
� ���
�������
� ���
� 8� �
� ��
���

2	�	��� ��
�

/�
�
0�������=��	�	�������
�������
�	1��� ��������	����	������+����
���	2���8��������
��������

�������	���
�����������/�
�%��

/�� �����0� ����
	�
� ��
	��
0� �
�
� �����
� 
����
� ����
�	1��
� �	��������
0� ���	

���0� ��:#

�+��
0� ��
� ���2�1��
� �	�
� 8� �
� ��
���

2	�	��%� )��
�� 
������� ��� ��	� 
�� �


�� �
�
� ��
�

)������	��
�����
�	1������>��	�
���� ��@����$J%�)�
� 	��	�	��
���

1�������
	�����
��
���	
�

��� ���	�� ��� ������
� 	��	�	����� ����� ��	�� ����
� ���	�
� �������
0� ������ ���
�� ��� �

� �
�
� ���


;
�1�������
�)������	���/������������
�>��	�
������@����%�

�

J%� )�����
	��
�
����
�E�
���

2	�	�����
�/�
�
%�

�

(
��	��
�	����������2�	�
�	���	�����
�	��
��0���������/�
�������+������
���

2��0������

���
	
������������	��
�	�����
�>��	�
������@�����
�:����
�	���
��������
�����<�
	�������
���
�

)������%�

(�
� <�
	��
� ��� >��	�
� ��� ��@����� ���
�	
���� 
�

	� 
���	�	�������� ��
� �

� ���

��
���

2	�	��� ��� ����
� ���2��
%� >
�
� ��
� �����	��
� �:��
����	���	
��
� ���� ���
� 
����
�


�
�;
��0����
���������
���	�������������
��	������������
�)/>@���	��	�����
��2�	�
�	��
���
�/�
�
�

*'���
����	�
�����	2����
����	�	
�
���	����A�����
�)������	���4.������
����
����
���	�2����	�	�������

��
����	�
� *'����������
����� �����
������ ����� =��	�	��	���4.%� �
������ 

��	����	� ���1������ �
�

=��	�	��	��������/�
�0�	���
���

��	����
������/�
���:�����

�=��	�	��	��%�R�������
���
�
�
	����

��
���	�1��
���	��������������	����������������	���8����/�
��������
�����	
��������
������	��
�

��	�
����
���	2���
�8���
����
����
�������/�
�������I�����	
���������	�1�����������I���
��2���

	����������
���
�
����
%�

A�� �
�� 	�����
�����
�
�;
�����
� �

���� ��
���

2	�	�����
�/�
�
0� ���
���	�
� 
�	

���� 8�

�����
����0��
���
����2
�	

�	�������
	�����
�����������
��

���	��������	��
���
�/�
�
���������
�

������������	��	��%�)��
���������	���
��2�	�
�	��
���
�
�
�	��
��
���
�/�
�
����	�������������
�

��� ���
� ���2���
�
%�(�
����� 8� ����� ��
���

2	�	��� ��� �
	�� ���
��������� 8���
���� ���� ����
�

�����	1��
����	����������
��
	2��
$F%�

�������������������������������������������������
$D�)��%��%�)E XYRE>0���%��	�%0��%�G$%�
$J� %�^ @A��'
�����
�������	��$�
������
����	�
������	�����������$�
���������	�����������
����
���
!������
������
����
��0�	��'�E�����2��������>��	��A�����
�	��
��40��GG$0��%D$K%��
$F��%���RL(^�T��%�LA,&/^0�$�
���
����
��/	�
��+������=!���
�C����0�	��'�@��
��E	���
�W�
�����;�40����%�
!D0�!""!0��%�KGC%�



� !J�

R���
��
	����
�������������
��	��������
��
�����	�
���
��+�
�����
�)/>@0���	�	���
������

���� �����	��� �:��
����	���	
��0� �����	�� 
	� 
����� ��
� 	��������
�	��
���� �
�)���0� ����
� �����	��
�

����� 
���� '�
���	2�
2��
�4� ��� 
	� ����
� ���
�	������ '����� 2�1���� 8� ����
� �2�	�
�	��
�

	�����
�	��
��
�4� ��� ���	�
� ��� �������� *��� 8� ����� �����.%� R�� ��������
� ��
������� 8� 

��	��

�
�
�����
��

���
����
����
�
���	���
��
����
������	��
����1�����������
�=��	�	��	��������/�
��

�	
�����
�
�%�>
�
������
�	����A�0���������
�
���
��������������2	������
����:�
�
�;
�
�
�	��

��� ��	�0� ��� �
�	1��� ���
� 
;
���
�	���0� ��
� �

� �9� ��� /�
�� ���2��� 8� �
� )/>@0� 
��
�

��
���

2����������
�
���
�����	
��
����	������	��������������8������
����%��



� !F�

����� �#����$����������%����&�������'��
���������������������
��

�

�

(
� )���� /���������� 
� ���� ����������� 8� ��
� 
��
	��
� ��

��� �
� ���
�	��� ���

��
���	�
�	��� �:��
����	���	
��� ��� �
� )/>@� 8� ���
	���
� ����	
�
� ��� ��� ����	
� ��� ���2���
�
�


����
%�>
�
��
�����
�����
��

0������
���
��������������
���	�
�	�������
�)������	������
����

��
� �����
� ��
���
� ��/�
�
� ���2��
� 
�� ��;
	���� 8� �����
����%� >
�
� ��
����
� �

0� ��	�
�

���2���:0������
�����
�������	�������2�	�
�	����������
�/�
�
������
����������<�
	�����������
�

������������	��	�����0����������

0�
#�#���������
��������
	��������
��	��	��
�������'������
������

�
�=��	�	��	���4������
�/�
�
��
��	�
%� ���	����
��	�������
�
��+�
����	
	
�������������
�������

����
	����:��
����	���	
�	��0����
�
����
������������������	������
���	�1��
��
�)����
���	�	
�������

������� 
�
� ���	
	��
%� &��
� �2
�������
� ��
������0� ����� ��
���� �;��� ��
��+�0� ��� �������

�
�	1��� ��
� ���	�
� ��� �
� )������	��� ��	����� +���� ��
�����
� ��� 8� ����� ������ ����� �������	���


���1���
%�

&��
�
����
���������
��	�	
��� ��
��

����:��
����	���	
�	���������:��
��	�
0����������

����� �
�����
�����
�
�����
$K�������	�������	��� ��
����:� �;��
����
	��
�	��
��:��
����	���	
��
���

���
��������
;
�
�
�	��
�
�������	�������
�
������	1��
����8������
����%��

W������
����	
	��
�
	�	�
	��
���
����
�)���
�A�����
�	��
��
�
;
���������������
�
�

�
��
�	1�����
����	�
���� �������0� �����
����� ���)��	�����
�>��	�
���� ��@�������
�&
�	��
�

��	�
�����
�)���	

	���A����# ���	�
	��0������������������
�
�;
�%��

&��
���������
����	������	������
�������
	��
�
�����
���	�1��
���	�	
�
��
���
�)���������


������������
���	�
�	����:��
����	���	
�������
�)������	��%��

�������������������������������������������������
$K��#Y%�Y( ���0�#��	
���������
�"����������-	��
����������.�����������/���������


���
������;��
���������
����
	��'� ���
�	��
����	�	���
����>��	�� ��	�	
��
�	��40����%�F0�!""!0��%J""%�



� !K�

�%� (�/�
���
��	��
�	���	�����������
�
����/�
��<	��
%�

�

��������	1�����


	�	�
�	���
��������������� ���
���� ��
�@
���
��
��	�
�)����
��
���
�

���� 
�	�� �	���������� 
� �����
����� ��� ���� ��
� �����
� ��� ����
� 
���
� 
�� 
���� ��
� ��
������� 8�

�����
����%�)�
�/�
�
��
��	�
���
	���#����
��2�	���
������
��������
�)������	���7�

�


.� (�
������
�	��
��	�	�
	��
%�

�

&��
�
����
��������
2�������������������
����	
	��
��9����/�
���
��	������������
�����

/�
�%�(�
�
���
������	

	��
����	���:����0��	
�
�
������
�
����
����
����
�
����
���
�	���
0����

��	������
	�����	������
�)������	���
��������������	��	������
����%��

�

� � #��
������������
��������	

�����

���
�$	��	����	���������"�%
����

#��&��"�%
������$	��	��
DE��

�

(������	����

��������
�	���
��
	�����2=���������
	���
�
��+�
�����
�)���0��������
�	����

��
� ����+��
� 	����#��
�	���
� ��� ��� �
��	���	��
��� 	�� 
�
�	�� ��� �������
�	��� ������� ���&���� ���

)�;���%�����
��� ��
�����	��
�������
����
��� 	��

	��0� ��
� ������
�������
�
�
	��������	
�

������2���
�
��	��
�	��
�����
�)������	���8�����
�����
���;��	���
�����	�	����������%�

(
�����	1�������+���	����#��
�	�����
������
��)�;����8����������������
�<����	��
�����

	������	�������GKJ��
	
���
��

��������	���
��������	
	����
���
�<����	����
�
	���

���������

�
�=��	�	��	�������
�)���%��

>
�
�
����
���������!F��
	��GKJ0��
�)���	

	���
�������
������
�����������
	�	���

	�����


���%�/����
�
��	���0��������
2���0��������������9�,	����������:������	�
�
	���

�������
��

�	�	�
	���

�
������	��	�����
�/�
�
��
��	�
%�/����
�����I���:��	�������������?���
���
��
�������
�

)������	��� *
������� ��?��� 
�:� �����
� ��
�H
	
� '������
��� ��� ����� =��	�	��	���4.0� 8� ���2=��� ���

��
��	���� ���0� ��	#�+��0� ��� 
�� 2��� ��� �
� )������	��0� ��
�	��%� <���� ���	� �2�	��
	�� ��
� @
���
�

�
��	�
�)����
��
���
�8���������� ��
����	�
���� �	2����
���� �����
� ��
����
����
���	�
�� ���������


��
�����
�
�������
�9�
	�������������
���
!������:%��

/����
��:��	��������������9�
	�������:�����
	��+�����:������
����������	��	��������/�
�����

8� �����
����� �
�� ����� ������
	�� ��� �����	��
� ��
����
� ��
�	���
� *���	�
� 
�	���� 
����
�

�	����
�	���
� ��� ���
��
	��
� ��� ��
� �����
� 
����
.%� /�� �����0� ����� 
� 
��	���� ���� ���:#�	�

�������������������������������������������������
$C� ��+��)�;�����%�<����	�0�)��%�/��%���%��%�0�!F��
	��GKJ0������NN�����%����%���%	��N�����N%��



� !C�

�����
	���� ��� �
� =��	�	��	��� ��� ��/�
�� ��
��� 	�
� 
�	

���� 8� �����
����%� )����� 
�
�;
�� ��� �
�

)���	

	����
����1
���	������	�����


�����
��������:��	��������

���
���	2��	��������
����8����

/�
�� ��	� �	���� ��� >��	�� A�����
�	��
�� ��2�	���� ��
� �
	�
� ��
� ���
��
� ����� /�
�0� �+��� 
�	�
�


�	

����8������
����0�
����	�����
�8�����/�
�$G%����

/����
���
�	�������	
��������
�
����
�
���
	����
�

	���
����
����
������
�2	��
�
��
�

������=��	�	��	�����
���	�
��:��H
	������������
	���
����	���
������:#�	%�/�����	
	������������	�1���

����
���
���

2	�	��������
���0�
���	2���8����/�
�0�
���
	��������
��	��	��
��������	#�	����1������0�

�	���������� ��� �
�� ��	�� ��� ���
�������0� ��� 

� =��	�	��	��%� /���� 
� �
	�� �
�	������� ��� �	��� ���

�
�
��8���������������
����:�
	��
�	��
%�/����
��
	������#+�����]0�8�����	�
�
��0���
2�	�����
�����

��	�1�����������	����
���
���

2	�	��������/�
��
�:����
����
�
���	���
��
����
�
���
%�

>
�
� ��� �
������� ������ =��	�	��	��0� ��
� 
���
������	

	��
���� ��/�
�� ��	� �	�������� �
�

)������	������
�������

���
���

2	�	��%�

 	�
	0��
�)���	

	���
�������������	��	��������
��
�����������0����
������
�
����
�


����	
�
������/�
����
������������
�����
��
��
�=��	�	��	����������	#�	0��
�
��
���
�����9��
��

����
�
���
��������
���	

	��
�	�
�
�	

����
������������
����0��
���
���

2	�	���	�����
�	��
���

�����/�
���
�����
���D"%�

)��
�� 
�� �
������ ������ �
� ��
���

2	�	��0� 
���	2���� 8� ��� /�
�0� ��� ��� �
	�� ���� ��
�

���
����
0���	� 
���� 
�������
��
�� 
�
� 
���
0� ���1�������� 

� =��	�	��	������	�� �
��� 
��
���������

��
���� 	�����
���%� R�� �����
� 

�
� ������ ��� �����
�	
��� ��� ����
�
��� ��
� ��	��	��
� ��� �
�

E�
���

2	�	�����
�/�
�
�����
����
�	������

��	����
�����
�	��	�	��
����1���������
�=��	�	��	���

�������/�
�%�&��
���������
�������
�������������������	�1���
���������
	�����	��
�����
	���	���

��	��:	
����������������
�����
���	�����
�� ��
���������/�
�� �������/�
�� 
�	���������

� �	�������

������
	���������?�	��D�%�

/������
��	���
���	�	����
���8�������������
����	�
��������
��
�����	���������
���
	���

�

�������	
	���
����������%�

�

#��&��'��(���	����$	��	��FG��

�

(
�

�
�=��	�	
	�����������
�<����	���
�
�����
��������������
�	������)�;���0����
���

�
� )���� /���������0� 
�� ����
�	��
� �
�� �� ��+��'��(���	� ������� �
� $	��	��%� A�� 
�
�	�
� ��� �
�

�������������������������������������������������
$G�)��%� ��	����D���
� ��	���
�����
�)���	

	������>��	��A�����
�	��
��
����
�E�
���

2	�	�����
�/�
�
0�
���������G�

�]��!""�0�	���%�)E XYRE>0���%��	�0��%F�%�
D"�/%��/<<A<A0�/%�>/) �_0��#@%�A�,/E<0�'
�"-./���"������
����
�������

��
������0�/�%�*!1��.�
/�����	�
0��GGG0��%�$K%�
D��)��%�A�%�
D!� ��+��(�	M	�����%�<����	��)����/��%���%��%�0�!C������2����GGF0������NN�����%����%���%	��N�����N%�



� !G�

����	1������

	��0�������
�)���0����
������������
������������	����:��
����	���	
�����������
�
�

���2��
%��

(
� ������
���� ��
	�� �����	��
	��� ��� �����
0� 
�� &���� ��� )�;���0� �������� 
� �]�


2
�������� ����� 
����� 
�� �����	��� 
�� ���0� �
��	�� ������� 
��
� �����I��� ��� �
�E���2�	���� ���

)�;���%�/����
�����

	��8��
�<����	���
�������������#�	���	�����

	����
��1
�8�
�
�2	��
%��

(
�<����	�0�����0���=��
	������������+�������	

�����������
��
	���]�+�����
	�����������
�

E���2�	��������������&����)�;���%��

>
�
� 

� ���	
	��� 
�� ����0� �
� )���� 
� �
������ ���� �
� 9�,	����������:� ����
	�� �

�

�	����
��	���
�� ����	��	���&
�	��
��������� �
� ��
���

2	�	��������/�
������
	�� +�������
�������

�
	
��� ��
���
� ��� ����	

	��
� ��	� ��
����� ��� 
�
� ���
��
� ��� ��	� �����	���� ����
� �����
� ���

�����
�������������	��	��%��

(
�)���� 
��	��
� 
���
� 
�� ���������� 
�:���	��	��
� ���>��	�� A�����
�	��
�� ����� �	���

�����
���
���

2	�	���������
;
��������
�����������������=��0�8��
�
�	���������
��	����	�	�
	��0�

���
���	�� �:����� 9���� 
�
���	�� 	�� �����<��� �	�� 	��� (���� ���	��� ��� ������� ��� ���� �����������

�
����
��:FD%�/����
=���
�������������I�������
	��
��:�������	����������*�
�����2	
	
���
������
�


����
� ��� ��/�
�� ��������.� ��� �
�� ��	�������	
	��� ������ 
��	�	
��
�	��� ���
��� 
�2��������%�

 ��1
� 
��	�� ��
2�	� ��� ��	�1��0� ����� ��
���	��
�8� �
� 
	��
�	������
����� ��� 
=���
����� �
�<����	��

�:��H
	�������
�	�������9������<������!
��:�
����������	��	������&�������)�;���%��

/���� 
� 	�	� ��	�	
�� ��� ��	�1��� ��� '������I���4��� ��� ������ 
	��	�	�� ������ /�
�� �:����� 

�

=��	�	��	����
�����2	
	
����
�
������	��
0��
�
�����
���������������I��0���������
���
���

2	�	���

���
�
�
���
���	�
����
���	2��
%��

A��
�
�	�����������������
	�����
���	�
�	�����
���	�1��
���=8�������
�
��
�
�
����
���
�

)���	

	��� 
����� ��
����
� �
� ��
���

2	�	��� 	�����
�	��
��� ��� ��/�
�� �
�� ���
���� ��� �
�

)������	��� �
�� 
���	�
2��� 
	� 
��� 
����	��� 
��
�� �
�	��
���� 
�� �	���� ����� 
���	��� ��2�	���� 8�

�����
�����*��
�������
�����������������
���	�����2�	������
������
���
�	��
��.%�A��
�
�	�������

���:
�	����������������	����	���
	��
������	��������/�
�����1�����
�
�
�����������
DD%�

/��������������0���
�	��0�������
����
����
��������
��
����
�
���
�9����7�����!�������

�
�,	����������:FH�����
�<����	�%��

/�������
�����	�������������
���
��1
�
�:�2	��
0��:�����
����
�������
�������
���	2���8�

�
�<����	�0����
	
�
	����������	��
�	�������
�)������	���������
��
	��

���
���

2	�	��%��

�

�������������������������������������������������
D$�A2	���0�U�J!%�
DD�L%�)R@/&#�R& <@ &0�'
����������
���
���������
�,	��������������
�"�	��-	��
����������.���������
��/����0�	��'�E�����<�	��
��	�������
�>��	�
������@����0�!""!0��%��"KK%�
DJ� ��+��(�	M	�����%�<����	�0���%��	�%0�U�JF%�



� $"�

W�
��� 8� ���������� ��
� ���	�
� ��� �
� )������	��� ���� �
� <����	�� ���
	�� ��
������0� �
�

)����
�����	
������
���'��2�	�
�	�����


����0��
�
����� ������ ���	��0� ��� ��
�������
����	�
����

�	2����
��
�
��	
��
���
�)������	���������������
	�������������I���4DF%�/������
��

���
���	������

��
�����
���	�
�	�������
�)������	����
�
�����

����:��
����	���	
�	����
	
�
�����I�������
	���

�
�<����	��
������2�	�
�	��������
����������
���
����	�
�����	2����
�����
�)/>@%�/������
��������

��
��	���� �
�� �
� 
�	��� ��� �:��	��
��� ���� '����2�	�
�	��� ��	� ��	� 	����2�� ��� �
�
��	�� 8� �
�

������
������
����	�
�����	2����
����	�	
��
�
��
�)������	���
�������������
��������8��
��
��	��


�������	��
������)�;����4DK%�)��
��

�
��������
�������	��
�
�	


	�������������
�	�������������

������ ��� �����I��� ��� ��/�
�� 
��� ��� 
����� ��
	�� ��1
� ������ �������� 
� 	���
�� ��� ��
����� 
�

	�

���������
����	�
�����
�)������	��%�

�

#��&��"�%
������$	��	��FE��

�

(
�
��	����
�
��+�
���������
�<����	�����
�
��+�
��

��8%�/�������0��
�)����
�����	�	
�����

��	�1��� ��� 9������<��� ���!
��:� ����� ���	�	��� 
	� ��/�
�� ��� ���
�	��0� �
� <����	�0� �:��H
	�� 

�

9�,	����������:� 
��� ��
����
����
� 
	����
� 
��� ��� ����	��	������&�������)�;���%�>
�
�
���
��+��

��������������
�<����	������
	�!""�0������
��
�����������������
�
��	�����
�
���
��+��(�	M	���%�

����������0��+���
	�����
��+����
	�
	������

��
��	���	��������	��	�	��0��
�������
	


��������
�

��
���

2	�	��� ��� �
� <����	�� �
�
� ��� &���� ��� )�;���0� �]� 
�� 9������<��� ���!
��:� ��������

�:��H
	��
���������M���0���
	����������
�
�	��������	��	��%���

>�����
0� �
�)����
�
=��������0� ��
�
���
���� ��
��	�	
��
�	��� ���
��0�����
�����
	�� ���

���	��� ������� ��� ��	� 
���	�
	�� ��?��� 8� 
��� 
���	��� �	�	�
	��� ��� 
����0� �����	2�
	���� 8� ���

�����I������2
��������
��
	�����
���
���

2	�	�������
�<����	�%��

/����
���	����������������
�
	��
��	������
���8��
���
���

2	�	�������
�<����	���������#�	�

��
	�����
�����	
���
�
���
����
�
����
��
0�
��������I������2
�0�������
���	���������������
	�����

���
�
�:�
����	��
����
��
%�/����
����������
	��������:��	�������������
���
���

2	�	�������
�

<����	�� ����
	�� +���� ���
���� �
�
� ��� �

� �90� 
�
� 
����	��
� 
��������
	���� '���
� 
���
� ���

�
��	���	��
� �	��
��� �
�
� ��� ����� ��
����
� �
��	���	��
0� 
���	
� 8� 

� =��	�	��	��0� ��
� ���	�
�

�
�
��	
��
���
�)������	���4DG%�

(
� )���� 
� ��
������� 
���	�	�� ���� �
� ��
���

2	�	��� ��� �
� <����	�� �
�
	�� ����� �
�

���
�	�����
����	�
�����
�)������	���
	�
	�����
�
����������
�
��	�	�����
%� ������
�0��
�
����

�������������������������������������������������
DF�A2	����U�J!%�
DK�A2	����U�JF%�
DC� ��+��)�;�����%�<����	�0�)���%�/��%���%��%�0��"��
	�!""�0������NN�����%����%���%	��N�����N%�
DG�A2	����U�!$%�



� $��

�

���������I���������	�0��
�����/�
���
��	�0������
�����/�
�0��
�)������
��

��
	������	���������

�
�
� ��� ��
����� ��
� ���	�
� ��� �
� )������	��� 
��� ��� ����	��	��� ���
������� �
� <����	�� 
�
	��

���2�	�
�	���������
���
���
������%��

�������	��� ����������	�� +���� �:
�	��%�(
�)���� 
� 
��	
����0� ��/�
�� ������
��� ��
���

	��
�
2������:���������
��2�	�
�	��
�����
�)������	��0�'�������
�����������
	���*�������������

����
���� �
�<����	�� ��
���

2���
������ ����	��	��.������	�
	�� 8����� �
����� �������
2����
�
� ���


;
�1�������������	�����
����	�
�������������
�
����������	��0��
����
�	��	�	��
���	�;���
	�����


������
	������	��
���
��
�
��	�
�����
����
��
�����
�)������	�����������������	��������
�����

8�����@
�����
��	��)����
��
������������������
��	��
�	��
��������
����	�
��
�
���������������

���
����
�)����4J"%�)������������
�
��	��������
�����������	�����
�>��	�
������@�����
��
�	��

���
;
�1�������
�)������	�����������
	��+��������	�	
���
�
���
����
��

%��

)�
�
��
	��
���;��	�#������
����
�������������0��1
������
�)����
����������������8����

�;�����������	��
��:��
����	���	
��
0������
���	�	
����
���	�1��
�����
�E�
���

2	�	�����
�/�
�
���	�

�	������� ��� >��	�� A�����
�	��
�� ����� ��	�� 
	� ���� �����	��� ���
	�� +���� 
���	2���� 8� ��� /�
��

*�����	��
���
����
��
������/�
�
0�������
����
������I���
��
����	0��+���8������
��������
���
�

����� /�
�� ������� ���
���� �������
��� ��� �����I��.%� /���� 
� 
���
� ���	�� ���
� 
�� ��	�1��� ���

'�=��	�	��	���4����
��	��
���������
����
����
��������
��
����
������	��
�
���	2���
�8����/�
��

���2��0��+��� 
	� ����
� 
�� ��������� 8� �����
����0� ���1����� ��� �
� =��	�	��	��� ��� ����/�
�0� 

�
�

��
2�	�� ��
����� ��	�1��� �
��	���	��%� /���� ��� 
� �	�
������� ������� ���0� 
	� ��
� 
���
� ��
	����

�����
	��
�8��
��������	��0�����
;
�������
�	��������
	����
���

2��%�

�

#��&��)�
��	����������
����*����
��������+	����HA��

�

&��
� 
����
� �
	����
��� ���
������ ��� �

� ��	0� 
� ��	��	0� ��

��2��� 8� ��� �

�

�������
�	��� ����	���	
��0� �
	
� ��	� �����
	�� 
�
������ +���� ��� '�
	�����4� �

� ��	��������	��
�

�	�	�
	��
%�)��
��������
��������� �
�)���� =���������� 
��
	�����
�������� 
��
� 8� �
� ��
	���� 
��

����%��

(
� E���2�	���� ��� ������
� ����
	�� ���
� �
O���� ������ �
��	�� ��� 
��� ����	��	����� �
�

<�
�
�	
��	��*��	������
	���
��
	�����
� ���
���	�������
�Y����
�	������E�

	�.%�(�
�������
��
0�

���
	���� A�

��� ��� 
�
� ����
����
0� ������� 
��+��
� �
�� ��
� 
����	��
� ��� �
� '�E���2�	����

����
��� ��� <�
�
�	
��	��40� ���� ��� ������������� ����
��� ��� ������
	


	�� �

0� ��� �
���

�������������������������������������������������
J"�A2	���0�U�!"%�
J�� ��+��A�

����%�������
�����
�Y����
�	������E�

	�0�)����/��%�>�%�@%�0�D�=�	�����!""�0�
�����NN�����%����%���%	��N�����N%��



� $!�

�������

��
� 8� ��� ���	��%� A�
� 
�2	����� ��
� �
��
	
� ��
	������
� ��� ������� =���
� �
�� ��
�

��	2��
�:� 	����
�:%� A�
� ���� 
������� ���� ��
� 
����	��
� ����
��
� ��
	���� ��
���

2��
� ��
�

�	��
�	��
� 
�
����	�����
� �
�� ����
� ��
�
	���� ��	
� 
������ ��
���� ����� ���� ��
� 
	��
�	��
�

��

���%� (
� Y����
�	��� ��� E�

	�� �
��
���
	�� ������ ��
���

2	�	��� �
�� ��� ����	��	��� ���

<�
�
�	
��	��
���������
	������
����
��
�
��������I��%��

(
�E�

	��
�����

	����	��������8�
���	���	�
�	����
�
�������
	��
�	��%�����������0�


�
� ������
� 
����
� ��
	���� 
	��������� ���
����
� 
��� ��� ����	��	��� ����
��� 
���� 
���


����	

�	��� ��� � 
���
	���� ��
�2	���0� ����� ���
2�	�� ���� 
	��
�	������ 
����	��� �
�
� ������ ���	��%�

/������	
	���
���������������=
�
	
�
�
�������
���
�
	��������	���	����
��
�
���
�
���
�
�	��
����

������	��
�������
	����A�

������
�
�����
����
%�

>
�
�

����	
	���
����
������
2	�	��0��
�)������
��

����������	�	����	����������
	���
�

/�
�
�
�
	�����:����� �����9�,	����������:���� �����9�
	�������:��
�����
��
	�� ����� �	��
����������

��
��
	��%�/�����
	


	����
���;��
��������
��+�����	�	�	������������
��

��������������8���������


�������%� �
� ���	
	��� ��� K� =�	����� !""�� ����
�
	�� ������
��� �
� ����+��� �����
2��� ����� �
�

������
�����
�Y����
�	������E�

	�%��

/���� 
� 
�

	� �
������ ��
��+�� (�	M	���� ��� �	�� ���� �
� =��	�	��	��� ��� 
�� �	�	�
	�� �

� 
��

����	��	��� �
	
� ���� �
� ��
���

2	�	��� ����� /�
�� ����
	�� +���� ���
���� ��� �
	
��� 9���
�����

��
�
��������	������
����������
���	��
����	���	����������������	�������������:�J!���

/���� 
� ������� ������ �

� ��
��	��� �	�	�
	��0� ���� �
��	�� ����� ��	�� 

� ��
���

2	�	���

���
���� 
	� ����� 9�;����� ��� 
�
���	�� ��� �����<��� �	�� 	��� (���� ���	��� ��� ������� ��� ����

�����������:J$%� (
� ����� 
� ��	
� ���� ���	
	��� 	�����


���� ��� ��� �������� 
� ����
��� �
� ����+���


��	

	2��� �	
#8#�	
� ��� �
� Y����
�	��� ��� E�

	�� �
	
� ����� ��
� �

� 
��	���� ���� �
� E�

	��

�:��H
	�����9������<������!
��:�
������������	����
��������
���
	����	�����
�	��%��

����#+���� 
��
	�#����� �]� ���
����� ��� ����������� ��	�����
�	��� 
�
��� ��� ����
����

��
��
	��� 
��	

	2��� 8� ����������� ��� �
� Y����
�	��� ��� E�

	�%� >�� ������ �
�	1��0� ����� 
��
	��

�	���������� ���	�	�� 
	� ���� /�
�� �:��H
	�� ��� �����I��� 
��� �
� <�
�
�	
��	�%� /���� ����	�	
��
� 

�
�

������ �

� ��� ��	�1��� ��� �����I��� ��	� �	
����
	�� ��� ��
��� ��
� ���
	��
� ���	�	���
� 
�	�� ��
	��

������	������� �2
����%� /���� 
�� ���
�	
��
0� �
�
� ������ 
��
	��0� 
��� ��	���	�
�	��� ��

	2���

��
����
� ��
� �����
� 
����
� ��

�
� �
�
� ��
� 
���
�
�	��
0� ������	��
� ��� ����
��
�	��
� ��
�

������
��
%�A��
�
�	�
	�0����������:��	�����
�)���	

	������>��	��A�����
�	��
�����
���
��	����

C0� ��� �����	��
0� ��� ���
����
� ��� ��� ������
0� 
���	2���
� 8� ��� /�
�� ���
���� ��
� ���
����
�


�	

������
��1
� ��
� 	�
�����	��
���� 
��
� �
��	����	������ ��� �����I����������/�
�%� A�������
�

	�

�������������������������������������������������
J!� ��+��(�	M	�����%�<����	�0���%�)	�%0�U�F!0�����
�%�
J$�A2	���0�U�F!0�!1���
�%�



� $$�


	��������� 
�
�	�� ��� �
� �����	��� ��
� ���
��
� ����� /�
�� *�
� E�

	�.0� 
����� ��
��	���� D� ��
�

 ��	���
�����
�)���	

	��JD%�

A�� �
�� ��
	� ���� ��� �����I��0� ���
��
	�� ��� �:������ �
� Y����
�	��� ��� E�

	�� 
��� ������

E��	��0����
���

�
�

	� ��
��
������� �������
�	������ �
�<����	�� 8�)�;���%�/�������0���������

	�
�	���� ���0� �
�
� 
��� 
��+�� 
�� ����0� ����� 
�� ���
�	
��
� ��	�������� 
��� ��
� 
���
� ��������
�

��
���
�
�	��
0� ��� ������	��
� ��� ��� ����
��
�	��
%��+��� 
	� ���
� ���
	�����
� ������ 
��
	���

����������

��������
�	����	�	�
	���*�
�����
�������	� �
��
�
����	
���
�
� ��
��
	�
.0� �
�)���0�

����0� ��� �
� ������
� ��� ������� ���� ������ ���� 	��������	��� �	�	�
	��� ��� ������ ��
� 
���
�

��
����
���
�	���
����
����
%�/�������0��������	�������������	�	���0���������������

�
��	�����

�����
�E�

	��������������
��	������������	��	��0��+���	��	���������%�/������
���	����
������

�

� �����	�1������'������I������2
��4������/�
��
������
�������	��
�
����	
�0����������0� ��
��

�

�������
�	��
��	�	�
	��
%��

/����
��2����
	��������	����������
�
���
���	�
�	�����������
�����9������<������!
��:���

�������
���	�������
����������������������

�	��	
��������9����	

����������
����:��
	
��

�
�	��

����� �
�
��� ��
� ���2�1��
� ���	�	���
� 
�� 
�	�� ��� �
� )�����
���� ��
� �
;
� ���2��
� ���

)��
�	�������/�����%�(
�)���	

	������>��	��A�����
�	��
���
	��
�

	��
��	���������������
���


��	����C0���	�
���	2���8����/�
����
��
	�
�������
����
0��+���8������
����0���	�
�	

����
��
�
���

�����I��0� ��� ��
��	���� �K� ��	� ���
��� �
� ��
���

2	�	��� ����� /�
�� ����� ��
� �
	�
� 	��	�	��
� ������


����� /�
�� ������� 
���
� ���� ��� ����	��� ��� �����I��JJ%� )�����
��0� ����� 	������1��� ��
� ���:�

���	��
� ������ ���
��� �
	��� �
��	�� ����� '������I��� ������	��4� ��� '����2
��4� ��� ��/�
��

��
���

2��0�
������
��������+�������
�	��%��

W�
��� 8� ������������
����	�
� 8� �
	��� ��
������0� �
�)������� 
�;� �
�� �

� 
��
������
�
�

���������	
	�������	�	�
	��%�

�

"����	����� ��� �
� ,	���
�	������ ��� �
� "�	�� -	��
������ ���� .������ ���

��/������

�

R�� ����� �
	����
��� ���
���� �
� ���	�	���� ���� �
� )���� ����������� ��
� >��	�
� ���

��@�����
������������
�
�����;����������
�	�������	���	
��%�/����
�������
	��8��
���
���

2	�	���

��
�/�
�
�����

���������	��
0������
	��
�8��
�)/>@0���	��������
	����
���	2���
�������������
	��

���� ��
����
����
� �������
��

� ��
� 
���
� �����
	������� �
� =��	�	��	�����
�/�
�
� ��
���

2��
0�

�������������������������������������������������
JD� ��	���
�D�T�C���
� ��	���
�����
�)���	

	������>��	��A�����
�	��
��
����
�E�
���

2	�	�����
�/�
�
0�
���������G�

�]��!""�0�	���%�)E XYRE>0���%��	�0��%F�%�
JJ�A2	���0� ��	���
�C�T��K%�



� $D�



�
� ���
����� 
����� ��	�1��� ��� 
�	�� ��	��%� /���� 
���	��
	�� ��� ��	�1��� ����� �����I��� ������	�0�

�����������	
	��
���
	��������/�
�������I������
�����/�
�%�

�

����������	�"����������.�����������/���������0
��������������

�

 �	�� ��
��	���� ������ 
�
�;
�� ��� ��� ���	�	��� 
	� ��
����
� ���	�	��	��
� A�����
�	��
��
�

�
��
�������
�	
�����
�)����/������������
����	�
���������������
�
����
�����	���2�	1�������

����������)��	�����
����	�
������@�������
�&
�	��
���	�
�
����	����
�
���
��

�
	�	�
	��
%�

>
�
� ��
� 
��
	��
� �������
�	��� ����	���	
��� �
�� �
� <����	�� ��� &���� ��� )�;���0� ���

)��	��0� �
�
� 
��� �
������ 
��� ��� ��
����� ��
� >��	�
� ��� ��@����� ��� ��� �
���� A�����
�	��
��

���
�	�� 
�:� >��	�
� )	�	�
� ��� ���	�	���� ��
� &
�	��
� ��	�
0� �������
��� )�;���JF0� 
� ��������

�������
�	�����������������
��	������������	��	��%�A��
��
��
	�����
��:
�	�������)�;��������
	��

�

� 8��+��� ���:������ 
��� �����I��� 
��� ����
��2��� ��� 
��� ����	��	��� ��� ��� ����
	�� ����� �

�

������	�� 8� ��
���	�
�	��� ��� �
���� �
�
� ��
� M���
� ��� �����
��� �

� ��� 

� =��	�	��	��%� /�� �

�

�������
�	��0����)��	������	�	���
�9�,	����������:������/�
����������	������9������<���:��:�����


����������	��	��0���������
�
	���
	���
�)����/������������
�>��	�
������@����%�

A��
������������
�	
��
�
����
������

��������
�	��0�8��������������A
�
`���
������/�
��

�	
	��

���
���

2	�	����������

	����
���	���������
�����
�
���
�����	��	��
�������
%�A��
�
��	����

���� ����	#�	� ���
	�� +���� 
���	���0� �8� �9� ���� /�
�� �:��H
	�� 

� 9� ,	��������������������:� ��	�

�����
�����8����9������<������������:������
� ����	��	��
JK%�)�������� ��
���0� ����
	��������	�	��

���:���	��� ��� �
� =��	�	��	��� �
�� ��� �����I��� �����+���� �

� ��� )��	��� ��� 
�� �������� 
�:�

��	��	��
� ��
���	2��	��
� ��� �
� ��
���

2	�	��� ����� /�
�� �
�� ��� ��	�1��� �+��� ��� �����I���

�����
���������

���	����
�	��%�)��	����
�
	����������
��

��9����/�
��
�	��8������
����������

��	��
�	���:�����

�=��	�	��	��%�

(��)��	���
�
�

	�
���	����������/�
����
	��������������
���

2���������
	�����������

��
����	�
��������
��
�
� ����
���� ���
����
��������I���
������
	����������
����
��� ����	��	��%�

)���
	�� ��� �

� ���
� ��
� �����	1��
� ��� �
� ���2	�� �9� ��
� ������
� �	�	�
	��
� ��	��
� 
��2�
�


�
��
��
	���� 8� ��
����
� ����	�
� ��� ����	��	��
� ���
����
JC%� A�� 
�
�	


	�� 2	��� 	�	� ����� �����I���

����������
�����/�
��
�����
����
����
���	���
����	��
�
	������;��
�8������
����%��

�������������������������������������������������
JF�)�����
	��
����)��	�����
�>��	�
������@�������)�;���0�F�
��	���GGC0���%��	�%0�U$%�
JK�R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������A
�
`�0��C�
�]���GGC0�))�EN)NKGN ��%�G$0�U�"0�
�����NN�G$%�GD%�$C%�G"N�2
N���%�
�%�
JC�R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������^����
�
�	�0�!C�����	����GG!0�))�EN)NKGN ��%��F0��
U�J�T�K0������NN�G$%�GD%�$C%�G"N�2
N���%�
�%�



� $J�

(�� )��	��� �:
�	��� ����0� ������ �
� )���0� 
	� ��� /�
�� �:����� 2	��� ��� 9������<���

���������:����9����!
��:��
�
���
��

��������
�	����	�	�
	��%�

/��	�0� ���)��	��� 
��
	�����0� �
�
� ���
� ��
� �

0� ���� ��� �
���� ��� ���	��� ���
	�� +����


���	���%�A����;�
0����������

0�=
�
	
�
������������
��	��	��JG%�

�

2.� (�
�	��������	��
��	�	�
	��
�������	�	1��
�
����
���
�
�	������
�
2��%�

�

�&��
� 
����
� �
	����
��� 
�
�;
��� ��� 
����� �;��� ��
��
	��� �9� �
� �����	���

�:��
����	���	
��� ��� ��/�
�� �
��	�� 
��2
����� ���
���� 
�
� 
����
� 
��+����� ���� ���
����� 
��� ���

����	��	��������
�����/�
�0�
�
��������������	�0������������
	��������
�	1���	����
	��0����������

�����
�2	��
	������%�

�

#��&��1���2�����#����
���BC��

�

A�� �
�� 
������� 	�����


��� 	�	� ��� 
�� �������� 8� �
� ���	
	��� ��
��	

	2	�	��� ��� ��
��
	���

���
�
	���������
�)���	

	��%����
	��������-��
�
	������	
���
�	���
��	��
�
�����	���	
�
��

���  ����
���� ��� 
���
	�� ����	� ��� ��	

�0� ��	
� ��� Y�
���0� 
�	�� ��� ��� �

� +���� 
��+��%� ���

	�����
�������	�������
����	���
�
	�����

	�8�����
������
����������	��	���
����
���
��
�����
�:�

�����:���
�	�����	��
���


��
��+�����
����
�
����	��
�
����
���
%����
	��������-��
���
	��
���
�

��
	��� ��� ������ 
���
�
�	��� 	������	1��� 2

��� 
��� ��
� ���
�	��
� ������ ��	�����
����� ��� �
� ���	���


	�
	�����������������	�����������=��������
�2	��
	��
�*
��	����J����F�)/>@.%�

(
�)���	

	���
�
	����=8����
	������������
���
�
�	����
����
�
����	��
������/�
��
���

�������	��	��������
�����/�
�0�

�
�������
�������������������	��0��	��
	����
��	����J�U��)/>@%��

(
�)��������
���
0���
�	��0����
�	�
����
�)���	

	��0��������
	��������-����
�
	��

�

� '���������� ���� �
� ������
�	��� ������ ��
� 
����	��
� 
����
���
� ��� ��	�����
����� 
�� 
�	����

�������
�8���
�
��	�	��
�	����
��
�8������
�����4F�%��

)�����
��0� �
� )���	

	��� 
�
	�� ��� �����

	��� ��� �
������� ���0� 
����� ��
��	���� ����

)/>@0��
�=��	�	��	������
���	�	�
	���

�
������	��	����
�	��
���
	
�
������
	��8����������
�����


�� �����
���9���	�� ��
	������� ��� �
� ���
���
!������:������/�
���
��	�0��������
� 
�	���� �:�����
�


���
�������	��	������8������
����%��

�������������������������������������������������
JG�R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������A
�
`�0��C�
�]���GGC0���%��	�%0�U�"���'�����
������	��+����
���
	�����������
���	�
2���
�:�����	��	��
�������
����
�:�M���
�������#(	2
���������
�,��-
����	����
�����	�

����
��
���������I���������	����A
�
`��4%�
F"�>��	
	�������-���%� ���
���0�)���%�/��%���%��%�0��!�����2����GCG0������NN�����%����%���%	��N�����N%�
F�� ��+������-���%� ����
���0�)����/��%���%��%�0��C�����	����GG�0�U�JD0������NN�����%����%���%	��N�����N%��



� $F�

/����
�
	���:��	������
���	�1��
����
��	��
���������
�
����
���
�	���
���	����1���������
�

=��	�	��	��������/�
��;���
�������
���	�
�
����8������
����%�)����������
���=8�
���	���0�������


�
�;
����� �
�)���	

	����
�� ��1
���	������ 	�����


�����
��������:��	��������

���
���	2��	���

����� 
���� 8� ���/�
�� ��	� �	���� ������	�� A�����
�	��
�� ��2�	���� ��
� �
	�
� ��
����
��
������/�
�0�

�+���
�	�
�
�	

����8������
����0�
����
���	2��
�8�����/�
�%��

>�����
0�������	�������	�1�������
���
���

2	�	��������
���0�	������8����/�
�0�
���
	������

��
��	��	��
��������	#�	����1������0��	��������������
����	��������
�������0����

�=��	�	��	��%�

/�������0����������	
��������
�
����
���
�	���
0���	���
�����
��
��
�=��	�	��	��������/�
�0�
�1�����

��
����
����
����
�
��
�������=��	�	��	�����
���	�
��:������������
����	���
�������
%�

>
�
� ��� �
������� ������ =��	�	��	��0� ��
� 
���
������	

	��
���� ��/�
����	� �	�������� �
�

)������	������
�������

���
���

2	�	��%�

)��
�� 
�� �
������ ������ �
� ��
���

2	�	��0� 
���	2���� 8� ��� /�
�0� ��� ��� �
	�� ���� ��
�

���
����
0���	� 
���� 
�������
��
�� 
�
� 
���
0� ���1�������� 

� =��	�	��	������	�� �
��� 
��
���������

��
���� 	�����
���%� R�� �����
� 

�
� ������ ��� �����
�	
��� ��� ����
�
��� ��
� ��	��	��
� ��� �
�

E�
���

2	�	�����
�/�
�
�����
����
�	������

��	����
�����
�	��	�	��
����1���������
�=��	�	��	���

�������/�
�%�&��
���������
�������
�������������������	�1���
���������
	�����	��
�����
	���	���

��	��:	
����������������
�����
���	�����
�� ��
���������/�
�� �������/�
�� 
�	���������

� �	�������

������
	���������?�	��F!%�

)������
�)����
����	������0��
�
�����

0����
	��������-���������
	�������������	��

;� 
�
	�� ��� ��
� 
��	�	��
� 	����
��
� 8� �����
����0� ����� ��� 
��
�� �

� ���������� 
��� ���������� ��
�

���	�
�����
�)������	��������� ����
����
��
	���]���
������%�

�

#��&��)��
����$	��	��BD��

�

(�
�������
���
��
�
�������
��
	���
������
��1��
������
�����
�
����2�����
�	�
��	��
�

���
��
�
����&���������A�
���
����
������
�������
����
��������������
�����
�	��
%��

(��L�������������������
��	��
	��������
�������
��
���
�
	�����

����	
����
���	�
�

��� ������
%� (
� )���� ;� 
� �������� ���� ���:#�	0� �
2	�
��� ��� A�
�0� ��� ����
	���� �

0�

��;
	�������� ��� �	�
��	1������� 
��	�� 
��1
� 
�� ���
�	
��� =��	�	
	��� ����%� /���� 
� ��=���� ���

��;������
�����
�����
��
	��������
2��%�(
�)����
���	�����������
�����������
��
	�
�
��
����

�������
��������	��	������
�����8��
�<����	�����������
����
����
�
�;������
	�������=���
%�/����

�������������������������������������������������
F!�)��%�A�%�
F$� ��+��A


��%�<����	�0�)����/��%���%��%�0��!�=�	���GGF0�A


��%�<����	�0������NN�����%����%���%	��N�����N%�



� $K�

��
������
��0�8�
�����������0�
����
��������
��
	�
���������
	�����

�����
�=��	�	��	�������
�

<����	�%��

>
�
�����

�
�

	0������
�
����
������ ��
�
���
���
����
���
�	���
� ����
�8� �����
�����

��
	��������
���
���

2	�	�������
�<����	��������0��
�����
������0� ��
����
����
��������
��
��

���:#�	� �����
	���� 2	��� ��� 

� =��	�	��	��%� (�
� ���
����
� 
�
	���� ���� ��;
	�������� 
��+���
�


�
�����+��������
%�(
�)����
����

	���1
����
�
���������
�	���
����
�=��	�	��	�������
�<����	��

�
�� ��
� �	��	��
� ��
	���� '������� ��
� �
	�
�4� ��� ����
� 2�����
�:%� /���� ��� ��
� ������
��� �

�

�:��	����	���:���
���
��	�����
�
�	


	���������������	
	���
����
������
2	�	��%��

���������������	1����
	
��0���������
��
���

��������
�����������
��������	������

��	��


	����
���
����	�
�����
�)������	���
��
	�����]�+������
�����
�����
��+����
�	1��%�

�

#��&��3�
�
�����$	��	��BF��

�

���
	����a�
�
����
	�������
��������������<����	�����
���
	�������	��
�����;
��
��	��


�� 

�
	�� ���
��� ��
���
�
�	��� �
�� �
� ���	��� ������� ��	� ���
	���
	�� 
��� �
��	� ������

���
�	

�	���������	
��%�A������
��+����
����
�
����	��
�������
�
�����;
���������	�����<����	���9�

	������=�����������
����8��
���	����
�	�
���*��	�
��
�
����	�����
��
��1
.%��

(
�)����
���
2��������
����
�����+��������
2��0�

�
�
�����
�����
	�������
���
�
�	���

8������
����������
	��2	�������
� =��	�	��	������ �
�<����	�%� ������0������
���
�	����
����������

'���
���
�
�	����
����
�
����	��
������/�
��
����������	��	��������
�����/�
�0�

�
�������
���������

����������	��0�����
	��
���	����
�����	��	��	�	���������
����
�����8��
�
]�����
�������
��	����J�U��

)/>@�4FJ%� /�� 
���	��
��� ��� ��	��	��� 
�� �

� ���
�1��0� ����� �������
� ���� ��
���
�
�	��� ���

������
������

�������	�������������������
�
�:���	�
����
��
�
��
��
��������
��	����J�U���.%�

W�
���8��
���
���

2	�	�������
�<����	�0��
�)����
���
�	����	�����
��+��,
�-��	�FF���0�

����� �
����:	1�����	
��
�
����������	����:��
����	���	
�����������
	�������8������������
�
	��

���
2	����� ��� �
	��0� ����� 
� 
���	�	�� ���� ���:���	��� ��� �
� =��	�	��	��� ��
	�� ��	��	�
�������

����	���	
�%�A�����
��
��:��
����	���	
�������
�
���
��

��:����	�����
%�>
�
�������
��
	��0��1
�����

���������
���
��������	
�
�:�
����	��
�������
0�	�������
	������
�=��	�	��	���������0��+���
	��
�

<����	��
��:�����
���
����	�����������
����
�������	��	��%��

(
�)����
���
���	�
�����	
������������
��
	���
���	�������	
	�������
��+��,
�-��	�����

����������������
���
�
	��������;
	�������������
	�����������	�����<����	�%�)��
��2	������������

�������������������������������������������������
FD� ��+��a�
�
���%�<����	�0�)����/��%���%��%�0��!��
�
�!""$%0������NN�����%����%���%	��N�����N%�
FJ�A2	���0�U�GG%�
FF� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%�



� $C�

�
�	1����������
�
���
��	�	
����
�
��+�
������
�)����
��������
�
���
��
�	1��
��
�����������
	��

�����	��������������� ��� �
	����� ������������
���
	������
����
����
� 
�	�
��������� ��
�
�
	����


��+���
�'���;
	��������40�
�
��0�����

%�)������	�������	
�	������
���

���1
�����
	��
�������
�

���	
	�������
�)����
��
	�#����������	���������
	� ��
�
����	��
� ������
�
�
	���� �������������
��0�


����������	��	���-��;
�0�

�
���
��	��
��+����7�(
���
���

2	�	�������
�<����	����
��
	�#������

�


���
��������
����7�&�
��
	�#������

��:�����
���
����	������
������
������
�
��������;����1
��7�

 ��
�����������0� �
�� ���
�� 2	��� �
� �	��������� ���� �
�)���� �
	�� �
�
� ��
� 
��+�
� ���
�������
�

�	
�	������� ��
� ���
����
� 
��+���
� ��� ��	
� ����
� ��� ��
� ���
����
� ����
� �
�� ��
� 
���
� ���

�
������	��������0���	�
�	

����8��	
�
�����
	
��	
�������
�

	�2	�������
��	��	��
�b�

A�� �
�� 	�����
��� ���� �
� )���0��+��� ��� �	�
��� ��
��
	��� ,
�-��	�0� 
�� 
�	�� 2

��� 
���

9���
	�������:�����
�<����	����
	
�	���
�������������������������
��
�	���

���
2������������8��
�

'����
���
!������4������/�
�0��������
�
���
��
	�������-�FK��������
��
��%��

/��	�0� 8� 
����� ������0� �
� )���� ��
� ��������� �	�	��� ���������� ��
� ���	�
� ��� �
�

)������	��� ���� �
� <����	�� ���
	�� ��
������� ��
��� ������ ��� �
�
��1��� �:��
����	���	
��� ��� �
�

�����	������
�
�
����	��
����
������
����%�

�

#��&��)����/�������+�
	!���	��*����
�����#����
���BE��

�

� )����� 
��
	��� ��
	��� ��
������� ��
���
�
�	��
� ��� ���
����
� 
�
��� �������
� ��� 
�	����

�������
�8������
����%�)��
�0��
��
	�����
0�������������	����
�
����/�
��<	��
���	���
�����2�1���


�����
�������
�)������	��%�

� ���
	����E������@�

���
	�����
��	��������&
M	���	�
�
	����������
����8��
���	
���8�

�	�� 
��1
� �
� �������� L����������	
��%� A�� ��
	�� ������� �
�
� ���� ��	
��� ��� ,���	�� ��	� ��
	��

���=�	�������� 
��	�	
����� �
�� ��
� ��
���� ��	


���
�  ��	��
� *�
� Y�
���0� �� ����
���0� ���

E�;
������	��������	������	��	���.%�(�����
��������
	����@�

����
���
�

�����+����������

��� E�;
���� ��	� ��	� ��
	�� ��� 
���� ��� ��
� ��
���� /�
�
� 8� 
��	�� 
������� ��� ���	�� ��� ������
�

	��	�	����� ���
��� �
� )���� /���������%� /���� 
�� ��
	��
	�� ��� ��
	������
� 	����
	�
� ���

����
�
��
� �����
���	����8� �
��	�� �
�	�	
��� �	�
�8�������������	����������
�
	�� ���E�;
������	�

��
���

2����
��	���
��	�	�
	��8���
��	�	
��
�	������������������	��%��

)�� ��	� ���
� 	�����

�� ����������� 	�	� �
�� ���� �
� )���	

	��� 
� ����
��� ���� �
�

������	������
����E�;
������	�����
	���

�������2�1��%�/�������0������
��
������������/�
��

����
	��+���� ��
���

2��0�
����� �
�)������	��0��������
�
��	��
����
�
�
����	��
����
����
���

�������������������������������������������������
FK�>��	
	�������-���%� ���
���0�)���%�/��%���%��%�0��!�����2����GCG0���%��	�%�
FC�>��	
	���A�
��@�

��%�E�;
������	0�)���%�/��%���%��%�0�!C��
	��GKJ0������NN�����%����%���%	��N�����N%�



� $G�

����	��	��%�/������
��

��:��	�������
�
�
���������
�������
�	����
�������
�=�������	�	0���
�
���
�

��������
	�����

�����
�=��	�	��	������E�;
������	0��
	
������������
���
������	


���
%��

(
�)����
��
	������I���]��	�������������������	�����������
	���

�9�	���	������:�����
�

=��	�	��	������E�;
������	%�/�������0�
	���
���
����/�
�
�
�
	����8������������������������	��

���������
�	��	�	����0������
��
	��

�
��������������������
�������	��������
	���������
����/�
��

��� 

� =��	�	��	��%� �
	
� 	�	0� ��� E�;
���� ��	� ��� ����
	�� �	��� ���	���0� 
���0� ��
��� 8� ������

������	��%� (
� )���� 
� �1
� ���
� �������� �	��� �������� ��� �����
	�� �

� ��� 

� =��	�	��	��%� (
�

��
���

2	�	��������/�
���
������������������
������:�����
�	�����������	����
	�����������������

��
����	�
�������
�������
�)������	��%�&��
������������
��

�	�	�8�
�
�;
����
�
�����
��

����

��
��2�����/�
���������R��
�	

�	���A�����
�	��
�����������+������
���

2��
���������
����

���
�
��
������
��

����
�
������������	
	��%��

(�
� 
���
� ��� �����
��� �

� ��� �
� =��	�	��	��� ��� E�;
������	0� �
� )���� ��� 
��
�� �

�

����������
��������	������

��	������
����	�
�����/�
��
��
	���]���
����������
	��������
�)/>@�

��
	�� 
���	�
2��� 8� ������ 
	��
�	��%� R�� ��	�� ������
��� ���0� �+��� 
	� ���
� ��
� ���	�
� ��� �
�

)������	�����	�����+�����������
0���/�
����	��+���������
���������
��
	�����
�����������
�	1���

�
	
���
2��%�

�

"����	����� ��� �
� ,	���
�	������ ��� �
� "�	�� -	��
������ ��� .������ ���

��/������

�

>
�
� ��
� �;��
� ��
��
	��
0� ��
� 
�
����
� 
�
	���� ���� 
��+��
� ��� ����	��	��� ���
����%�(
�

)����
�����	
0����
������
������	
0���
���	�1��
���������
�
	����
2�	�
��
�
�
������
�������
���8�

�
���
���

2	�	������8���
����	��������/�
�%�/����
���
�	������
	�����������
����
����
0�
���	���
�

�
�� ��
� �����	��
� ��
� /�
�
0� �����
	���� ��� ����� =��	�	��	��%� /���� ��
� �

� ����� ���
� ��
2�	� ���

��	�1���
���������
	�����	�������������2	������������
��	����������������
���
���

2	�	��������

/�
�0� ��� �
	
��� ����� 
���� ��	� ��	� �
�� 
���	2��0� ��� ��� �
	�� ���� ��
� ���
����
� ���1����� ��� �����

=��	�	��	��%��

�

� ����������	�"����������.�����������/���������0
�������������

�

(�
��+��(���M�,����
���������������
;FG��
������:�������
�
�������� ���)��	�����
�

>��	�
������@�����
��
������������
�
�����
����������������	�
�	���	��	�	�����������
��
���

�������������������������������������������������
FG� ��+��(���M�,����
��%������
;0�)��	�����
�>��	�
������@�������
�&
�	��
���	�
0� N$FND"0�
�����NN�G$%�GD%�$C%�G"N�2
N���%�
��



� D"�

��� ������
�� ��� �
� �	��	��� ������� ��
���
�
�	��� 	����
��� ��� 
��� �
�	� ��� ����	��	��� ���
����%�

���
	����(���M�,����
�
�
	�� ����
��+���8�,����
� 	��
��
�� ��
�
���	��
�
�����
������
;��
�


	��
� �
�� ��� ������� �
�
�	�	�
	��� 
�����	�%� A�� ;� 
�
	�� ���� ������� 
���1������� ����
��� ���:�


��
	��
%�A��������
�	�����
�
������	����
���������������
;��9�	���������	�	���������
��+������8�

�����
��������%�����
������������������	���0�	��
�
	����
�������
�2	���
�
���
�����������%��

(��)��	���
��	��

�������������������
�
���
�
���
����	�
�
�
	������������	
��
��

��
�
����
������
;��
0��������	��	������
����%�A��
�������
	����������
�8���
��	���������������������


��	�	������ 
�� �
���� A�����
�	��
�� ��
� >��	�
� )	�	�
� ��� ���	�	���
� ��	� 
�
���

�� 8� 9���	����


��������� �����
��� ��� �
� ,	����������:� ����� /�
�� �
��	�%� ����� ��	0� ��� ������ ��� �
	

	�� �

�

����������
���	�������
��	��
�	��%�A��
�������
	������I��8��
����
�	�����	��:	
�
	����������	��	�	������

��/�
�0�������
�	���
�����
��	��
�	���������	�
�����
���0�����	��������9�	�
������	��%�R�0����
�����

�	��������
�)����/�������������:���	����

�
���	

����������������
���������
���
��������	�%�

A��������
	����
�	�����
��	����!�U������
������	�����1���9���	�������������	��������	�
���

�	�� ��� ����������� �	� �����
��� ��� �
� ,	����������:� ����� /�
�� �
��	�%� A�� 	��������
	�� ��� �����0� 8�

�����
�0� ������ ���:���
��� �

� �
� ��
���

2	�	��� ����� /�
�� ����� ��
� 
���
� ���� 
�
� 
����
�

�����������
����������	��	��������
�����/�
�%�A��
��
	�������8��
	��	����

2��0���������)��	��0�����

����������8����/�
������	���������
����
����������	��	��������
������
;
�
���
�����������
��
	���

�

����	
�
���
��������������	��	��%�(
���
���

2	�	�������������
;�����������	
������
�
���
�
�

����

%�

�

�������������
�"����������)����4#�����
��������.�����������/����IC��

� �

� &��
� 
���
� 	�	� ����	�� ��
�	
� ������ 
����� ���	�	��	��� A�����
�	��
��0� �
� )���	

	���

A����# ���	�
	��0� 
�	�� ��� ��	�� ��� �������� ���
	�1��� ��� ���
����
� �������
� ��� ����	��	���

���
����%��+���
	� ���������	
	������ �
�����
�
�	���
��� �
������������ 
��2

���������

���������

=��	�	�����
��	���	��0�	��
�
�	�����2
�������������������
�
�;
������;������
	��
�	��%�

(�
� /�
�
� ��� ��R��
�	

�	��� ��
� /�
�
�  ���	�
	�
� ���� ������ �
��
�� 8� ������

)���	

	��� ����� �������� ������ 
��� 
�	
� �
�
� ��
� ���2�1��
� ��	� ����������� ��
� ���	�
� ���

���������������
��
�
��
�>���
�
�	��� ���	�
	�����
�>��	�
������@�����������
�
�>���	�
%�

)�
����	�
��������	�
��������������
����
����
�
���	
�
�'�8���
����	������
�������I���4������
�

/�
�
%�(�
�/�
�
���	
��
	

	�����
��	��������:#�	%�>
�
����:
��������
�
	��
�	�����
���	
���	��
�

���������
�������
��
����
� ���	�
	�
�8��
�,
	�����L�
��
�
��0������
���	�������0����
������
�

�������������������������������������������������
K"�����
��	���
�;���

���
�	��L�
��
�
���,
;0���%��	�%�



� D��

���
����
�
�����������
��
�'���
����	��������������I���4������/�
��������
�����������	��
���0���
�

���	�
�����
����
�:���	�����+����������	��
��������������
��>��	��A�����
�	��
��@��
�	�
	���

��� 
��>��	�� A�����
�	��
�� ��
�>��	�
� ��� ��@����%� �	��+��� ���>��	�� A�����
�	��
�� ���
�� �

�


���	�
2��0�
���������
�����
���	
��'�8� ��
����	������
�������I���4������/�
����������
����	��

����
����
��������	������
��������
�
����	�
�����
����
�:����
�:����
�������������������%��

� >
�
� ������ 
��
	��0� ��
� /�
�
#��	
� 
�� 
���� ����
��
� ��� ������� ������� ��� ��
�
��

	�����
�	��
��������	
�������������
�����������
�	����	�	�
	������ ���
�	
�
�%�(
�)���	

	���
�

�1
����
�����	
��������
�������
�
���������
0� ���
������
�����
�	��
0�
�� �����
	����2	���
��
�

'���
����	��������������I���4����L��������������
�/�
�
#��	
%�>
�
�������������	�
�	���
�:�

/�
�
#��	
0� ����� 
� ����� ���
���0� ���	�
� ��������� ��
� ��
���
� �������
� ��� ����


	��
� �����

��������	2��
������������
�����������
������
�
�������
����
�������
����L�
��
�
��%�

� (
� )���	

	��� A����# ���	�
	��� �
�	��� ���� ��
� ���
����
� �������
� �
�
� ���

����	��	��� �������� �������� ��� �
� =��	�	��	��� ����� 
����� /�
�%� /���� ���	�	�� �
� =��	�	��	��� �
�� ���

�����I���������/�
���:����������	������+����
���	2���8����/�
���+�����
���	��
�	��8������
����0�

��������������	����
���	�1��
���
���	2��	�������
�E�
���

2	�	�����
�/�
�
%�

� /�������
	�1���
�

	����0��
�
�����

���������	��
���0����/�
���
���������������������
�

���	�
� 
�:����
������� ����� �������%�/�� �����0� 	�� �:	
��0� ��������
�0� �
�
� ��
�)������	��
����

>��	�
������@����0�������

	2	�	��������������8�����
	�
����	�
�����

�����
�����������%�

�

�.� (�
�	��������	��
��	�	�
	��
�������	�	1��
�

�
�
���
�
�	������
�
2��%�

�

� #��&��5�
�
�
����
	��������)�
�������#�!
���IA��

�

>
�
�����

0�����
�	�������������	�
�	���
�
	���


;����
��
	
����������
�	���
�2
�
	
�


�	�� ��� �����+����� ��� ��2
������ 
�
� �



���
%� A�� ��
�
	�� ������0� ��� ��	� 
�
	�� ��������� ���

���2���
�
��	��	��
0��������
����2��

��
%�

���
	����_�
�
�
� ��
	�� �
��	� �����
#�	��� 	�� 
�
	�� 
������� 8� ��
��	������
	
� ;� 
�
	��

������������2���:����2��
����

��
�	���%��
���������
	��������	��	�����
��
�	�������������
���

���
�����8���A�
�	�����8��� �2
�	�0�8���������	����	��
��
�	�
�����
��I���	�
�	����0��
�)������
�

�

��	
� ��� �
�
�� 

� ����������� � �
�	��
�� ���
��
�� 
��� ��� ��	��%�/���� 
� ����� ����2���� ����

��A�
�	����
	������	������
���

2����������
���
�����������
0�����#�+��0���������%�(����
	��0���	�

�	
	�� ��A�
�	�� 8� �� �2
�	�� ��� ���+��
	�� ��������� �� �2
�
	
� 
��� ��� 
��� 	�
�	��� �	
� 
�
� �I��
0� ���

�������������������������������������������������
K�� ��+��_�
�
�
����
����
��%�A�
�	����� �2
�	�0�)����/��%���%��%�0����=
��	���!""�0������NN�����%����%���%	��N�����N%�



� D!�

��
���
	�� �	����������
���� �����
���������	������� ��A�
�	���
�
�����
�������:�
��	����%�(
�

)����
�������
�������
�����
��
	���	������
2�����
��������0���
����������
��������
0����A�
�	�0�

�����������
�	�
	�������
�	��%�(
�����	�	�����������	
��������
���	�
����������
���
�
	�������

�

�������
������%�

� (
� )���� 
� �	���������� ���
�
��� �
� ��
���

2	�	��� ��� ��A�
�	�%� �	� ����� 
�
	�� �]� 
��

����������
������0������
��
	��

�
��������:��	���0��������
�
���
�
��+�
����������
0������
�

��
���

2	�	��������A�
�	����
	�����
�����
��	��
�
�	


	�������������	������
�
����
��
0���	�
�
	��

���������
����
����
���	������
	�����1
����
����

�=��	�	��	��0���������
������	�����
	�������
	���

8� �
�)/>@%�/����
��
	�� 8������
�� ����	
� ��
���	�1��
���� �
�E�
���

2	�	�����
�/�
�
������ ��
�

���	���
�:����
����
���	����1���������
�=��	�	��	��������
�/�
�
���
���

2��
%�

�  � �
��	�� ��� ������� �9� �
� )���� 
� ���
	����� ��A�
�	�� �	���������� ��
���

2��� ���

�
���
��0� ����� 
� �2
����� ���2�	�
�	��� ��������
��� 	���
��� 
�:� /�
�
� ��������� ���� ����+���

���	�	����0�������
��������
��	����!����2	���8���
��	������������
�)������	��%�/�������
	�1����
�#

�8�������A�
�	����
	�������������
����������
���
����	�
�����
�)������	���*�+�����	��������
�	���

�:���
	�����	�����
���
	��.��������
��
	�
���������
�����	
0��+�����������
����
�������	��	��%�

� )���
��+�� 	���
��������:�������9���
��	��	��
0�
���	���
��������	��	������
�����8� ��/�
��

�
��	�0��������

�����
��+���
�
�
�����+�����������
��
��������	��������	����	�	�
	��%������
����
�

)���� 
��	���������� ���
�
��� �
� ��
���

2	�	��� ��� ��A�
�	�%� A�� �
���
������ 
�� �
������� ���������


�������
�	��� �
�
� ��
� 
����
� 
��+�
� ��	� ����������� ��
� 	��������	��
� �	�	�
	��
� 

�
�


���
�
�	��
����
�
2��%�

��

� � #��&�� 
�2��������
	���������
� �����	��������(��
	�����-�
����
�����IG��

�

� )�����
��
	���
��
	��2�
���������2��	���
�������	���
�����������	����

���1
������
������

���#
���	�
�	��� ��� �
� )������	��� ���
� ������ �����	��� �:��
����	���	
��� ��� �	:#
���� /�
�
�

���2��
%� /���� ��������� ���� ����
�	��� �	�	�
	��� ��� ��
� /�
�
0� ��	0� 8� �
� �	��������� ��
�

	��������	��
�����������
0�
��������
��
�����2	
	
������
����������
	�%��

(�
� ������
��
�
���� ��
����2��
���
� �
�	��������	��	��
0�
	�
	�������
���	�
��0����

2��2
����������� �
� '�E
�	��<����	M	=�����	=��40� �
�� ��
� �����
� 
����
���� ��R< &0��
�
� ���

�
���� ��� ��R���
�	��� Y����
� 
��	��
� ������� �
� E���2�	���� Y����
��� ���^����
�
�	�� ��� 
��	��

�GGG%� A�
� 
�� 
���� ��
	��
� ���
��� ���

2����� ��� ��	����
�	��� ��� ��� 2��2
�������� �
�� ��
�

���2��
������R< &�*��	��
	

	����
�

	��
��	�����)��
�	�������/�����.������������������	2���

�������������������������������������������������
K!� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%�



� D$�

����
	���

� ���	�	��%� A�
� ���������
	�����
�� �80� ������
����0� 8� ��
��	����!�U!�)/>@0�����������

����� 
��	��� ��
�
	�� �

� ��� 2��� ���	�	��� ��� ��
	�� �	
�������	������ �
�� �
������ 
�� 2��� �	
�%� A�
�

���
	���
	���� ���� ��
����2��
� ��
	���� �������	������� ��� 	��	�	����������� ��
���

2��
� ��
�

�
	�
� ��
��� ������ �
�����������������	
	��� 
�� 
�	����� ��R< &���	�������� 8� ��
����/�
�� ���


�


��	���8��������	
	���������	����	2����K$%�)�
����/�
��
�
	�����������
���

	2	�	����������

�

�
��	�	����8���������
�	����	�	�
	�����������2��2
��������������	��%�

 ���
����0��
�
���
�
��+�
����������
0��
�)����������H
	�����=���
��
���
��������
�
�


��� 
�������
�	��� ���� ��� ������ 9�,	����������:� ��� 
�� �	�	�
	�� �

� 
�� ����	��	��� ��
� @
���
�

�
��	�
0� 	�	0� ����� ��
����	�	� ��������
�����	��	�
������� ����	���	
��%�/���� 
�� ����
	����������
�


��� ��
��	����$����� �
�)������	�������	�����
��� ������	����
���
	��
���	���	��� ��	��������
�	���

��
� <�
	��
%�  ���
� ���� 
��� 
��	���� !G� �����+���� 
2
�������� �

� ���� 
���	�
�	���

�:��
����	���	
��� ����� ��
	��� ��	
���	�� �
	

�� ���� ������ �������� 8� �I��� ��
� �����	��
�

�:���
	������� ����	���	
��
���
�/�
�
%�/�����	�
	�� 
�

	� ��
� ��
�
�:�����
�
��	��
�8� ��
��	��������

)/>@���	�
��2

��
�������
���	�
�	�������	���	
��������������
���%�)�����
��0������
���	
����

����	
������8����������������
����
�����
�
��2�
	������
������
�������
	�����'���
��	��
��
�������

��

	2��0� ��
� �
�����	�
� ��� ���
����
� ��	� 2����	�	���� ��
� �
�
��	�
� ��������
� �
�
� �
�

)������	���4KD%�

/���� 
� ��
�	��� ����	
�� ������ /�
�� ����
	�� �:������ 

� =��	�	��	��� ������ �
�	1���

�:��
����	���	
����
	
�����
H��������8��
	���:����	�������0������	��:	��
	��
���
�����=�
�	�	�
�	���


���	
��%�/����
���������
	���
�
�

�=�
�	�	�
�	�����������
���������
�/�
�
��
��	�
�������=
�
	
�

�������������
�����������������
���

2	�	����:��
����	���	
�����
������	
����	�
������
��	�	���8�

��
��	

	��
��	�	�
	��
���	���
�����
����
�8�
������	����
�
���
��:��
����	���	
�:%�(
����������

����
���������
����1
��
	2�����
������	�
�	������0����
�����
��
�	�	�
�	�������
�)������	��0�����

��/�
��
�
	�������
�������	��+��������
���
������
��	�����	������:��
�����������
��������
�

��
� /�
�
#��	
0� �
�� �:�����0� �
;
� �9� �
� ��	��� ��� ����� �
�� ���=���
� ��
���	�
�	��� ��� �9� ���

'������	�� ��� �
� �����4� 8� ���� ���
	����� ������ 
���	��
��� ��
� ��
	������
� 	����
	�
� ���

����
�
��
�8��������
����KJ%��(
�)�����	�
	����
	�����
�����
��+������	��������������������'��
�

)������	��� �
�� ��� 	�
�������� �	�
��� ��	� ��	�� +���� 	���������� 8� �
� ���	1��� ��
� ����	�	��
�


�������
�4��
	
����
��2�
	���

���
���	����%�

�������������������������������������������������
K$�L%�)R@/&#�R& <@ &0���%��	�%0��%�"K"%�
KD�E%�( X�R&0�	��L%��E/A�/&�*/�%.0���%��	�%0��%!CD%�
KJ�)��%� ��+������	����%�E�;
������	0�)����/��%���%��%�0�K�=�	������GCG0������NN�����%����%���%	��N�����N%�



� DD�

/���� 
��
�� �������� 
���
� 
���� 	�
	
�
���� � 
�:� 
��+�
� (�	M	���� ��� )�;���� ������� �
�

<����	�0��	��
����
��
��KF0���	�
������
��

����9����	

�����������
�����:��9������
�
���	�������

��
�� ��� 9������<������������:%� /���� 
��2��� �����
��� ��
������ ��� ��	�1��� 
�� �

� �:���
	��

�������
�	��� �	�	�
	��� ��� ��
������� �

� ���� ��
� 
���
� 
�	���� 	�����
� 8� ��� /�
�� 
�	�
� 
����

����	
��
����
����
����
����	�������I����
�
�����
��������������
�	�����������/�
��
����
���%��

/���� 
� ������
��� 
������� ���� 
���	�
�	��� ��� �
� )������	��� �
�
� ��
� 
	��
�	��
�

�:��
����	���	
��
�
�	�
���
�����
�
��
	��
�����;��������
��+������	���3���
��

���	��������������
�

�
	�
� ��������
� 8� �����
����� �
�� ��� /�
�� ��� 	����
2��
� 8� ����	#�	� ��� ������ ��� �
� �����	�� ���

�����I���������	��*������������	��
���

��������
�	����	�	�
	��.�3���
�
	��
�	��
��9����/�
���:�����


���
����	������
����
�
������	1��
�����2�	����������
��������0���	��	�
�	��������
���	�
�������

���������������� ���
��3� ��� �	�
������0� ��
�
���
�
������	
��
����
� 
����
��	����
�	���
����

���
��
	��
����8�2������
������
�	��
��	����
��
�
���/�
������
�
�KK%�

/���� ��
� �1
� ���
� �

� �
	�� ���������� 
�:� 
����
� 
��+�
0� ��	� 	���
������ ��
� 
	��
�	��
�

�:��
����	���	
��
����
�������8���
��+��_�
�
�
KC%������
����
�
��������	����

0�����������	����

��� ��� 
���	����0� �
�)���� 
��	��
	�� ���� �
� ��
���

2	�	��� ��� ��/�
�� �
��	�� ��
	���	
�� ��� �
�
�%�

)��
�
	��	�	
	�������������
�������
��
������
	����2	�������
�=��	�	��	����������/�
�0��+���
�	�
�

��
�
	�����

�����
��+��
�
�����
�
2��%�A���
����
	�����������
	��
�	�����
	���������������	���������

�
�� 	�� 
�
�	


	�������2��2
����������������

������2
��
����	��������'���;
	��������4����


����� 2
��
�%� )�����
��0� ��� ��� ����� �

� 
�� 2

��� 
��� ���
� ����� 
���	����� �	����������� �
�

)������	��%�

/�
�	��0��������
�������1
������
	������������8���
��+��A


��������<����	�KG��
�
�������0�

�	��
�)���0��	��
�<����	�����
���
	����
���
����
�	������

��	��
	��
�)������	���
�
���	��
	��
�:�

�����
�������
0���	�
�	


	�������A�
-0��
;
���	����
���

��
��	��8������#�	%�(
�
������	��������0�

��	� 
��2��� 
��
�
O���� ������ ��
� ���:� �

0� �
�� ���� ��
� �	��	��
� 
�
	���� ���� 
��+���
� �
�� ��
�

�����
� ������
0� �
�
� ��
��
	��� A


0� 
�
��� ��+���� ����
� ��� �

� �
�
� ��
��+�� ,
�-��	�%� (
�

)������	���
��2���
	�������
�
���	�����
�:������
�
����
����������	�����	�������������
�	��

��
��+���� ����
� �	��	��
� 
�
��� ��� ��
� ����� 
���
� �������
� ��� 
���� �:�����
� ��
���	�
�	���

���
�������
� ������ ��
� ���
����
� �	���������0� �
�� ��	�� 
��	����0� �
�� �:�����%� ^� 
#�#	�� ����

�	����������������������
����
����
��
�����2	
	
���
���
�
����
�	���
����
����;������2��2��

�������������������������������������������������
KF� ��+��(�	M	�����%�<����	�0���%��	�%�3� ��+��)�;�����%�<����	��)���%�/��%���%��%�0��"��
	�!""�0���%��	�%�
KK�L%�)R@/&#�R& <@ &0���%��	�%0��%�"C"T�"C�%�
KC� ��+��_�
�
�
����
����
��%�A�
�	����� �2
�	�0���%��	�%�
KG� ��+��A


��%�<����	�0���%��	�%�



� DJ�

�
����� ��
�	��� �	�	�
	��
C"�7� &��
� ��� ��� ���
��
� �

0� ����� 
��
	�� ����� �]� 
�	���� 
���

�
	
��������� 
����	���� ��� ��� �

� �
	��� ��� �	��������� ��
��� ������ �
� ���������	�� ���������

�����;��%�/����
����
	���
���8�����
	
����������������
��%���

� (
�)������
�����	�
�������

���
	�	����������
H
����
�)������	����
�
�
��������:���

���	��
�������	���1������
��
��	���	1��������
�
�'����
�
���=��	�	����4���
�/�
�
�)����
��
��
%�

/��������������������
�EY^�������
	���

��
��	����������
�)������	������
�
���	�����

��
������

�
�
���������%�

� /����
��2����������
2�	����������
����	��	�����	�
��2

��
�������
	�������
�=��	�	��	���

�
���

���	�������������	���	
��������	�
�����1���8�'����
�
���=��	�	����4�����
�)������	���*��	�
��

�	�	���
�:�����	��	��
���
�/�
�
�)����
��
��
.%�/������2�	���
���8���
��

���1
�
��2�
2��
�8�������


��
	��0� �������� 
� ����#�+��� 
������0� ��� ��	� �������
	���� ��� �
	��� �������� ��� �
� =��	�	��	���

��/�
�
��
��	�
0���
�
���
�����	
�
����������	��	�����/�
��<	��
�8��
�)������	��C�%�

 �������������	
	��0��
�)����
��2�����2�	���������������	���
�������=�
���
���
��
�
�

��
� 
��
	��
� 8� �����	��� �:��
����	���	
��� �9� ����� 
�
	�
	�� ��
� ��	��	��
� ��� E�
���

2	�	��� ��
�

/�
�
�����0���
�	��0��������	����	� �����
	����� �
� =��	�	��	�����
�/�
�
����2��
%�/�������
��
��

���
� ��� ����� �������� 8� 
�
� ������
� ���������
C!%� /�� �����0� ����� 
� ��
���	��� 
��� ��
���

��
���	�
�	��� ��� 
��
�� ��
����� ��
� �������
� �������� ��� �
� )���	

	��� 
�
	���� ��	�	
��
�

������������%�/����
������������������	��������
��	������ =��	
��������C$%� A���
����
	����� �
�


	��
�	��� ��	� 
�� ���
���
	�� 8� ����� �
�
� ������ 
��+�� ��
	�� ��������%� /�
��� ������ ��
� ��
���
�


	�	�	����
� ��	� 
�� ���
���
	���� ������ ������ 
��
	��� ��� �����
� �������
� 
�
	���� ��=8� ��
	���
�


��
�
�
��0� ����� 
��
	�� �]0� ������
��0� 
�	���� ���2
����� ��� 
��� 
�������
�	��� 
��	����� ���

��
��	�
����
�
�����

�
���	�	���%�

/��������	���
��

��������
�����
��;��
�������	�
���	�����+������
�����
����
��������;���

��������	��
��:��
����	���	
��
��
�0�����������
H��0��
�����+������
	��+��������
����	������
2��%�

�

"����	����� ��� �
� ,	���
�	������ ��� �
� "�	�� -	��
������ ���� .������ ���

��/������

�

(
� )���� ��
� �

� ������ ��� �+��� �;��� ��� ���	
	��� �
�
� ��
��
	��� _�
�
�
� ��� �
�
�

��
��+��,
�-��	��
���
���������
����

��2�������������%��

�������������������������������������������������
C"�@%�@ &&��0� ��!��������
�
�����"���
���
���
�
���
����	�
��������0�	��'� ���	�
�����	��;����
A�����
�	��
��(
B��������	��
�40�!""!0��%GC%�
C��)��%� ��+��A


��%�<����	�0���%��	�%�
C!�@%�@ &&��0���%��	�%0��%�GG%�
C$�L%�)R@/&#�R& <@ &0���%��	�%0��%�"C!%�



� DF�

>
�
��������	����

��������
�
���
��:��	���0��
�)����
�
�	�	�����
	
�����������������

2


	��
����
���
���

2	�	���	�����
�	��
�����
�/�
�
��
�
���
�����	1��
�
��
	��
��������
�	��
�

�	�	�
	��
%�/���� 
����������
������� �
� ��
���

2	�	������ ��A�
�	����
	�� ���
�����
�� 	�� 
�
�	


	��

������ �����	������ 
�
����
��
0���	� 
�
	�� ���������
����
����
���	� �����
	�����1
� ���
���� 

�

=��	�	��	��0���������
������	�����
��������
	���8��
�)/>@%�

>
�
�
���
��+��,
�-��	�0��
�)����
��������������������	
	��������	��	���
����
��������

��� ��
��	���� ���� ��� �
�)������	��� *�2�	�
�	��� ��
	�	��� ��� ��
������� ��
� ���	�
� ��� �������.CD%�

/���� 
� ��	�	
�� ��� ��	�1��� ����� '������I��� ������	��40� �������� 
�
	�� ���������� �
�
� ��
� 
��
	��
�

�������
�	��
� ����	���	
��
0��
	
� ����� ��
��
�� 	���������%�/�������0� ��������I���
�� ���1���8���
�


����
������/�
����	�
�	

����8������
��������8���
����
����
����
�������/�
���	�	�����������I��%�

�
��
	�����
0������������
���0������	�1�����������I��������2����
�
����
��

���
���	2��	��
CJ%�

/���� 
��
	�� ����� ��� �	��0� �
�
� ���� 
��+�0� ���� ��
� /�
�
� >��������
� ��
	���� ��
���

2��
� ���

2��2
�������� �
�� 	�� 
�
	�� ���� ����	
��
����
�
����
��	�	�
	��
����� ��
�/�
�
0��	
� ��R< &0�

�����I�
	���%� (�
� ���
����
� 2��

��
� ��� ����
� �
�� ��
� 2��2�
� ��
	���� ����� ����
� 
�

	�

�����I���
��
����
�/�
�
%�/���
������
	���0��
����	��������
�������0���������=��	�	��	��%�

�

����������	�"����������.�����������/���������0
��������������

��

>
�
���
��

���	��������	��
��	�	�
	��
������/�
�����2���
����������	��	��������
�����

/�
�0����)��	���
�����������
���	�
�	�������
������
������%�A��
�����	�	�
	�0��
���:�����0�������

���� �
� ,���	���� 
�
	�� �������� 
��� 
���	�
�	��� �	
#8#�	
� ��
� 
���
� ��� �	�	�
	��
� 2����
� ��	�


�	


	�������
����������
�	�����
�&
�	��
���	�
�������
�	�CF%�A����
�������
����

�������0�8�

���������0������	�1����
��	���	������9������<���:%�A��
��2�
	��������
O����	���	�	������������
�

��
���

2	�	��� ��� �
�,���	���� ��
	�� ���
���� ��� ���0� ����� ����
�������
	�� +���� ��
�����%�)�����


��
	�����

��2������
��������
���

�,
�-��	�0�
	�������
�����	�	0���
�������
�
�	


	����
��
�

����	��� ��� ��R&�0� ��� ��
��� 
��� ��
��� '���;
	��������40� ��� ��
�	


	���� �

� �
�� ��	�
�


��	����
%��
	
���
��	

��2�
���
�����
����������

��
�
	�	�	�������	��:	
�����������
����:�


��
	��
%�>
�
� ��� �

0� ���)��	��� 
� ��
����� �	���������� ��� �
����� ��� ��
���	�
�	��� ����
���0�


���
������
�)������
�
	������	������������
�
���
��+��,
�-��	�%�

(��
���	�� 
�
�	�� ��	��������	��
� �	�	�
	��
0� ��� )��	��� ��
���	���� �

� ��� ��	�1��� ���

�����I��%�A�����
���
����
�	���������
���
���

2	�	��������/�
��

�
���
2�	����
����
���	�1��
�

�������������������������������������������������
CD�L%�)R@/&#�R& <@ &0���%��	�%0��%�"KD%�
CJ��%�(/&R,(/0���%��	�%0��%�"�%��
CF�R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������,���	���0�G������2����GGC0�))�EN)NKGN ��%�GG0�
U�D0������NN�G$%�GD%�$C%�G"N�2
N���%�
�%��



� DK�

��	� ��������
	���� ��� �	��� ��
��� ��
� ���
����
� �������
� �
�� ��
� 
���
� ����� ��
� /�
�
� 
����

��
���

2��
����1�������������=��	�	��	��%�

/��	�0����)��	���
����=���
��
	�����0��
�
����
���
��

�������
�	��
��	�	�
	��
CK0�����

����
�������
	��+����
���	����������	��%�A����;�
0����������

0�=
�
	
�
������������
��	��	��%�

�

�.� (�
�
���
���
����
��	����
�	���
��
�
�����
;
��	��
%�

�

>
�
���
�
��
	��
�����	��
�=�
���8����
���0����
�
���
��������������
�����
�
���
����

�

0� ��
� 
����
� ��
�	���
0� ���	�
� 
�	���� �	�	�
0� ���2��
� ��
� �����
� ��� ���	��� ��� ��
� �����
�


����
0� ��	� 
�	


	���� ��� ����	��	��� ���
����� ����� ��� ������� ��� ��/�
�� ����� 	�
� �������� ���

������� ��
����	��%� A�
� �:��H
	���� ����� �����	��� 
��� ��� ����	��	��� ���
����� �
�
� ��� �
���� ���

�	

	��
� 
���	
��
0��������
� 
�	�������������������� ������������%� �>
�
� �
� 
��
#
���	�������

���
�������H��
�8����
���0���
�
����
�
������
�
����
��	����
�	���
�������
��
	��
���������

2�������
��	

	����
��=�
������������
�
	��������
������
�����
�	�����:��������
����	��������/�
��

����� 	�
� ����� �
��	�%� A�� 
� ���=���
� ���� ��
	������� 
��	
� ���� ��
� ���
����
� ���
��
	���� �
�

��
���

2	�	��� ��� ��/�
�� ����� 	�
� ����� �
��	�%� (�
� 	��	�	��
� ��	� 
���� ������
� �
�� ����
� 
���
�

���1���������
�=��	�	��	����������/�
�%�

�

#��&��5��������#����
���EE��

�

A��
�
�	��������

���1
�
��	�������
�	1����:��
����	���	
��%�(�
�������
��
�
�������
	����


���
�������
����
	��
	������
�
���
�����	
��
����
�
����	��
����
��
	��
�
����
���
%�

(
� )���	

	��� 
�
	�� ����
��� �
� ����+��� 	������
2��� �
	
� 
�����
	�� ���� ��
�

��

���	


��
���
�/�
�
��
��	�
����1�������������=��	�	��	����+������
���	�
�������������	�	���

����������
	������8������
����0�
���������
�����
������
���
��
��	����
�	���
�������
��
	��
����

����� �
;
� ����	�	��� �:������� 8� ����� 
�=��� ��
� �����	��
� ��	� �������� �
���	
� ���
���� �
�

��
���

2	�	����������
;
�
����������
	������
�)������	���%�

>
�
�����
��+�0��
�)����
���������������/�
�����
��
	��

���
���

2	�	����������
��
	�
�

���
�
�
����
��	����
�	���
�8������
������	
#8#�	
����
�
��
�	��
�:%�A�
����1������1
����
����

�

=��	�	��	��%�R�0� ����/�
����	�� ���=���
�+�����������
���

2�����������
���
�
���
����
�
�
����
�

�������������������������������������������������
CK�A2	������'�������	���������
����������/�
���
��	��
�����������
���	�
2	�	�������
����8�������
���4%�
CC�>��	
	���_��%�EY 0�)���%�/��%���%��%0�!J�
�����2����GFJ0��c�F��NF!0� ���
	�������
�)���	

	��0��������C0�
�GFJ0���%��JG#�FG%�



� DC�

�	����
�	���
� ��� ���
��
	��
� 8� �����
����0� ���	�
� 
�	

���� ������� ��
� �
�	��
�:� ��� ��
�

���
����
CG%��
�
����
0����
��	���8�����
	��
�	�����	��������������
��%��

�

#��&��6�
�����!�����+�%
	����������+�
	!���	��*����
�����#����
���JC��

�

��������

0���
���
�:�
���
�
������	
��
����
�
����
��	����
�	���
0���������
������
�

���
��� �
� )���� /���������� ��
� >��	�
� ��� �������%� &��
� �����	��
� ����� 
���:��� 8� ������


��
#
���	��� ��� �:������ ��1
� 
	�	�
	��� 8� ���:#�	%� A�
� ����������� ��
� �����	��
� ��
����
�

��
�	���
�
����
�8��:�������
�=��	�	��	�����������/�
�0�8�����������0��
�
����/�
�����
����%�

/�� �����0� ��
� ������
��
� 
���� ��
� �	��;��
� 
����
��
� ��	� 
�� 
���� ��
	��
� ��� �
�

���
�����	�������������	�	

�	�������������
����
������ �	�
���	
	��8�����	���	��:	
�
	����=8����

��	� 2���
	�� ����� �����	���%� A�
� 
�2	


	���� 8� ������ ���

	��� ��
� ��	

���
� 
�����
� ��1
�

	�����
���
%�)�
� ����
	�
����:���	��
� ��
	���� 
	���
� 
������������	������
���	


���
� ��	��
�

�
	
� ��� ����
	�� ��
	�� ��	�������� ��	�	
�� �
�� ��
� 
����	��
� 2�	�
��	���
%� (�
� ������
��
� ����

������
���
�	����������
�
����	��
�2�	�
��	���
����
����
���
%��

(
�)���	

	��� 
� ����
��� ���� ���E�;
������	� �:��H
	�� ���=���
� 

� =��	�	��	��� 
���

������ ���	��� 2���	��	
�� ��� �
��� ���� ���
�������� ��� 
��� �����
�	��%� (
� ��
���

2	�	��� ��� �
�

���
�����	��� ��� ��� ����	�	

�	��� ��
� 
	��
� 
��
����
	�� �1
� ���
� ��	�������� 
�� �������������

2�	�
��	������������

�8��� ����
���%��

A�� �
��
	�� ��
��� �+��� ���	�	��� ���� ��
� 
	��
� �����
	���� 2	��0� �
�
� ��
� �
	�
0� ��� �
�

=��	�	��	������E�;
������	���
������������	�
�
��
	��
	������������
����
�������	��	��%���������

�
	��0��
�)����
��
�����������
�=��	�	��	������
���	�	�
	���

�
������	��	��������/�
���
��	�����'���
�


����
���
�	���
���
�����
��
��
� =��	�	��	��������/�
���+���
�	�
�
�	

����8� �����
������
	
� 	�
�


�1�����
�

	���
����
����
����
������
�2	��
�
��
� �
� =��	�	��	������ ��/�
������� 	�
��:�������

�����
����	���4G�%�(��
������
�
���
������	

	��
�
�����������
�	��	�	��
0��
���
���

2	�	������

��/�
���
�����
���%�>
�
�����

0��
���
���

2	�	������E�;
������	����
	��+�������
���%��

(
�����+�������������
�������
����	������
2����������
����
��
	
��
%�)��
��

�
�������

�������	����������	�
��	���
���������������
����	�
�����
�)������	����������E�;
������	�
��
	��

�]���������%�

�������������������������������������������������
CG�)%�R�/^�T�E%�X@A</0��
��2
�
���B�	��0�$���-	��
�
��"�������������/	�
��+�����0�R:�������	���
	�;�
���

0�R:����0�!""!0��%!$%�
G"�>��	
	�����
�����2�����
����
��%�E�;
������	����E���2�	����Y����
����� ����
����)���%�/��%���%��%�0��C�
=
��	����GCG0������NN�����%����%���%	��N�����N%�
G��A2	���0�U���2%���
�
�������
�=��	�	���
�����
�)���%�



� DG�

/����
�
	�
	��
������
���
�������
�	�����	�
��2

��
����
���
���

2	�	�����
�/�
�
�*���

������
�
���	�1��
���
���	2��	��.��������	��
	���
����
����
��������
��
����
�
���
������/�
�0�8�

�����
����0������
	�������

�=��	�	��	��%�

�

����������	�"����������.�����������/���������0
�������������

�

(�
�
��
	��
��������
�����
��


�����
�������
�
����	��
����
��
	��
����	�������
�
����

�
;
� ���
����� ���� �������� ���� ���������� ��� )��	��� ��
� >��	�
� ��� ��@����� ��
� &
�	��
�

��	�
G!%�(��
������
����
����
� 
�� 
�������
� ����
��� ��� ���������������������


������ 
���
�

�������
� ��
	�
	���� 8� �����
����0� ��� )��	��� 
� 	�
	
��� 
��� ��� �
	�� ���� ������ ���
�	��� �����
	��

��
	�����������
�=��	�	��	�����
�
����	��
���������������
�����
	���
�	��
���+���
�	����
	�
	��8�

�����
����%��

A�� �
�� ��
������� 	�����


��� ��� ��
����� ��� ���� ��� )��	��� 
� ���	��� �
�
� ��
��
	���

L����2�� ������� �
� E���2�	���� ������
�	���� ��� )����G$%� ���
	���� L����2�0� �	��;���

������
	
0� ��
	�� �	�������������� ������ ���
��
	��� M
d��	
�� 
��,�����	%�(�
�2



����� ��
�
	��

�������� ��� 
��� �����	� ��� �	��������
� ���������
� 
���� ��
	���� 
�	�	�
� ���
��� ��
������
�

��
�2



�����
�����

	�����=���
�8����
	����L����2�%��

(��)��	�����
�>��	�
������@�����
�
���
��
�������������)��������
	���
�
��	��8����
�

��
� 	��	�	��
� 
��� 
��� ����	��	��� ��� �����
��� ��� 

� =��	�	��	��� ��
� ���	�
� 	�
��	�
� �
�
� ��� �
����

A�����
�	��
�� � 
��� ��
�>��	�
�)	�	�
� ��� ���	�	���
%� A�� 
� ��
	�����
� ���
	����� ���� ����/�
�� 
�
	��

�	������
��	����!J��.�����
����*
��1
�
��
���	�����2�	�.�������2	�
	
���
����
���
��	����!�U�%�A��


�
�	


	��2	�����
���
������
������	����
�	�����������	��	������
����������
�������
�=��	�	��	���

�����/�
�����������
������:��H
	����
����	��%��

>
�
���
�
��
	��
0����)��	�������	������I������	�����	��:	
�����������/�
��������
�	������

�
� ���
����� ����� ��
� ���	�� 
���� �	���
� ����I�� ���� ��� ����	��	��� 
��� ������� ��
� �
	�
� 
�� 
����

�������
%����
	����X	���B
��:��	�������	�� 
�
�	�������	��	�
����	�1������� ���)��	�����	�	
��

����� 	����������� ���:�������� �
� =��	�	��	����������� 
�
�/�
�
��
��	�
GD%�)��
����
	�����
� 
������

�	��������
�)����/������������
�>��	�
������@���������
	��
��
��������
���	�����
����������

�
�
����	

�������
�	1�������	
�%�

�������������������������������������������������
G!�)��%�)��	�����
�>��	�
������@����0�(	�����
M��=���%������
;0� N$CND"0������NN�G$%�GD%�$C%�G"N�2
N���%�
��3�
&���M��%������
;0����������%������
;0��
��	�
��%������
;0� N$KND"0������NN�G$%�GD%�$C%�G"N�2
N���%�
�%�
G$�)��	�����
�>��	�
������@����0�L����2���%�E���2�	����>�����
�	�������)����0�))�EN)NKJN>NFD�N�GGJ%�
GD��%�XA>>RX�0�$���


���
��������
�$��
�%����0
����
������
��
��%��	������������������%0�	��'�A�����
�	��
��
���
)���
�
�	���(
B�W�
�����;�40����%�$J0��GCF0��%K!J%�



� J"�

(��)��	���
0� ��	�
�

	0� 
���	���� ��
���	��	��
����>��	�� A�����
�	��
����	� �����������

/�
����
���

2����������
�
���
����
�
����
��
�8������
��������
���	�
�
���������
	��
0��
�
����

�

#�	0��
���
������
�&
�	��
���	�
%�A��
������
�

	�
��	
�������
����
����
�
���	���
��
����
�


���
������
	��������
�=��	�	��	��������/�
���	
�����
�
�������
����	��
�8���/�
���
������
���%�A��

��
�������
����

����	�	�����	�������
�	1���
���	

����������	
�%��

� �



� J��

!%� (�/�
���
��	��
�	��8���	����	�������
�
������	1��
%�

�

(�
� 
��+�
� ���� ���
� 
����
� 
�
�;
��� �
�
� ������ 
���	��� �
�
����	
���� �
� ���:	1���

��������� �����	��� �:��
����	���	
��� �����/�
�%�/�� �����0� ��/�
���
��	�� 
�	�� 8� ��	����	���� ��� 
�
�

�����	1��
��
	
���
������
����
�
�
���
�
�������
���	����
�
�����
;
�<	��
%�A��
�
�	����������	��
�

����	
�
��
����
�
����
���
�	���
�
������������	��	��%�A�
������������������������
	������	
�8�

�����
����� ������ �
	�� ��	� 
��
� ��� ������ 
��� �������
����� ���
�������� 
�� �������
� ��� ����	��	���

���
����%� )�� 
���� ��
� 
���
� ����	
� �
�
� ��� �
���� ������ ������
�	��� =��	�	
	��� ��� ���	�	1���

	�����
�	��
��%�)��
�������������
��

����:��
�	�	��
�������:���
	��
�������
����
���	��	
������

���
�2	����
��	��
�	��
���
����	�
����
	�
�
��
�	������
;
����
������������
�
��������;��
%��

�


.� (�
��:��
�	�	��
�����:���
	��
%�

�

&��
������������
��
��������12����

����:��
�	�	�����	�
����
�����/�
������	
������

��� �	
���� ��� �
� �����	��� ��� ��/�
�� ������
��%� &��
� ���������
� ��
�	��� ��
� ��	�1��
� ��	� 
����


���	���
����������
	��
�	������:���
	����
�
����/�
��<	��
%�

�

#��&��1����������+�%
	������JH��

�

���
	���� ����	��� ��� 

� �	
����� 
�
	���� ���� � ��
� �
����
� ��� �
� =����� �	���� ���
���	�
�

��
	�
	����
�:�/�
�
#��	
%� A�
�
���
	������
�	��� �����	�
�
��E�;
���#��	��9� 	�
� 
���
	���� �
	��


��+���%� (�� =����� ������ 
�����
	�� 
��� �:��
�	�	��� ���
� ��
�/�
�
#��	
%� A�� 
���
	�� 
���
� ��
	���

���
�����
�
����	��
�
��

2������	
�
��
��	���	
��
	�����
�2	�������	��
�	��������
��	����$��)/>@�

����
	
�������
���	�������������	���	�
��
	��	���	����
����������	��	��%��

(
� )���� =���
� ����'����� ���	
	��� ���:��
�	�	��� ��	� ������ 
���	���0� �
�� 
�
�

���
�������
0� 8� ���:���	��� ����� ���	�� �
�
��	� �
�� �
�)������	��0� ����0� 
�	�� ��� 
�
�	�� �

� ���

�������

	��
� ����� ��	��
	��
0� �
	��� =����� ��
��2�	�
�	��
������/�
��)����
��
��� 
�� �	���� ��� �
�

�	
��
	�	��� �����
����
����4GF%� (
� )���� 
���	��
� ����� ���� ��� �;��� ��� ���	
	��
� ��
	��

��
	�������
���	2���8���/�
�������������	
�������
����	���	�
�
	�����	������:��
���%��

/����
=���
����	���
��
	���:
�	����
	�'���
��	����$�����
	��
�
���	��������
������������
�

�������

	��
� 
���
�	��
����� ����������� 
���
�	��
����������������� �
� ,	������������� ��-�
��

�������������������������������������������������
GJ� ��+������	����%�E�;
������	0���%��	�%�
GF�A2	����U�CJ%�



� J!�

���	��0��
���
�
�	��������	��
���������
	������
�
��	�	
���
��
�
���/�
�������
�	�
�	���4GK%�/����


��
���������
����
����
�	������

��	��
	���
��������

	��
0���	����
	
����������
��	��
�	��
����

�
� )������	��0� ��
��	�
	���� 
�

	0� ����� ��/�
�� >��������0� ���� 2�1���� ��� 
�
� �2�	�
�	��
�

	�����
�	��
��
0���	���������������
�)/>@%�

/�����
����
���
��	������������
�)������	�����	��	:�������	�	�������	���	
���
�����
	���

����
�)������	��%�(
�)������	������
����������

�������	����
�
���
������/�
��<	��
������������

���

�����

������	��	��������
��
���������������/�
��)����
��
������������:��
�������	��	�	���



�
� ���	�	��� ���� ��
� ����	�	��
� �
�������
� �
�
� ��� �
;
� ��� ��
�	�
�	��� �
������ ���	�������


������
�������
��
�
��	�
���� �
�)������	��%�)������
�
��	������
���
	��������

������ ���
�

��
�
��	���
�����
�)/>@0��
�
���	���������������
�����
	��
�	��%��
��������0������������1����

�

��
�/�
�
�)����
��
��
���� �����'���
���

2	�	���40�
�����
������ ��
��	����$0������ ���������
��	��

��
� ���
�������
� ����	
	2��
� ������� �:��
�	�	��� ����
O��� ��� �����
� ��� ����� =��	�	��	��%� (��

��	�1��� ��	� ��������
� ��� ����	���� ���� �	��
�	��� ��� ��
��	���� �
�� ��� ���	�	��� 
�	�� �:	
��� 9�����

������������	;����
�����������������	����������������������������������-�
��+��	��
����%���	��
�	��

����	�� ����� ��&���� ��	���� �� �
� ����	���� �	� �� ���� 
������ �	� ��
��������� ���	�
���� ���

����
�
����:JE%��

 �	������
2�	������	
���0� 	�� �
�����
����� �
�
	��
�	�������
;
������
�	�
�	��%�)�����
��

�

���������
������
�)�����
�=���������
���
���

2	�	���	�����
�	��
����������/�
��<	��
%�

>
�
�������
��
	��0��
�)����
����	��������
�����������	���������������������������
	��

�
�
� ���'������	����� �
������4�
�
�����+�����:�����0�
=�����8� 

�
	��
�	������
�������� *?������


	��
�	��� ����
��� 
�� ������� ��
� �
	�
.0� �����
	�� ���
�	����� ��� ��
	������� 	����
	�� ���

����
�
��%�(��E�;
���#��	��	����
	���������
��	����$������
�)������	���������:��
�
��%�

W�
���8�

��	��
�	��;�
��
	����
�����������	
��������	��
�	��������
��	����F�)/>@�
	����

���������
	���:��
��0������
2
�������


	
�
����=��	�	
	�����
��	���
�:�/�
�
#��	
0��
�)����
��	��

���	����;�
�
	���

�����	��
�	��������
��	����F�U$���������	�����������
������
���
�	���=��	�	
	��%�

/�� �����0� ����� ���:���
	�� �

� ������� �:��
�	�	��� ��	

�� ����
O���� ���� �	��
�	��� ��� ���� 
��	����

�
�
�����

��9������������	
����
	�����
�2	�������
��
������	����=�
�	��%�)�����
��0��������
	��

�

� ��� �

� 	�	%� � �����
�0� ����� 
��2�
	�� ��
���	����� ��
� ���	�
� �	���
� ��� �������	����
	
� ���

����
	�����������	�1�������	
���������
���;��������	�
�
��	��:����
����
%�

)����������
���=8��:��	�������
������
����	�	����'�
���	�
�	����:��
����	���	
�������
�

)������	���40�	�����
�
�	���

�	�	������������	����:��
����	���	
��������/�
����	������
	��������

8� ��
���	�
�	��� ��� �
�)������	��� 
���
� ���� 
�
� 
���
� ���� ���� ����	
� 8� �����
����%�>
�
� ��
�

�������������������������������������������������
GK�A2	���%�
GC�A2	���0�U�G�%�



� J$�


��+�
0� ��� ���2�1��� ��
	�� ��� 

��	�� 
	� ��� �
	�� ����
	�� +���� 
���	2��� 8� ��� /�
�� �
��	�� ��� 
	� ��
�

���
����
�
	�
	�
���	���
��
����
������	��
0������
	�������

�=��	�	��	��%�

>
�
� ��� �;�����
��+�0� 	�� 
�
�	�� ��
�
�;
��� 
	� ��� 
���0� ��	� �
�� 2	��� 
���	2��� 8����/�
��

�
��	�0� �	����
� ���� ��
� �2�	�
�	��
� ��� �
� )������	��%� )��
�� ����� 
�� ���:	1��� ��	�1��� ��	�

�����������	���
	�������/�
�� �
�� ��
���

2���
���	��
�� 	�����
�	��
������ �����
�
��+��%�)��
��


�

	�����
	��
�	����:��
����	���	
����
������
���	��
	��
�)������	�����	��
�
���	�����
���
�����

�
� �	��
�	��� '��	������4� 
�� �
	�� 8� �����
����%� (
� ��
���

2	�	��� �����/�
��)����
��
��� �����
	��

+�������
�����
��	���
��8��
�2

���������
������
�	����
�
	���

��:��
��0��
��	��
�	������
��
	���

�


��
���%�)����� ��
��� ���
� 	�����

����	�
� �
�
� ��� ��
�
	�%� W��	���	�� ��� 
�	�0� �
� )���0� ����#

�+��0�
�
��	
�����

�����	��
�	���'�	��	������4�����
�)������	��%�A���
��
�������	�����


������

��	�� ���� ��
� ��	�1��
� ��� �
� ��
���

2	�	��� ��
� /�
�� 
���� 
���	���
� �
�
� ����� �;��� ��
��
	��
�


���	
�
�8��
�)����/���������%�

����	����
0����	�0����	����������������
����

�
�
�	������������

	��
��������	��
	��
�

�
	
����	����	��
�
�	��������	
�������������	��
�	���
���;��������	�
�
��	��:����
����
%�A���
��

������:0��
���:�����0������
�)����
����������=�����������
;
�
�	����
���

2�������	��
�	��
�

������	��8��
��	���
��	��
���������
�
���
�8�����
;
�
�������
������
	��
�	�����	�	����3�������	��


	���	������	�����	��	�������
����������
��	��
���������
�	�
�������
������������8������	��
�������	�


����
2	�������	���	������
��
��
	
���
	������
�8���
�����

��
����	�	���
%�/�����
�	���
�����
�

��	�1��
� �����
�:� ��	� ��	����� +���� ��	�	
�
� �
�
� ��� �;��� ��
��
	��0� ���
� ���	�	����
� ��
�

�;����1
�
%�

�

#��&��"�	(�6
�
�����1	7��JJ��

�

(
� ���	
	��� 
�	�
���� ��������� ��� �

� ���:���
	��0� ��� �
� �
��� ��� �
� ��1��0� �����

�	��;�����	�	��0���1
�
��	��������	�	���������	�
�
	����=8�
�2	���
��
��
	
���
	������
��
�
�
���

�
;
%�(��������
�������
��������������+���8����������������
���1���������	��
�	��������
��	����

$�)/>@��
�� 	�� �	
��
	�� ��� 
�2	�� ��
��
��
	
� ��
	������
����� ��	
� ��������
�
� 
����
;
�3� ���

��
��	����C� �
�� ��
� ���2��
� ��� 

� �
�	���� 
�
	�� ���� 
������
� ��� ��1��0� 	�� ��
	�
	�� �
�#�8� �
�

����	����
�	�	
���3���������
��	���
��	����!J�U���
���
�)����
�
	�����
�����������

����:���
���

�
��������
�������������
	������
����8����

2����%�

� )����	����
�	�����

����	��	�
������0���������	�����������
��	��
�	��������
��	����$0�

���
�� ���� �
�)���� ������
	�� ��
�������� ��� ��
��+�� ����	��� ��� �:	��
	�� ���	�� �:	
��� ��
����	�
�

�������������������������������������������������
GG� ��+��)��M��
�

����
����
��%���1���)���%�/��%���%��%�0�!"�
�
��GG"0������NN�����%����%���%	��N�����N%�



� JD�


��	��:���� 
����
�������	������� ��	�����

�� �	
����
	�� ��������������
�2	�������	��
�	���������

���	�� �
�
� ��/�
�� ���
� ������� 	�� 
��
	�� �:���
�%� )�� ��	�1��� ��	�� ����� 
�
���	����� ��� �

�

���:��
�	�	��
�������:���
	��
%��

� (�
���	2��	������������	
	������:���
	���8����/�
������
	���

���������0���������1������



� =��	�	��	��0��
	
� 	�� �
����:
�	����
�	��;�
��
	���
�
�����

������	��
�	������ �
�)/>@%�>��

�
�	1��� �����	���0� ����� �����
	�� �:	
���� �
	
� 	�� �
��� �:
�	���� ��
� �
	�
� ��� ��
��
	��� ����� ���

=����%�

� >
�
�����
��+�0���������
	�����
������������������	
���
����������	�
�
��	��:����
����
�

����
	���

�


�M�	�����
�����������
�����
���
���

2	�	�������
���1��%��

� &��
� ��


����
� ��� �;��� ��
��
	��
� �
�
� ��
� �

� �9� ���� �:��
����	���	
�	��� �
�� 
�

	�

���
������
	
��9�������2�1�������
�=��	�	��	������
����
���

%�A��
�
�	��=�
������

��	��
	�����

�����	��� ����� /�
�� �	���� �
� )������	��� ��
��� �
� '��	��
�	��� �	������4� 
�� �
	�� �
�
� ��� /�
��

<	��
%��

�

"����	����� ��� �
� ,	���
�	������ ��� �
� "�	�� -	��
������ ��� .������ ���

��/������

� �

� )����������
���0������

��	��
	����/�
����	��+��������
�����
���
�)����/����������

�����
��	���	����
�
��2�	�
�	��
0� 	�� �
���������������
���	��	��
�����
���
���

2	�	�����
�/�
�
�

���
��	������>��	��A�����
�	��
����� ��
���	�����
���� ��
��	����������� �
�)/>@����
�����	�1������

=��	�	��	��%��

� /�� �����0� �
�
� ��
� 
��+�
� ���������
� �9� �
� �����	��� �:��
����	���	
��� 
�� �������
	��

�	���������� 8� �����
����0� ��� ���2�1��� ��
	�� ��� 

��	�0� 
����� �
� �1���� ��� �
�E�
���

2	�	��0� 
	�

�����������	�����
	��
���	2����8�����/�
�����
	���
����
����
�
���	���
��
�������#�	������
	�������

�

=��	�	��	��%��

� >
�
���
�
��
	��
����:��
�	�	��
�������:���
	��
0�������2�1���������
����	�
��
��������



��	��
	0�
�����������:	1�����	�1�������
�E�
���

2	�	�����
�/�
�
0� ����������	��������
���
	��

����2�1����8�����
��2�	�
�	��
�	�����
�	��
��
�	

��
�	�	�����
�)/>@%�(
�)����
�����
���������


���� ���:��
�	�	��� ��� ���:���
	��� ��	� ����;
	�� ���� ���
����� �
�
� ��� /�
�0� �9� ����� �	
��
	��

����������� ��� 
�2	�� ���� �	��
�	��� ��� �
� )������	��0� �	��
	�� �
� )������	��� �
�
� ��� ����� ���

��/�
�� ��	� �:��
��� ��� �:���
�%� A�� 
�
�	


	�� 
���
� ������ �	��
�	��� '��	��������4� ��� '��
��


��	�	�
�	���4�����
�)������	����
���
��	��
�	�����
�
	���

������������	���""%�

�������������������������������������������������
�""�Y%���>E/0�-;��
����������
��������������#��&��1�����������
�"�	��-	��
����������.�����������/����0�	��
'�E�����L����
������>��	��A�����
�	��
����2�	��40��GG"0��%���%�



� JJ�

� (
�)����
������	�����������
�)������	�������������
�	1������	��
�
�	

��������2�1����

��������#�	%�/������
�����	
������������	����������������	������������
���	�
�	��������
��	����$�

)/>@�
	�
	��������

�������	����=�
�	�����
��
��%�/������
�������
����

�����	
��
������	������


��2


	����������	�	���� ��
�
��	���
�����
�)������	��%�/����
��:	������	��
�
�	

��������	
����

����0�
���;������
	
��
�
��	��
�
����
�����
0��������	��
�	��������
�
��	���
�8������
����%�

� � �

� � ����������	�"����������.�����������/���������0
�����������ACA��

�

� (�� )��	��� 
� ������ ��� �

� �9� ���� ���
����� 
�
	�� ��H�0� ��� �
� �
��� ��
� 
����	��
�


�
��
�	����
0�������������:���
	������
���A�
�%�A��
�����
	���������
�
�	������
���*��	�
��
	��

���������������
����/�
����	�����
	���
	����
���������:���
��0���
�����������
��	����
�
���
����

�
� ������ ��� 

� ������	��.%� A�� ��
��
	�� �

� ��� ������	�� ��
� 
�	�
� 
����
�
� �
�
� ��� �
;
�

���:���
	��%�

� �(��)��	���
��1
����
����	�������'����:���
	��������
���������
�����
;
��9�	���
������

���2
2������	����	

���2���	�� ��� ��
	�����������


	��������
�	����� �
��
�
�	�����������0����

������������
��	�0��
���
��	��
�	�����
����	�
������
����������
��
��������/�
���
��	�0����
�	����
	��

�����	��
�	��������
��	����K�����
����4�*��
�>��	�
��	�	�
�������	�	���
���
�&
�	��
���	�
.%�A��
�

������	������������������������������	��������/�
�������������
	���
���
���%�

� A��
���
�	���
���	�����������������	
	���
�������	
������������	���
������
��	����!����

�
�����
������	��	�	���
�������
	��2	���9��	�������������������������
�������
�,	����������:%�A��
�

�:��	�����
�#�8����� ��
������
	�� 
���	2���8� ��/�
�� ������� ��
����
����
� �������
��
�������� 
����

�����
	�������

�=��	�	��	��%�

� >
�
� ������ 
	��
�	��� �:��
����	���	
��0� ��� )��	��� 
� ������ ���� ���	
	��� ���
�������

���������
�������
�
	�����	����
�)����/���������%�

�

2.� (
�������
�	���	�����
�	��
���=��	�	
	���������	�	1��%�

�

� /�� �
�	1��� ��� ������
�	��� 	�����
�	��
��0� =��	�	
	��� ��� ���	�	1��0� ��� ����� +����

����������8���
�
	��
�	��
��:��
����	���	
��
%� ������
��	�����
�
�	�
��

���
���
�������
�
����
�

��
�	���
� ���� ��	
� ��� �����
� ��� ����� ����	��	����
	
� ����I�� ��
� ���	
	��
0� 
���
� ��� 
����
� ��	�


������ ��	
� ��� ������� �
�
� ��/�
�� �
��	�� ���
� ��� ���������
� =��	�	
	��
� ��� ���	�	1��
%� &��
�


����
���	�����������
�)������
���
	��%�

�������������������������������������������������
�"��)��	�����
�>��	�
������@����0�)%��%� �
��
�	�0�))�EN)NKFN>NG""N�GGG0������NN�G$%�GD%�$C%�G"N�2
N���%�
�%�



� JF�

#��&��.��(������
��	��2����*�
�������-�

���ACG��

� �

� �����	2��
���� �������
�
	������
���� ��
����:�������
��
��������
��
	�
�������%� A��

������������
	�������������������	������Y�
����������/
�
���%�A�
����	
	�������+����������
����

Y�
���%� A�
� �	�	�1����� ������
��� ���� ����+��0� ��	��	�
������� ������� �
� Y�
���� ���


�2
	�	
	������� ������� ��/
�
���� �
�� 	�
� �������
	���� ��� �

� 
��	�� 2����	�	�� ����� ����1
�

���	�
2���*
��	����F�)/>@.�������
	���
	���������������	������Y�
���0�
��1
���������
��
�	���

�
�������	2��
��
�����
�0�	����
���*
��	����J�U��)/>@.%��

/���:
�	�
����
������
2	�	�������
�����+��0��
�)���	

	���
����������	�	���
	0��
�������

����
��
�	��� 8� ������0� ��
� ������
��
� �����
	���� ��� �
� =��	�	��	��� ��
�H
	
�� ��� �
�
�����0�


�������
��	��������)/>@�"$%��

 �������
����
�
������1
��
��	���	��0���������	��	�
������	��+�������
	����������������

���	���
�	������	
�������
������
�	�������������	��	���
����
��
���
����	���������:���#��	���
0����

���
	���������
�E���2�	������
�H
	
���������+��������	��1
����������*���/
�
���.%�)�����
��0�

 ������� ��� �
	�� �
��	�� �	� ��� �
� Y�
���� �	� ��� ��/
�
���0� ����� �
� )������	��� ��;� �
�� �

�


���	��������
	������
	������
��
�	�	�
�	��������
����:��
;
%�

(
� )���	

	��� 
�
	�� �
������ ����'��
� ��
���

2	�	��� ��
� �
��	�
� )����
��
���
� 
��

���
�������
�)������	����
�����
�����+������
�������
��:������������=��	�	��	�����������
����

����� ����	��	����
����
����
����
���
���
�
��
� �����
����	������ ����������I���������	��4�"D%�/����

	��������
	��	�	����:���	�������
�=��	�	��	�����������������I����:�����
�������
	��
����
����
%��

/����
�
	��
���	���������	�1���
���

�������
��������
��	����������
�
���
����
��
	����

	����
2��
� 8� �
� Y�
���� ��� 8� ��/
�
���0� ��� 

� ��
���

2	�	��� ���
���0� ���� 
	� ��
� =��	�	��	��
�


�����
��
0� ��	� 
�
	���� =���� ��
� ������
��
0� ����
	���� +���� ���
	�����
� ��������
� ���
��
�

��
�H
	
�����
�
����
����������
���	
�
�
��9������<������������:�����������
����:��
;
%��

(
� )���0� �
�
� 

� ���	
	��� 
�� ����0� 
0� ����� 
�

	0� �������� ���� ���
���� ��
� 
����
�


����	
�
������/�
����
������������
�����
��
��
�=��	�	��	����������	#�	0��
�
��
���
�����9��
��

����
� 
���
� ��� ��	

	��
� 	�
� 
�	

���� 
��� ������ ���
����0� �
� ��
���

2	�	��� 	�����
�	��
��� ���

��/�
����
	�����
���%��

>
�
� ��� �

� ����	
0� ����� 
��
�� ������
��� ���������� 8� �
� ��1
�� ��
� L�����������
�

>��������
� 
����� �
������� ��
� �
�	
��
�
� 
�����
�
� �����	


	���� ����
� �?���
� ��� �
�	1���

�������������������������������������������������
�"!� ��+��>��M������
���
�-��%�Y�
�������/
�
���0�)����/��%���%��%�0�!F�=�	���GG!0�
�����NN�����%����%���%	��N�����N%�
�"$�>��	
	���>��M������
���
�-��%�Y�
�������/
�
���0�)��%�/��%���%��%�0��!������2����GCG0�
�����NN�����%����%���%	��N�����N%�
�"D�A2	���0�U�J%�



� JK�


�������%� �+��� 
	� ��
� =���
� ������
��� ��� Y�
���� ��� ��/
�
���� 
	���
	���� �
�
� ��
�

=��	�	��	��
0�	�
��������
	

	�����

������
�	������=���
���
�H
	
�����
�
����
%�(���
�=�������
�

���
��
	���� ����� 
�� �����I��� ��
� 
����	��
� ��
�H
	
�
� ��� �
�
�����
%� )��
�� �������	0� �
�

Y�
���0��
;
����������	��0�����
	���

��2�	�����
�� �
�)������	���8�'�	���
��� 
�
� �1���
� 
�:�

/�
�
��������	��	��
��	��
0�	�����*��	.�	����2
	���

���������������
	��
�������������	���2����
�


�������������
��
�	��������	


	����
�������
�����	�	��
������
��	����F�4�"J%�(
�)����
=���
	��

������
�������'���
�/�
�
���	������������	
�
���
�������
��������������������
�
�	��
��
�
O������

�
�����
��
�	�����
�������������	����=�
�	�����
��
���*��	�����
�	
����
��	
���
��+������	����%�

E�;
������	����K�=�	������GCG0�U���$.�4�"F%�

� (
�)����
�
���	���� ����+�����	��	��������
�
� ��
��+������	����
	
���	��������
��

�

��9�	��;�
��
	����������
��
������	����=�
�	��%�R����	������������
�)���������������

�
�:�

/�
�
����:
�	����
	����
���
����	�
�����
�)������	��������������
��������
�����
��
�
����������

=��	�	�����	
�	���%�/��������
	����	������������

�����	��
�	�����
��
����������:#�	%�

� �

� � #��&����������������)�
���ACI��

� �

� /���
�	1������������
�	���=��	�	
	��0����
�������
���������	������
��

��������������

���:���
���� ������ /�
�� 
������� �
�� 	�� 
�
�	�� ��� ������� ������ �:�����	��� 8� ���� ���	
	���

=��	�	
	������
��1��%�

� )���
	�� ��� �

� ��� ��
��
	��� �������	�	� ��	� ���
��� ���	
��	��� ��� ���:� ����:� 	�
�	��
%�

)��:#�	� ��� 
�������
��� ���
0� �
� ������ 
�
	�� ���
���� ����� 
��
�
�	��� ��� ����
%� ����
��� ���

����
0� ����
�	0� ��	0�
�
	�����
�����
�����	������ ������
�	
���
���
�	�
�%� ���
����� ������
��

��
�
	����������������������
�������	
0� �
� =��	�	��	������������������
�	�
��
�
	������
����
�

����	�������
�	
��%�/���� ���� 	����	
������� ��������:�����	����
�� ��
� =��	�	��	��
� 	�
�	����
%�

(���
�	�
������
����

��
��	��8��
�)������	��0��
�������
��������
�

�����+������������A�
�	�����


�� ��
	��	�� ��� ��� ���� �
� =��	�	��	��� 	�
�	����� 
�
	�� 
������� ���:���
���� ������ ���	
	��� ��	�

��
�
	���

���
������ ��
��
�
��	�
����������1
����	�
2���
�������
��	����F�)/>@%�(
�)������	�

����
��
	
������
��	��
������
�=��	�	��	���	�
�	�����
��
	���]��:
�	����
	��
��������������
���

��
�
����	��
�����
�	�
��
�
	���������������8���
��	����F�
�
���������	�������
�������:���
���%�

� >
�
� ������ 
��
	��� ������ �
�
� ��
� 
	��
�	��
� ���:��
�	�	��� ��� ���:���
	��0� 	�� �
���


�
�;
�����
��������
����	
	��������/�
��<	��
�������
�	��%�A�	0�	���
���+����
]�����	����;�
��

����

�������������������������������������������������
�"J� ��+��>��M������
���
�-��%�Y�
�������/
�
���0�)����/��%���%��%�0�!F�=�	���GG!0���%��	�%0�U���"%�
�"F�A2	���%�
�"K� ��+���������	�	��%�A�
�	�0�)����/��%���%��%�0�!"�=�	�����!""�0������NN�����%����%���%	��N�����N%�



� JC�

��� �	��
�	��� ��
��
���� ��� �
�)������	��� 
�
��� ��� ���	���� ��
�������� ���:���
���%� A�� 
�
�	�� 8�

�����
�� ��	����������� 
	� ��� �;��� ��� 
	��
�	��� �����
����� ���� �	��
�	��� ��
� �2�	�
�	��
�

	�����
�	��
��
������/�
����	���������������
�)������	��%�R��

	��������
�������:���
�����
��


���	2�
2���8����/�
��������1������

�=��	�	��	��%�(�	��������
�	������������'�=��	�	��	���4�����
	��

�

��������
�����
�
���
�
���
�
��
	��
%�

�

� � #��&��"
�!������)�
�������#����
���ACE��

�

� (�
�
��+�
��������
��� �
�������
�	������	�	1�����������
�

	�
�
��
�������8���
��

�

��
���
�
�	��
��
�����/�
���
�
����/�
��<	��
�"G����
�:��

����:��
�	�	���������:���
	����"%�A��

����� 
�
�	�� 
�

	� ��� 
���	��
� ��� ���	��� ��	� ���� 
�	�� ��� �������� ���
� ������
�	��
�

��
�
�����
�	1��
%� ��� ���2�1��� ��	����
2	�	��� ��� ��� ������� ����� 
���
� 
��
�
O���� ����� �
�

���
�	���
��
����	�	������
�����
�����������=��	�	
	����
�
�����
;
��9��������1
�
���������%�)��
��

�����	�
��
���


���
�
��������1
�������
	����)
�
2��%�

� /�������0����������
���
�
	������
��+������A�
�	�0���	
������
��
������	�������
	����
�������

��� �
� ������� 8� ��� ���������� 
����
��%�(�
� 
�����	
��
� 
�
	���� ���� 
����
� ��� A�
�	�� �
�� ��
�

2	
	
� ������ ������
�	��� ������ �
� ���	��� 
����
���� ��� 	�
�	����%� ��� 
����� 	��	����� 
����
���

��
�
	����������%�A��
�
	�������=��������I���
��	���
�
������
�	�%��

� ���
	����)
�
2��� 
����
	��
	�� �
�� 	�� 
�
	�� 	�
�
���������
�������� ���� 
����� 
�	��

�������%�(
�)��������
�
�������
�
����	��
�
�
	����������
	������������	��	���������	��
���������

���
	�����
	
����	����
	��	������
2��%�A����������
��
����
	���

������������
����������
������

��
� ���
����
� ��
	�
��� ��� 
��� ���
����%� (�
� ��������
� ��� ������
��� 
�
���


	���� ����I�� 
�:�


����	��
�
����
���
0��
�
� ����
������� �
�)������	����������������


	
�
���� =��	�	
	��0���	�

��� ���1��� �

� ��� �
� ����������� ��� �
� )���%� /���� ��=��
� �1
� ���
� ��� ��	��� ��� �
� �	��
�	��� ���

��
��	����F�U�����$%�(�
��
��������
0����
��
	������������������
����	���
����
���0�
��
	����

�]�+����
���

�
��
�
����������
��������
���������������%�<
���������
�
����	��
�=��	�	
	��
�

�	����������������������	�
����
���


���8������
����������=���������
����
�	�����
�������
����


����
���;��
���������
�:���	�	
�
0�	����;�
��

�����	��
�	�������
�)������	��%�

� )������
�
���
��

����������
�	���=��	�	
	��0�	��
�
�	��=�
��������	��
	�����
	��������

�

�
����������8����
���
��������
����������+����������
����������0�;������	
����:���	�
��
����

�������
�8������
����0�����
O��������	��
�	���8��
�)������	��%�

�������������������������������������������������
�"C� ��+��)
�
2����%�A�
�	����� ����
���0�)����/��%���%��%�0�!���
�
�!""!0������NN�����%����%���%	��N�����N%�
�"G�)��%� ��+��a�
�
���%�<����	�0���%��	�%�
��"�)��%� ��+��,�M
����%�Y�
���0�)����/��%���%��%�0��C������2����GCF0������NN�����%����%���%	��N�����N%�



� JG�

� "����	���������
�,	���
�	����������
�"�	��-	��
���������.���������

� ��/������

� �

�  � �����
�0� ��� 
�
���H�	�� ���� �
�
� �����
� ��
� 
��
	��
� ��	� 
�� ���
������� ���
��� �
�

)���0� ��� ��	�� 
�
�;
��� 
	� ���/�
�� �
�� ��
���

2��� ��
� �	��
�	��
� ��� �
�
�� 
����� ��
��	���� ����

)/>@���� ��� 
�
	�
������E�
���

2	�	��� 	�����
�	��
�����
�/�
�
%�)������
�
� ��
� 
	��
�	��
�

���:��
�	�	���������:���
	��0�������2�1����
�������	��
	�����
	��������
��������	
�8������
�����

�����	��	�����	�����������
�)������	��0����
����
���
���

2	�	����������
��	��
�	������
�	��%�(
�

)����
����	�����������;�������	��
�	���	��	���������
�	��
	�0�����
	�0��������	�
2���2�1����
�:�

�2�	�
�	��
������/�
���
��	���	
#8#�	
�����
�)������	��%�A��
�
�	��������
���	�
2	�	���	��	������

��� �����#�	%� /���� ��� �
��� ���� ����� ����
	�
� ���	�
� *��
� �	
��
	�	��
� ��� �
� )������	��� ���

�����	����
���
�������'�������
�������4.%�A����	��
�
�	���������	��
�	�����
��
�����
�
�����

������


���� ��=8� 
������	� �
�� ��� 
����� /�
�0� ��� ����� �	
���� ����� ��� �	��
�	��0� 
���;�� ��� �
	
��
�


��	��
�
� ��� 
�����
0� 
�	�� 
�
�	�� ����� 
���� ��	� ��	�� ������� 
�� �����	�����%R�� ��� 

	�� �

0�

������
��0� 
	� ��
� ��	�1��
� ��� �	
�	���	��� 
��
	���� 
���	�
2��
� 8� ��
���� �	
��
	�	��� ��� �
�

)������	����������������;
������������	�
���	�������%�

�������������������������������������������������
�����%� �E _A&/0�6���
���������.�����������/�����

��	������
���
�����������
����
���������
���
!����������
-�
���
	����
�������
�"-./0�	��'�E�����<�	��
��	�������
�>��	�
������@�����40��GGJ0��%!K%�



� F"�

$%��)�����
	���
����������;�����	�%�

�

<��
� ��
� �

� ���� ���
� 
���
� 
�
�;
�
� � 	���
������ ��
� 
	��
�	��
� ���:��
����	���	
�	��%�

(�
�����	��
��;��
���
��
	��
������
���
	������
������	��
��9���/�
���
��	��
�	


	��8������
����%�

(�����2�1�����
	��
���
��	2���
�����
���	2��	��������������	���8����/�
�����
�������
	�������	��
	�

��
����
����
�
���	���
��
�������������	��������
	�������

�=��	�	��	��%�(
�)����
���1
�
�������

���
	�����������
����
����
������
	����
����
�	������������
�=��	�	��	����������/�
�%�/�������

��
��

��
	���
�
���
��+��,
�-��	���!��
��

�
�������
��
�#���������������������������
�
��1���


����
�	���� ����
	�� ���
� 
������
2��%�>�� ���
0� ��� �����
�� �;��� ��� 
	��
�	��� 
�� ���
���
	�� 8�

����%�/����
��
	�����
���
���	�	
���

�=��	
���������
����	����������
��	�
������������
��������
��


���������
	��� ��	� ��������� ��� �	��� ��
��� ���� ���
����� ���1��� ��� �
� =��	�	��	��� ����� /�
��

��
���

2��%� )�����
��0� ����� 
� �������� ������� ��� ���	������� ��� =��	
����������$%� /���� 
��
��

��
�	�����
�����
�
�����
�������
�	����������������%��

>
�
� ��
� ����	��
� �;��
� ��� �

0� �
�)���� ��
� =
�
	
� ��
���	��� ��
� �;��
� ��� ���	�
� ���

�	2����
�������/�
�����
	���������������
	�����
������%��

(�� ���:	1��� �;��� ��
��+�
� ��������� ��
� 
���
� ����� /�
�� ��	� ��	����� �������� ���

���������
��
	�
�����	
����8������������������	��	������
����%�)��
��
�����
	
�����������������

���������� ��
� ���:� �;��
� ��
��+�
� ��� ���
�� 
	�
	� ��
	�����
� 
	�
	� ���� ��
����
� 
�����
� ��
� ����

��


�
��D%�(�
���������/�
���
��	����	��
��2������2	���
���	2��������
�������
��
����1�����2	������



�=��	�	��	����
	
� 	��
�
�	�������	��
	� ��/�
���	�����
�)������	�������

�����
�	�
�	�������
	��

����	
����8������������
�
����/�
��<	��
%�W�
���	��
�
�	


	�������
����8����������0��
�)����


����=���
����������������	��
�	�������
�)������	���
�	���:	
���2	�������	
��������0�
���;�����

�
	
��
�
��	��
�
����
�����
%�/����
��:	������	���:	
��������	��
�	�����
��
������������	������
�

)������	����������
�
���
���=8�����	
%�

)�����
��0� ��� ��� 

	�� �

� 
	� ����� 
���	����
	�� ��
� ��	�1��
� 8� ���
� ��
� ���	�
� ��� �
�

)/>@%�/�� �����0� ����� ��
� =
�
	
� ������ ��� ��	�1��
� �������
��� ��� �	��� ����
� ���	�
� ���
	����

�
	������2=������������'�
���	�
2	�	���	��	������4%����

�������������������������������������������������
��!� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%�)	�%�
��$�L%�)R@/&#�R& <@ &0���%��	�%0��%�"C!%��
��D��%� �E _A&/0���%��	�%0��%!GT$"%�



� F��

�)�� ("����������������
�������

�

(��2=��� ��� ��� ��
�
	�� ��
	�� ������	��� ��
� 
��+�
� �����
� �
�� �
� )���� /���������� ��
�

>��	�
������@�������	�
���	
�	��������
����������������:��
����	���	
�	��%�A��
�
�	


	�������	��

���������
�)������
�
�
	����
	��
0����

��	��
	������
�
	���:	��������
���������
�)������	����
�
�

��
��

�����������������
���
	��=�
�	�	��%�

)��
����	��	�
����������������'�=��	�	��	���4���	���

	�����2�1����
�
���
�
	��
�	��
�

�:��
����	���	
��
%�A���
��
	�����������
O����

����	�	�	����
�����
�� �����	�1��������
�)������	���

��	�	
�%�/�������0�
������
�=��	
�������������
�)��������
�)���	

	�����
�>��	�
������@����0�

�
� ��
���

2	�	��� �����/�
�0� ��� �

���� �	��
�	������ �������
� ���	�
� ��� �	2����
����	�	
� �
�
� �
�

)������	��� 
�� ������� ���
�����
�� ��
��	�������%�)���	#�	� ������
O�� ��
����	�
� ��� �	2����
��
�
�


������	��	�������8����������
����������
������

�=��	�	��	����J%�)��
��2	�������������
�	1�������

�
� )���� ����1��� 8� 
��� 
�
�;
�0� �+��� �
�
� ��
��+�� ,
�-��	�� �9� ����� 
� ���
	����� ���� ���

2��2
����������
	�����
�����:��
����	���	
��������	���
��
	���:
�	����
	���
�������
��
������
	����

����
�=��	�	��	�����
�/�
�
�>��������
%�/��������
	�0������
����
������
0�������	����
	�����
����

���
��
	���
���
���

2	�	�����
��	:#
����/�
�
��
��	�
��F%�

A����
	��
�

	���	������:
�	������
���	��	��
����>��	�
�A�����
�	��
�:0����
������
�:0�

��	���
2�	

������
���	�1��
������	����	�	����
���
���

2	�	��������/�
�%�

�

�������������������������������������������������
��J�/%��/<<A<A0�/%�>/) �_0��#@%�A�,/E<0���%��	�%�0��%�$J%�
��F�L%�)R@/&#�R& <@ &0���%��	�%0��%�"KD%�



� F!�

�%� ����	����;�����
��+�
%�

�

&��
�
����
��
	����
�������
��������
	
�������������
�)�����
�
���
�����	��
��;��
�

��
��+�
���������������������
���	��%�&��
���������
���
�	���������
�	
��
�
��������
�	1��%�

�


.� ���	
�������������
�)���%�

�

>
�
� �
� ����
��� ��
� 
��+�
� ��	� �������
	���� ���� 
	��
�	��� �:��
����	���	
��� ��� ��	�

��

	���� ���2�1��� ��
��� 8� 

��	�� 
	� ��
� ���
����
� 
���	���
� �����
	���� ��� �
� =��	�	��	��� ��
�

/�
�
��	
�����
�
�0������
� 	���������� ���:���	������ �
� =��	�	��	��������/�
�����
�������
���8�

�

���
���
!�����%�/���������
	��
�

	������������
	��
���	�������
���	��	��
����>��	��A�����
�	��
�0�

�+��� �
�
� 
��� � 
��+�� ,
�-��	���K� �9� ����� 
� 
��	���� ������ '��
� )������	��� ��	�� *#����.�


�	����������0��
�
��������
���
���������

	2��0�����
����	��
������
�
����
���	��	��
�������	��

A�����
�	��
�0������������
	���
��	��* �# �

�	��%�E�;
���#��	�*L).0��c$JKF$0�U�F"0�8��
�
O����

�
�
� )/>@� !""�.�4%� /���� ��� 
���	�	��
� ������
��� �

� 


�M� ��
� ��	�1��
� �
��	���	��
� ��� �
�

)������	��� ��	� �:	��0� �
�� �
������ 8� ���� 
	����� ��
���

2	�	��0� ���� ��
� ���
����
� ��������
�

���1�����
�

	�����
�=��	�	��	��������
�/�
�
���
���

2��
%�

/���� 
� 
�

	� 
��	
����� ���:���	������ �
� =��	�	��	��� 
�� ���1��� 
�������<��� ������/�
��

�:�����
������
���������	��	������
�����
�	��	�	��
%�)�����
��0��������
�
������������	�1�������

�
�
���
��

��������
�	��
��	�	�
	��
%�(
�)���	

	��0�����0���
�
	��
�

	���	�	
���
�
����
�����

�

���������	�	��� ��� �����I��������/�
�� 
�����
� 	��	�	��
� =���
� 8� �����
������C%�)�� ��	�1��� �
��


�

	������
�	1�����	��������
���
���

2	�	��������
����8����/�
�%�A���
����������������
���
	��

������
�����1���
�:���	�1��
�����
�E�
���

2	�	���A�����
�	��
�����
�/�
�
�������:
�	����
	����

/�
�� �
�� ��
���

2��� ��� 
��� 
��	��� �
�
� ��� �
���� ��� ���:���	��� ��� 

� =��	�	��	��� 
�� 
�	�� ���


;
�1�������
�)������	��%�

W��� �
�)������	�	
�� ��������� ��
����� =�
�	�	�
�	��0���������
	���
	������ ��
����
����
�


���	���
� �
�� ��
� 
���
� ����� ��
� /�
�
� ��	����� +���� �������
� ��
���

2��
� �����
	���0� ��� �����

=��	�	��	����
����	�������	
	�����
�
����
���
�	���
���	�
�	


	����
�����:%�

)�����
��0�8��
��	����� ��
��+��,
�-��	�0������
��
��

�
����������������������������

�
�������������
���
���

2	�	�����
�/�
�
��������
	��������
����
����
����1���������
�=��	�	��	���

����
	���

�
���	

��������
2���%�A���	
��
	������������	���
��
;
�1�������
�)������	����
��	��

��������
	������	�������������
�	���������
����
�������
�
����
���
���

2	�	�����
�/�
�
%�/����
�

�������������������������������������������������
��K� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%0�U�JK%�
��C�>��	
	���>��M������
���
�-��%�Y�
�������/
�
���0�)��%�/��%���%��%�0��!������2����GCG0���%��	�%��



� F$�


���
����	�	���
��	���������

�=��	
����������G%�/�������
��
�����
�2

���
����
���
���

2	�	��0�

��������
�0���
�/�
�
�
�	������
2�	������	�����
�	���
������
����
����
��������
��
������
�
���
%��

/����
����������� ���2��2
����������
	��
���	2���
�:�/�
�
��	
�����
�
���
	
������
�

��
���	������:���	�������
�=��	�	��	���������:#�	%�/����
�������������	����
	��
�
������������	���	
���

�����
�
�������
����
�
��1����:��
����	���	
�������
�
���
��

��	�	��
����
�
���
�
��
	��
�����;���

����	���3��
�
���
��

���	��������������
��
	�
���������
�8������
������
�����/�
�����	����
2��
�

8�����	#�	��������������
������	����������I���������	��3��
�
���
�
	��
�	��
��9���/�
���:�����
���


����	�����������
����
�
������	1��
�����2�	����������
��������0���	��	�
�	��������
���	�
�������

���L������������ ���
��3�����
�
� ��
��

���
���
�
������	
��
����
�
����
��	����
�	���
����

���
��
	��
����8�2������
������
�	��
��	����
��
�
���/�
������
�
��!"%�/����
���	�	
�������������

'����
�
���=��	�	��������
�)������	���40���	�
���	�	���
�:�
���
�/�
�
��
��	�
�8������
#�	0������

�	���������
����
����
���	����1���������
�=��	�	��	�����
�/�
�
����
	��
����������8���	����	�������

����������	���%�R�0��������
�
	��
���������������
��	��	����
�
���
����
�
��+�
�!�%��

/����
��:	��0��
�
�����

0�����:	
������'������I���������	��4���
�/�
�
�
�����
�	��	�	��
�

2��2
���
%�R�0���
�/�
�
������I�
	��������
�
����
%�)�
�
����
������I�
	������
�	��	�	��
%��
��

���
������0� ��/�
�� �����I�
	�� 
�

	� ��
� 	��	�	��
%� �����
��0� � �
� )���� ��
� �

� 
������� ���

�
	
��������%�

/���� 
� ��
������� �	�������	�� ��� �;��� ��
��+�
0� �9� ��
� ���
����
� ��
�
	���� �

� ����


��+���
0�
�
�����+��������
0������
��

��9���
��	��	��
�
�
	��������
��+���
�
�����
�
2��0�������

�
�
���
��+��A


�!!�*����
�
���
��+��a�
�
��!$���	�
��
�������
��1
���
��+��,
�-��	�.%��+���
	�

��
��
	���,
�-��	����
	���������������
	��
�	���������
�)�����
��������������
	����
����
����
�

����
��
����
�
���
�����	
�
��
�
2��
���������8�������1
���������	
�
���0�

�
�
��	��
��+������
�


�
����
� 
�� ���
�
2��0� ����� ��
��
	�� �

� �]� ��
����� ��� �
	
��������� 
��
� ��� �����:��%� /����


��
	���]�
�	����

�=��	
���������
��	����������
�
�����8��
�
	��
�	���������
����%�/�������0����


�	


�������������� ��
��
	�0������
����
	������
	��
�	����������
�����	� ��	� �
	

	���	�������	���

��
� �	��	��
� 
�	�
��� �
� ���������	�� ��
� 
���
� ��	�	
��
� �
�� ��
� /�
�
� �
��	�
� ��� 
�	�
��� �����


���
�
�	�������
2���������%�

>
�
� ��
��+�� a�
�
��!D� ��	� 
� 
�	�	0� ����� ��
� �

� ���� ���
� ����	
� 
��� 
�������
�	���


��	����������
��

���	�	
�� �����	�1�����������I������ ��
��+��,
�-��	��
���
����	��
�
�	


	�����

�������������������������������������������������
��G�L%�)R@/&#�R& <@ &0���%��	�%0��%�"C!%�
�!"�A2	���0��%�"C"T�"C�%�
�!���������
��:�����
0����%�)����/��%���%��%�0��!�=�	���GGF0�A


��%�<����	�0�)����/��%���%��%�0����=
��	���!""�0�
_�
�
�
����
����
��%�A�
�	����� �2
�	�%�
�!!� ��+��A


��%�<����	�0���%��	�%�
�!$� ��+��a�
�
���%�<����	�0���%��	�%�
�!D�A2	���%�



� FD�


	��
�	��
� �:��
����	���	
��
� 
	�	�
	��
%� /���� 
�����
	�� ���� �
� =��	�	��	��� ��� �
� <����	�� ��
	��

���
����8������
������
�����
	����a�
�
��
�
	������
��+��������
	��
��
�������	
��'���;
	����4�

��
� 
����
� ������
%� /���� �
����
	�� ����� �
� �	��������� �������� 
�
	�� �:��	����� �
�
� ��
��+��

,
�-��	�%� )�����
��0� ����� ��� 
�	�
	�� �

� 
��� 
�������
�	��� �
2	������0� 2

��� 
��� �
�

��
���

2	�	�����
�/�
�
���������
	�����
������
�%�)��
��8�������������������
��
	�������
������

���
���	�������=��	
��������������������
�
2�����������
���
��;��
���
��
	��
0����
��	�
���������

����	

���

�=��	
���������
��	����%�

&��
�
����
������
�
�����������������������������
	�	���
������
�=��������
2��
������

��	�1���
���������
	�����	���������
�����	
�	������������
����
����
����1�������
	���������
�

=��	�	��	��������/�
����
�������
�
�����������
��
�����
������������/�
���
��	���
����
���

2��%�

�

2.� &�������
	�	��%�

�

)��������
�����������
�����	
������2�����������
�
	�0� ��	�����
��������
�
�;
������

�;�����
��+���
����	�������������������������
����	�����	����
	
���8�'�������������
�=��	�	��	���4�

�����/�
�%�A��
�
�	��������-
������������
�� �������������������
����	��
���
�������
�
����

��
�
	�%�/�������0����
���������	0����	����
�
���
��	������������
�)������	��0�������������
�����
�

��
���

2	�	��������/�
�����2���
���	��������
�)������	���
�	�������
���
�������

��	
#8#�	
���
�

	��	�	��
���	�9����7���������
�,	����������:���

����� ���
0� 	�� �
��� ��	�	
��� �
� ���	�	�	��� ��� ������ 9�,	����������:0� �
������� �
�
�

��	��������	��%� A�� 
�
�	�� ��� �
� ���
������� �����/�
�0� ������ ���:��	�������
	���� ����	�	� ��	�

���
	�1��� ���� ������ ���	��� ��������� ��	���� ������ =��	�	��	��� �:������ 
��� ��	��	�	��� �
��

��������	
����
����
��
����	�
�
���
���
�	���
%�/����������	��������
����������	��
�����
����	���

��� ����������� ���� ��/�
�� �:����� 
��� ��
� �����	���
	��
� ��� 
��	�	
���
�!J%� >�
����
�!F0� 
��

���1���������I��
�������<����:�����
�����
�	��	�	��
����
����������	��	��%�)���	#�	���	��
���
�+����

	���������� ������ ��� �����	�� ������	������� �:����� �
�� ���/�
�� 
��� ��� 	��	�	��%� A�� �
��� �����

�
��
�����8�����/�
�� ���
���
�
���
���	� ��
��	
�������:���	�������
	�����
�
������	��
���2�	���
�

�:�����
��
�
�����
���������������I���!K%��

A���
����
�	�����	��������	���
�
�������
�
	��
�	��
����/�
���;�����
��
�,	���������0�

�

����������� ��� 
��� �����I��0� 
���
� ���	�� 
�	�� 8� �����
����%� A�� 
�
�	�� ��
�� �
���� ���"�,���

 �������������������
�
	���
����
�
	��
�	��
��:��
����	���	
��
��	
��������;�������

%��

�������������������������������������������������
�!J�/%��/<<A<A0�/%�>/) �_0��#@%�A�,/E<0���%��	�%0��%�$K%�
�!F� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%0�U�K�%�
�!K��%�(/&R,(/0���%��	�%0��%�"C%�



� FJ�

A��
�
�	�
������	��
	����/�
��
�����	
����
������	��	����
	���
�)������	���������

��	��


	� 

� ��
���

2	�	��� �
�� ���
���%�  � ��� �	���0� ��� ����0� 8� 2��� ���	�0� ��	�	
��� ��
� ��	�1��
�

��
���	2��	��������
����8����/�
��	

�
�����
��.
�����������!�������"����
�����	����0����>��	��

A�����
�	��
�%� /�� �����0� ��
� ���
����
� ��	� 
�	

���� ��� ����	��	��� ���
����� �������� ���+�	�� �
�

��
�	��� �����
��
� ��� ��/�
�� �
��	�0� ��� ���
����
� 
����	
��
� 8� �:������ 
��� 
����	���

������������
��0���	��	�	��
��	
�8��
��	
��
	�	��������/�
���
�����
�����/�
�0����������
����
�

������/�
���	�	�����������I��%�>���
�	1��������
��0����/�
�������+���� �������
���

2���������

�����	��� 	�����
�	��
������� 	��	�	��� 
�	�� �	�	��� ��� �����I��� ��� 
����� /�
�0� ��� 
�	�� ��
	��� ���

��


	
����
�
��
�)���	

	�����������������	��%�

A��
�
�	��2	�������
���
����	�����
���	��	��
��������������
���
���
�������������
�
���
�

����	��
��;��
���
��+�
%�R��
�����
��
	��
	����/�
���
��	��
��
	��+������
���

2���
�����
������

�
�)/>@����������
	�
��
	�
������
	��
�8��
�)������	����
	
����	��
�
	������	
�8������
����%�

>
�
� ��
� �

� �������
�	��
0� 	�� 
�
�	


	�� 2	��� ����� /�
�� ��	� �����I��� ��� 
����%� >�� ���
0� ��
�

���
����
� ��	� 
�	


	���� ��
	���� �����I���
� �
�� ��� ����	��� /�
�%� )����� �
� )���	

	��� ���

>��	��A�����
�	��
�0��
�)����/����������
��:	������	��
�
�	

�������'������I���������	��40����
�#

8#�	��������
������	����	
������
�
���


���
��	������������
�	������
������
���*������
�	���

�


��������� 
��	��������.%� >
�
� ��
� 	��������	��
� �	�	�
	��
� ��� ��
� �	

	��
� ��
����
�

�	����
�	���
0� 	�� 
�
�	


	�� 2	��� ��
���
� ��
����
� ��
�	���
� ��� 
��� ���
����� ��� �
���	
� ���

���
����
� ��	� �:��H
	���� ��
����	��� ������������
��� ��� ��/�
�� ��� ��	� ��
	���� 
	���������

�	�	���
���������I���
��
������	#�	%�

 � ��� 
�
��0� 
�	�� ��� 
�� ���1��� 8� ��
�	�� ����7��� ��
����!	����0� 
�	�� �	���������� 
��

9������<��� ���������:� ����:����� ��� /�
�%� )���
	�
� ���
���� ���	�� �
�� 
���	

��� ��� ���������

��	��������8�

��	��
	�����;�����������	����
��
���	2����8���/�
���	
�����
����������
��������

��	�
��2

�����
�����:���
	��������
����
���
���

2	�	������
�/�
�
�!C%��������
����
0������	�1���

���'������I���������	��4��
������
����
���
��	�������2�����
���
�
����
��

���	����
�	���������

�����	��� 8� ��� /�
�%� )����� 	��������
�	��� �
��� 
�

	� ����� ����	�	

�	��� ��� �
� ���	��� ���

'������I���4� ��� �
��� ����:���	��� ��� �
� =��	�	��	��%� )����� ��� �
������� ���
	���� )����#

���
��
�0��+����
�
���
��

��������
�	��
�����	���	
��
��9��
�)���	

	���
���	�	
�������	�1���

��� �����I��� ������	�0� 	�� 
�
�	


	�� ����� 
	����� �

� ��
���	�
�	��� ��� ��	��	��� 
����� ������0� 
	�

��
����	��������/�
��
���
�	��
���8� �����
�����*��
�������
�����������������
���	�����2�	�.0� �
�

)������	��� �
�� 
���	�
2��� ��� �
� ��
���

2	�	��� 	�����
�	��
��� ��� ��/�
�� 
�
����	2��� ��+����

�������������������������������������������������
�!C� %�Ee<@0��%�<EA(�)@0�)�����
����
�������������-"/+�� 
���������� ����	�0�	��'� ����
�������
�����
A�����
�	��
��(
B�40�!""$0��%�K�T�K!%�



� FF�

���
����!G%�(
�)����
���������	�	
��������	�1�����������I���������	���
��	���
����
	���������	#�	�

����� �����2��� ��
� 
����
� �1���
� ���
�	��
� 8� ��	����
2	�	��%� )�����
��0� ����� ��
� �

� 	����������

������
2������� ��� ��	�1��� ��� �����<��%� &��
� ���
��
� ���	�� �
�� 	�����


��� ��� 
�� 2

��0�

����	1������0�
��������	�1�����������I��������
�	��0����
����������
�:���	�1��
���
���	2��	������

�
�	1���
���	�	���%�

�������	��
	����/�
���
��2	�����
���

2�����������������	�����	���	��
��
���	2���0�	���
���


���
��:
�	����
	������#�	�
����
��	���
�������	��
�	�������
�)������	��������
����	�
�����	2����
�

��
2�	
�8�
���<	����A%�

 ��	���8����
�
��0������������	�����	�	���
	��������
�����9����7�������
�,	����������:�

��� ���� /�
�%� )��
� ��� 
��
� �

� ���� ���
�������� 
����
�	���� ��� �
	�� ���� �
� ��
���

2	�	���

	�����
�	��
��� ����� /�
�� �
�� ���
���� �
�� ��
��	���� ���� ��� ������� 2	���$"%� ��	�� ��� 
�
	�� ����


��������0� ��
� �1��
� Y���
����
� ��� �
� )������	��� ��
��
	�� �

� ��� 	����+�� 8� �:	���� ���� ��
�

���
����
������ ��
����	�
���	�����+�����������
�'����1�������� �
� =��	�	��	�����
�/�
�
�4%�A�
�
��


��
	����
	���������������
�8��
���
���

2	�	���������:#�	%�/�������0���
����
����
�
�������
��
��

���
�������������	

	��������/�
��������1��������

�����


	������������
����	�����
�
����
����

��/�
�%� )��
�� �������	� ���
� ���
	�����
� ���	�� �
��� 
���	����� ��� ��
�� 
���������
	��� 
�� �
	��

������/�
���
����
���

2����
�����
����
��
�������
����
����
��������
��
����
������	��
���
�

/�
�
�������1��������

��	��������������
�=��	�	��	���������:#�	%��

&��
����
�
����
����=���
�������
�8�����	�����	�����
	���:	
������������
����
����
�

��� ��
� /�
�
� ��� �
�
�%� &��
� ���
��
� ���	�� ����
� �:	
���� ��� ����� ������� ��� ������
�� ������ �
�

�	��
�	��� ��
� ���	�
� ��� ��
� 	��	�	��
� ��� ��
���� ��
� /�
�
� �	
� ��� �
�
��$�%� ���
	���� E	�-�

(
B
���
��
��	�
�	��������=������������
�)���0�����

�,���
����������A�
�	�0������
���	��������

��	�1��%��

(�� �����:��� ��� ������ 
��
	��� ��
	�� �	�������� ��
� �

� ���� ���
� ����	��
%� A�� 
�
�	


	��

���������
������
��	�
������	�
����
	��
	������
��	��
�	��������
��	����C�)/>@��
��	����
�
	��

�

�
��1
�
�:���
��
���	���
%�(�
������	��
	��
���
���	��
	�����

��
���	��
�	��
�������	������

��	� �:	��
	�� ��
���
������� ��� ��
� ��
��
� ����� ���������� ����� 
��1
� 8� ��
� ���
����
�

�
��	�
���
%�(
�)�������
	���
�
���
�����'�������	��������	�����
���%�,���
0�8�

��	������	����

�����	�� 
������� 8� �
� ��
��� ��� 8� �
����� ��	����� 

����������
2	�����������
��� 
�
��
�
���
0�

�����������
� ���
�	��
� 	�������
�������
��V��� �������� 
	� 
����� ��� 	�������	�����V
����� �����

�������������������������������������������������
�!G�L%�)R@/&#�R& <@ &0���%��	�%0��%�"KK%�
�$"�@%�@ &&��0���%��	�%0��%�""%�
�$��E%�( X�R&0�	��L%��E/A�/&�*/�%.0���%��	�%0��%�!GD%�



� FK�

���������������
���
���
��:	���
�����V/�
������������	���
�:���	

	��
���
���
2�	

�����
����

2
	�
���	��
�����
��	����	��������V	�����

�0��V�
�����	

��
2���4�$!%��

)�� ��
�� ��� �	��� �	����� ��� 	����	
�� ��
� �

� ���� ��	�	
�� ��� ���2���
�
� ��	
� �
�
� �
�

=��	
�������������
�)���%�A�������+�������	�������+������1
���	�����������	�	���� ������������
�

�2�	�
�	��
���
�/�
�
�)����
��
��
��
�
���������:�����
�
	��
�	��
��:��
����	���	
��
�$$%�

(��
������ ��
��	�� ������ ����	�	��� ��
��	

	2	�	��� ������ ����+��� ���
��� �
� )����

/���������� ��
�>��	�
� ��� �������0� ������ 
����0� �
�� ��� �	��� �	����� ��� 	����	
�0� ��� 
�� 2

��


�

	� 
��� ��� >��	�� /�������%� (
� ����	�	��� ��
��	

	2	�	��� �:	���� ����� ������� ���
�����

��;
	����������
�����	

���:���������������
����
��� �
�)������
���
�	��
����)�����
���
�

/���������
��
��


�M�
	�	�
	���8������	�1��%�/�������0���
���:��
��:	������������������
�����
�	��

��� ��
�	�
�
	��� �	������ ������ ���	
	��� ��� �������� �
� ��������� 9������������� ���

�������	���������:�$D���

 ���
	�����������	�1��0�������
�
���
����� ��
� 	��	�	��
����1�������� �
� =��	�	��	�����
�

/�
�
� ��� �������
� ��������� ��������������� ���
������ ��� ������
� 8� �
� )���� /���������� ��
�

>��	�
������@����%�)����
�����'��	����	��������	����	
��4�
����
���
�8����	�	����������������
�

�2�	�
�	��
���
�/�
�
����2��
�8��
�)/>@����
����
	��
�	��
��:��
����	���	
��
%�>���
	�0�������

���:��	�������
	��������	�	0����������'������
�������
�=��	�	��	���4��
�
	


	��
�����
����	�	����

������2������2����	�	
	��
�����
�)������	��0��
	
�	������
	�������
2�	������	�������


	���������

�
� �	��	��� ������ �	��
�	��� ��� �
� )������	��� ��� ��/�
�� �
��	�� 8� ��	� ������ �	��
�	��� �
��

	����
2���$J%�)��
����
	�����
�
�������	�������
��2

����	��	�
����������)��	�����
�>��	�
����

��@����� ��
� &
�	��
� ��	�
� ��
������� ���
���	�� 	������1��� ��
��	���� !� ��� �
���� ��
� >��	�
�

)	�	�
�������	�	���
����
���������'�=��	�	��	���4�$F%��A������
�
����	
��������
����

�����	���
����

����	
	��%�

A���
���
���	����������
�)����
�
	�0�
��	
0��
�
�
���
��+��,
�-��	�0�������
�������
��
�

�������
	���� �
� ����	�	��� ��
��	

	2	�	��� ��	� ���
	
��� 8� �������� ��� �
� =��	�	��	��� ����� /�
��

�
��	��
������������	��:	����������������
�������

���
���
�	�������	��	��%�)�������	�	������	��

�
	����
��� +���� ��
����%� /�� �����0� ������ 
�������
�	��� ���
	
��0� ����	1������0� ��� ����


�������� 2

��� 
��� �
� ��
���

2	�	��� ��
� /�
�
�$K� ��	� ��
� 
����� �
������ 
���� ��� �
	�� ��+����

�	��	��%�/�
�	��0� � ��� ��
����� �	����	����� ��� 	����	
�0��������
���	�	
��
�������� �
�)����
�
	��

�������������������������������������������������
�$!� ��+��,���
��%�A�
�	�0�)����/��%���%��%0�!D�����	����GGC0�U�$J0������NN�����%����%���%	��N�����N%�
�$$�E%�( X�R&0�	��L%��E/A�/&�*/�%.0���%��	�%0��%�!GD%�
�$D�)��%� ��	����!$"�UD����<�
	����������	���/���������%�
�$J�/%��/<<A<A0�/%�>/) �_0��#@%�A�,/E<0���%��	�%0��%�$J%�
�$F��%�XA>>RX�0���%��	�%0��%K!J%�
�$K� %�Ee<@0��%�<EA(�)@0���%��	�%0��%��K!%��



� FC�

����#�+��� ����0� ��� �����
����� �

� 
�� ��
�� ��	�	
�� ����� 

��	�� 
	� ���� ���
����� ��

1��� �
�

��
�	�������	��	�������

%�

>
�
� ����
	��
� 
	��
�	��
� �:��
����	���	
��
0� ��� ��	�1��� 


�M� 
��	��� ���
� ��������

��
���	�
�	��� ��� �
�)/>@��
�� ��� �	��� ������ �
� �	��
�	��� 
�2	�� ��� �
� �����	��� ��� ��/�
�� �
��	��

���
�� �

� �	����� ��� 	����	
�%� A�� 
�
�	�0� �
�� �:�����0� ��
� �

� ��� �����
� ��
���
� ���

��	�
�������
������������8����/�
��
�
����	2��������
���	�	
����������

������
�	����	�	��%�(�/�
��

�
��	�������
����
����

���
���

2	�	���	�����
�	��
�������
�������

������	�����	��
��
���	2����

�
�� 	�� 
	��� ��� 


	
��� ��� 
����� /�
�� �
�
� �
� ����	

	��� ��� �
	�
� �����
	��
� 
�:� ���	�
�

����
����
�:%�)�����
��0���
�	��	�	��
�������
��
����
�
���
�������������
�������������������

��/�
����	�
�����������
���	����
�� 	�����:	
����

���� �	����	�������� 	����	
�����������
�������

���������������	�	���������
������� �������%�>
�
���
��;����1
�
0���
����
����
�������1�����

������

�����
�=��	�	��	��������/�
���������%��)�
��:�����
����������2	����
��	���������������

�
���
���

2	�	��������/�
���������
	�����'������������

�=��	�	��	���4%�

A�� ��
�����������	1������
�	���8� ��
������������
����	�
���� �
�)������	��� ��
�@
���
�

�
��	�
� �������� ������
O���� 8� ��
� 	��	�	��
� ��	� '����1����� ��� ����� =��	�	��	���4%� (�
��	���� ����

�����	���������
�������
���
����	�
�����	2����
����<	����A�����
�)������	��%�)�����
��0��
�
���
�


	��
�	��
� �9� ��� � /�
�� 
�	�� 8� �����
����0� 	�� �
���
� ���	�	��� 
�	�� ��
	�� ��� ���	���� ��� �
��7���

�
�����
!���� ��� 
�������� ��� ��� ���
������ ���� ������%� /�� �����0� ��� �
���
�� 	���

	2��� ���

�	
�������	�������������+����	���
��
�:�/�
�
%�R�����������

�
����������
�
����
������/�
��

���	����
���������
���
����	�
�����
�)������	���
���
����	�
����
�����

������
�����������
	���$C%�

/�����	������0� ��� �����
� ��� 
��� ����	��	��0� ��� /�
�� ����� 
��	�� ���
� ��� �	��	�����
� 8� �
	���

��
������� ���
� ��
� ���	�
%�)��
�� ���� 
	��
�	��� ��� �
	�� ���	�� �
���
� ����� ���	�	��� �
�
� ��
����

�	����
�
���%��	���
�
����
���
�	���
�
��+�������
�	��	�	��
��������	��	������
�������������������

��
� 
���
� ��� �������0� ��/�
�� ����
������� ���� ����+��� �������
��� ��
� 
���
� ��� ��
� =����� 
�	�
�

������������
�
�������
;
%�)��
������������
�	1���������
�)����
��
����
	�����
������������
�
�


���
��+��_�
�
�
����������A�
�	��$G%�/����
��:	��������������+���
���


������������	���
����

��
��	����!�)/>@0����2	���8���
��	�������%�)���������������������
	������
�������A�
�	���������

����
�	�
	�������
�	�����	�
�
	������������
������
�	��0��
�)������
��

�����
������A�
�	�%��

��������
0���������
�
	������
���	�1��
���
���	2��	�����	��:��	�������
��
�	1�����������

/�
���:��������
����8������
����%�A�
����
�������������������	�	����������������
������������
�

���	�
�����
����
�:������
������	�1���
�����1���8���������I���	�����
���
�����
����
����
0����
�

������������
����	�
�8����������
��
���
���%�

�������������������������������������������������
�$C�E%�( X�R&0�	��L%��E/A�/&�*/�%.0���%��	�%0��%!GJT!GF%�
�$G� ��+��_�
�
�
����
����
��%�A�
�	����� �2
�	�0���%��	�%�



� FG�

!%� >��:	1����;�����
��+�
%�

�

>
�
���
�
��
	��
0����
�
����
������8��
	����
������
�����
�=��	
�������������
�)���%�

&��
��
�������
��������������
	�	���
�����������
�)����
����	����
�
�����;�����
��+�%�

(�
��	�������0� ��� 

���
�	�����
��	���� 	��������	�0� �����	�� 
�

	� ����
����	�
� ��� �	2����
�

��
� /�
�
� ��	����� ��
������� 
��
� ��	��� ��+���� ����
� ��
���

2��
� ��� ����� �	��
�	��%����� ��	
�

������������	��� �
�� 
���	2����8����/�
�� ������� �
����
�����
���	�����
�������� �����	��� ���1���

2	��� ��� �
� =��	�	��	��� ��� ���� /�
�0� 	�� 
�
�	�
� ��� ��	�� 
	� �����#�	� �	���� ��� ��
� ���	�
� ��� �
�

)������	��%� A�� ����	���� ����� ��� ��	�� 
	� ��� /�
�� 
� ����	
� ���� 2�1���� 8� 
�
� �2�	�
�	��
�

	�����
�	��
��
�*�����
�����
�	�	��
���
�)/>@.%��
���:�����0�	���
��	����
���=8��������������
���

�

������
���
����
����
���	����1��������

�=��	�	��	��%�

>
�
� ��� ���:	1��� �;��� ��
��+�
0� ��
� 
���
� ��� ���	
	��
� ��	
� �����
	���� 2	��� ��� �
�

=��	�	��	����������
�/�
�
����2��
%�A���
��
	���:
�	����
�	�
��	��
	���������������
��2�	�
�	��
%�

>
�
� ��
���� ��� ��
� �

0� �
� �	��
�	��� 
�:� ���	�
� ��� �
� )������	��� 
�
	�� #� ��� 
��
	�� #� ����

����	
�� �	���������� �
�� ��� 
����� /�
�� �
	
� ��/�
�� �
��	�� ��	� 
��
	�� '����
���	�4� 8� ������

�	��
�	��� ��� 
��
	�� 
�

	� ���� ��
���

2��%� A�� 
�
�	


	�0� ��� �������� 
����0� ������ '��	��
�	���

	��	������4���
��2�	�
�	��
������/�
��������
�������
�)������	���
���������
���
�)���%��������
�

)���0� ��� ���������� ��� ������ �������	��� ��
	��� �
�
� �
� 
���	�	�	��� ��� �
� )������	��� ��	� 
��

�
�
����	
�� ������ ��
��� ���<�
	��� ��� '��
�
��	�� �������	���4� ��
�>��	�
� ��� ��@����� ��� ��
�

�	2����
� ����
����
��
�D"� ��	� ����� ��
� '��2�	�
�	��
� �2=���	��
�4� 8� �
� ��
���� ��
� �
��	�
�

)����
��
���
�D�%� )�
� �

� �:��
����	���	
�:� ������ ����� �

� ��
�� ���2�1��%� >�
����
� )���
�

A�����
�	��
��
�
���
	������
	�����
�
	����
��
�
�����+���
��
%�

)�����
��0��
�
���
�
��
	��
0��
�)����
����	������	�������
��
	���

�
	�
	�����������
�

��
� '��	��
�	��
� �	��	�����
�4%� )��
� ������
	�� ��
� ���	�
� �	
� ��� �
�
�%� (
� )������	��� �����


�2	�� ���� 
���	�
2	�	��� 	��	�������
	
� ��
� �	
��
	�	��
� ��� �����#�	� ��������	������ 
���
�������

'������� 
�������4�*��	����� ���� 
	� ����� ��
	�� 
���	����� �	���������.%� A�� ��	�� 
�
�	�� ������

����
�������
��
�����
�
�����

������
������=8�
������	��
�����
�����/�
�0����	������	����������

����
������ 


	%�� ��� �
������ �����	���� ��� 
�������� 
�	�� 
�
�	�� ����� 
���� ��	� ��	�� ������� 
��

�����	���D!%� /�� �����0� �
�
� ��
� �

� ���:��
�	�	��� �
�� �:�����0� ��
��	���� ���� ��� 

��
	��


�	����������� ������ ���

��
��� ��� ��	��	��� �����
�� 
����� ������� '���� /�
�� )����
��
��0�

����2
�
��� ��
� �2�	�
�	��
� ��� �
�	1��� ���:��
�	�	��0� ��� ����� �	����� ��� 	��	�	��� 

�
� 
��

�������������������������������������������������
�D"�X%��%�L &�@RY�� &�>/E��//E�)@0�'��;��
�����������
�"����������-	��
����������.���������
��/����0�	��'�E�����<�	��
��	�������
�>��	�
������@����0����%�A0��GG"0��%!�%�
�D��Y%���>E/0���%��	�%0��%��"C%�
�D!��%� �E _A&/0���%��	�%0��%!K%�



� K"�

����
	�����������
�����	�	��
��
�������
��
�
�����
;
������
�	�
�	����
���������	�������
����

��
����� ��
� �
�
��	�
� ��� �
� )������	���4�D$%� >
�
� �����
� ��
� 
��
	��
� �����	
�
� �
�
� ���

���:	1��� �;��� ��
��+�
0� �
� )���� ��
� 
������� ������ 
���	�
2	�	��� 	��	������ ���� ����� ��
� �

�

��	�����	��	�������������0�����������	���������	��8��
��	�0���	�����	��	�����������	����=�
�	������

��


��
���� ����� ����1
� ���	�
2��%� &��
� ���
��
� �������� ����
	�� 
���	����� ��
� ��	�1��
� ���

'��	��
�	�����
��
����4�������'��	
��������	��
�	���4���������
���
����	�
�����
�)������	��%�

R�� ����� ��
���	�
� 
=������ ���� ��
	�	��� ���
�������� ��� ����
��� ��� ����
���� ���

����	����;�����
��+�
�
����������:	1��%�/�������0����������
���1�����
�������
��
��
�
���
��+��

,
�-��	�0� ��� �;��� ��� 
	��
�	��� ����� +���� ����
���� 8� ��
��
	��� ����	��0� �
�� �:�����%� A�
�


�����
	����
���
�����'���
����	���	�	��0��
�
�����
��+��,
�-��	�0�����
	�0������
�	��0�������������

�:��
����	���	
�� ��� ���	
	��
� 
����	����
0� ��	
�
� 
��� ��� ����	��	��� ��
� /�
�
� ���������
0� ���

2��2
������
�E<���������
���������	

	���4�DD%�(�
�������
��
�������
	���0��
���80�������������

�
����	
	������2��2
�����
�
	��������	
��8�����
����	��
����
�������������
��	
�����
�
�����


�
	��������	����������8��
��	��
�	���������	��8��
��	����
����
����
�8�,����
���DJ%��+���
	�

���
�
����
���
����������	�������;�����
��+�
��
��	��
�
�	�����
	��
�	��
��:��
����	���	
��
0����
�

������
��
����	���
	������
�


	�	������������
���	���������+����;�������
	
���������
������
�

��������=�������%�/����
����=�	�����0�����
	�0��
������
	��������
������
���
������	��
���
�/�
�
�

�
��	�
� 
�� ����	����� ��� ����	��	��� ���
����%� A�
� 
�
�	�� 2	��� ��� ���
� ��
� �;��
� ��� �

� ���� ���
�

����	��
�
�
�;
����
�
������
�
	�%�

���� ����	1��� ���
����� ��	�� +���� �
	��� ��� ��� ��	� ��������� ��
��	���� ����)/>@0� ��	�

�
�����
����

�����
��	����	��������	�0��������
����

���	�
�������
�
������

��
%��	����/�
��

��
���	�����

��
�)������	���8������
���
����
����
���	����1��������

�=��	�	��	��0�;������	
�

�����
���	� 
�� ��������� ��� ����	��	��� ���
����0� ��� ���	�� ��	������1����

� ��� ������'�=��	�	��	���4�


�	�
��� 
��� 
��
��
	����
��� �������� ��� ��
� ��	��	��
� ���>��	�� A�����
�	��
�0� 	�� ������� ����

2�1����8�
�
��2�	�
�	��
�	�����
�	��
��
�����	��
����
�)/>@%�

� �

�������������������������������������������������
�D$�/%��/<<A<A0�/%�>/) �_0��#@%�A�,/E<0���%��	�%0��%�D"%�
�DD� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%0�U�J$%�
�DJ�@%�@ &&��0���%��	�%0��%�GC%�



� K��

$%� E��
����
��	�
��
%�

�

(�	�����
�����
	��	�	�������������
����������	����;�����
��+���
�����
���
����	�	�	������

������'�=��	�	��	���4���	����
�	�����


	��
�
�������%�R��
�������
��������	��������
�	��������
�

)���� 
� ������ ��� ������ ���	��� 
	�
	� ���� �
� �I���%� (
� ��
	�	��� ���� ���
� 
���
� 
������0�

�����
	�������8�����������
�)���0��
�����2	����
��	�����������������������������E�
���

2	�	���

��
�/�
�
�
���	��
��	�����
�	��
���������
	�������
�)������	����:	��0����
�
0�������
����
����
�

��������
�'����1�������� �
� =��	�	��	���4���
�/�
�
��������
���
���

2��
���� ����
�
���
%�)��
��

�����	���
	����	����	
��������������
�
������
�
	�%�

/������	����	��0����
������	��
��
������������	�1������
��������	���0���1
����
�����
�
�

������ �
�	1��0� ��	0� �+��� ����� ��
� 
���
� ����	
� 8� �����
����0� 
���	���� ��
���	�
�	��� ��� �
�

)������	��%�/�������0�	��
��
	��	�������
2���������/�
�������	

���	������
�)/>@����
���	��
�	��

8� ��	����	���� ��� 
�
� �����	1��
� �
	
� ���	�� ��	

�� �
	��� ��� ���	�� ����� ��� �����
� ��� �����
#�	%�

���
	����<�������������
����������������	���������
���	��
�
�
�;
����
��	����!�����
������
�

>��	�
� )	�	�
� ��� ���	�	���
� ��
� &
�	��
� ��	�
%� A�� ���
	���
	�� 
�

	� ���	�� ��
	�� 	�������
2���

������/�
�����
�	���

���
���

2�����
��	��
�	��
�����	
�
�8������
������
	
�2	�������������
�

����	
�
� 
��� 
��� ����	��	��%� A�� 
��	��
	�� ���� ��
� 
����
� ��
�	���
0� ���	�
� 
�	�����	�	�
	��
� ���

�	�	�
0� �1
� ���	�
� �:��H
	���� ����� 
����	��� ��� ����� �����	�� 8� �����
����0� �����
	���� ��� �
�

=��	�	��	����������/�
��DF%����
	���E	�-�(
B
���
��	������
	�����
����	��
�
�	�
	���������
�����

�������
2������
;
�1�������������	�����
�>��	�
������@�����DK�
�	�������
	��
��������%�

�������������������������������������������������
�DF�<�%��/ER&0�-;��
���������
���%����/	�
��+������$��
�%0�	��'� ���	�
�������
�����A�����
�	��
��(
B�40����%�
CG0��GGJ0��%C"TC�%�
�DK�E%�( X�R&0�	��L%��E/A�/&�*/�%.0���%��	�%0��%!CG%�



� K!�

)�� �������� ������� ��� �
������� ��*��+������� ���,�� ���� �"�����������

�����
�������

�

 ��1
�
��	���������
����
��
�	1�������
	
����������

����
	��
�	��
��:��
����	���	
��
0�

���������
	����
����
	��������;����1
��
�����������
�)����
��
	�����������������	
	��0��
�
�

��
��+��,
�-��	�0��
	������
�
	��
�	�	�������
�������
�	��%��

<������
2���0��������
�
�

�=��	
���������
��	����0������
��
	���]��
������������
�

=��	�	��	������
���

��	����
��	���
������	��	����
�	��
�������/�
�%��

����� 

��	�� 
	� ��� 
�� ������� �
�
� ��� ��� ��
� �

� 
��	
� ���:��
����	���	
�	��0� 	�� �
���

�:
�	����
	���
�/�
�
������:�������������
��������������������<����
�
�����/�
�����
����%�

 �	�����:
�	����
	� ��
�/�
�
�
����2	�����
���

2������2��2
�������0������	�	
�� ��
�

��	�1��
���� �
�+��
���
!��������
�/�
�
����>��	�� A�����
�	��
���� �
������	��������/�
����	�� ��	�

+����
���	2������������������	�����	����������������	��
�	����������2�	�
�	���	�����
�	��
��������

����/�
���
������%�

>���
�	1��������
��0� �
�=��	�	��	��������/�
��
�������8����������
�������	�
���������


��
� 
��� 
����	��� ��� 

� ��
���

2	�	��� �:�����
� 
��� 
��� ����	��	��� ��� 8� �����
����%�(�
� 
����
�


����	
�
�8�
�	���������/�
����
����������
��
�������=��	�	��	�����
���	�
�
�	

����8������
����%�

A�
�
�1�������
�	�����
����
����
�
�����
������
�	�
��:������������
����	�������������
���

2	�	���


��
� �
� =��	�	��	������ ����/�
�%� �	� ��
� �����	��
� ��� ���
�	��� 
���� �����
	��
� 8� �
�)������	���

/���������� ��
� >��	�
� ��� ��@����0� �
� ��
���

2	�	��� ��� ��/�
�� �
�� ���
���%� A�� 
�
�	�� ���

�
	
������������
����
�� �
�)�����
�
��
�����
������
�
�
��+�
��
	
�����������
�
	���

�
�	�	�

�
�
� ���� 
��+�� ,
�-��	�%� /�� �����0� ����� 
�
	�� 	�
������ ��� �
	
��������� �
�
� ��
� 
��
	��
�

�������
�	��
�����	���	
��
���	��������
	�����������	��	������&�������)�;�����
���
�<����	��/����


�������
	��
���
����
��
��	���	1�������
��'������I���������	��4�DC��������
�����/�
�%�/����
�
	��

�����������
	
����������
�
��
�����
�����
��

���	��������
	������
�	��������	��
��	�	�
	��
����

���	�	1��
��9�	��;�
�
	���������
���
�
�	������
�
2���DG%�A����;�
������
�
���
��+��,
�-��	�0���	�


�� ���	�	�� ������ ���� 	��������	����	�	�
	��� 

�
� 
���
�
�	��� ���
�
2��0� ���� �
� )���� ��
� �

�

����
�	�	�����
	
��������%�R�0��+���
�	��
�
�	


	��������
	��
�	�����������������������0������


��
	���]�
�	����
�
�������
����������
��������

��
	��������������	�������	
�	���
�2	��
	��%�

�������������������������������������������������
�DC�)��%�>��	
	���)�;�����%�<����	�0�)��%�/��%���%��%�0�!F��
	��GKJ0���%��	�%�3� ��+��(�	M	�����%�<����	�%0���%��	�%�3�
 ��+��)�;�����%�<����	�%0�)���%�/��%���%��%�0��"��
	�!""�0���%��	�%�
�DG�>��	
	�������-���%� ����
���%0�)���%�/��%���%��%�0��!�����2����GCG0���%��	�%�3� ��+��a�
�
���%�<����	�%0���%�
�	�%�3�>��	
	����
��@�

��%�E�;
������	%0���%��	�%�3� ��+��>��M������
���
�-��%�Y�
�������/
�
���%0�)��%�/��%���%�
�%�0��!������2����GCG0���%��	�%�3�>��	
	������
�����2�����
����
��%�E�;
������	����E���2�	����Y����
���
�� ����
���0���%��	�%�



� K$�

A�� 
���	�� �
	����
��� ��
���	����� ��
� ��	��	��
� 
�:� �
	�
� ����� 	�� �
�� ���
�	��%� <����

��
2���0� ��
� �����
� �	�	�
	��
� ����;��
� ����� 2��2
����� �
� '�E
�	�� <����	M	=�� ���	=��4� 
��

�����
	����2	���
��
���������I����	�	�
	�����
������
������R< &���������
�������
�
����2��
%�

)�
�/�
�
��:��H
	���������2	������9������<������������:�
�����
����
����
���	�����
�	�
	�
	�����


������
�
���
��	����
�
�����
�������������
�	����	�	�
	������	�
������I�
	�����
��
	������%��
��

��	��������
�������0� ��
����
����
��	
��
���1
�����	
�������
����
�
���
������	���
���
	����

��
������������I���
%�A��
�
�	��������
����
����!	����������
����8����/�
���
�����
������
�
����
�

��
�	���
�*��
������
�
����
���
�/�
�
��	
�
��
���	��������R< &.���	�����
�	%�

)�
� �	�	�
	��
� ��
����� ����� 
��
� �
� ,	���������� ��� ��
���� ��� ��
� /�
�
� �
��	�
� ���


�1�������
����
����
����
�
��
������=��	�	��	�����
���	�
��:������������
����	���
�������
���	��


�
�	����
�	��	�	��
���	�
�������
	����8��
��
�	�#�����	
	�������
������2��2
�������%��

/�� ��
�	��0� ��
� 
���
���
� �����
� 
����
����� 
������� ��
����	�
���� ��
� 	��	�	��
� ��� ���

���	�
����������
	����
�����	��8��
��	��*
��	����!�)/>@.%�&��
�������
�
��
������
��

�	�	�
��

��
��������������	2�������	�����
�	���*
��	�����"�)/>@.��	�
�����	��8����������
�������	��*
��	����

�$.��
�����
�8���	�
���	��	�������
�
���
����������
%�>�����
0������������������<������
���

�8�


����
������
���	�����	��
�
�	����
���
�����	�	�
	��
��
�
�����
��������������
�	�����������������

���� �

� ���������
�	����	�	�
	��� �����
�	
��%� A�� �
��� �������
����� ��� �:
�	���� 
	� ��
�/�
�
�


��
	����������
���������������������
�"���������������
��7����
�����
!��%�R��
�
���H�	������

��
��	����!���	������	�� �
��������	���������	��8� �
��	��
��
	�0���� ������

0� ��]�+�����������%�/��

�����0� ��
� /�
�
� ��
	���� ��� ��
���� ��� ��������� ��� ���	�� 8� �
� �	�� ��
� �	��	��
� ��� ��	�
��� ���

2��2
����� ��� 2?�	����� ��� �
� �
�	�#�����	
	��� *���
	����� ������ ���� �	2��� 	����	�	��.%�)��
��

�������	� 	�
� ��	����� +���� '�=���
� ��
���

2��
� ��
� �	��
�	��
� ��
� ���	�
� �
�
��	
� �
�� �
�

)������	��������	�
�
�
	�����
���

	2	�	�����


����������
������
�
��
�
	��
�	�������
�
��4�J"%���

(
� ��
���

2	�	��� ��
� /�
�
� ���2��
� ��� ��R< &� ��� ��� �
� )������	��� 
� ����� ����

���
������
���
����
��������������)������	������
���
��	����!%��

&��
���
�
�;
��
��

�	�	���
��

��9����
������	��+����	������8����������
	���
�/�
�
�

���
���	�� 
� ���� ����	
� 
��
� ����	��� ������ R��
�	

�	��� A�����
�	��
��%� &����
� 
	���������

������/�
���������
��������;�����
�������
���	��
�
�	��������A�
�
����A�����
�	��
�����	����1���

����
�=��	�	��	��0���
������	�
������������I���
�����
	�
���
�/�
�
��	
�����
�
�%�R�0����������

��
�����
�
���
�
�;
�������
��+��,
�-��	�0��
�����������������	
	���
��
�	�������R< &��������

8� ��
����/�
����� 
�


��	��� ������	��� �	2����� 8� �������	
	���������
�	����	�	�
	��%�(�
�/�
�
�

�������������������������������������������������
�J"�)��%� ����������
�E�����
��
�	�� ��+��,
�-��	�����
����
��%�,���	�������
�	M��
����
�/�
�
��
��	�
0���%��	�%0�
UDK%�



� KD�

�������� ����� 
�� ��	�� ����
���
� �
�� �
� )���� 
�	�
� ���� ����	
0� �
�� ����� 	��������	��0� ����

�	��
�	�����������
��������R��
�	

�	��0���	��	
�������
�������	������
��
����=8������	���J�%�

A���
����
	�������
�)������	���/������������
��

����������������
�
���	������
������

�
�
� ��� �����%� )�����
��0� ����� ����
� +���� ��
������� ���
������� �
��	�� )����
��
���� 
�	�� 8�

�����
������������

������	����������	����
�:����	�
�����
�)������	���
���
��������������
����

�����
���
������%�(��
�
���=��	�	��������
�)������	������
��������

��	�	����
�:�����	��	��
���
�

/�
�
����2��
%�A��
���	��
	��������������	����
����������
��������1���
���������=��	�	��	��%�

R�� 
� ��=8� �2
����� ���� ��
� �	:#
���� /�
�
� ���
	���� +���� =���
� ��
���

2��
� ���

2��2
�����������������#��
�����������	��8��
��	����
�������
��
%��
	����
��0���������
��	�����

�����������	��
�	���������	��8��
��	�0�
��������
�������
��
����
�������������
��
�	���
0�
����

����� ������� ��� ������
�� 
���� ��� 2��2
�������� ��
� �����
� 
����
� ��� ��R< &� *�	�	���
� ���

�����I���
��
����
�/�
�
���	����������
��	�
.%�/�������0����
��
��
���������������2��2
�������0�

��	� ���
�	���� ��
��
���� ������ �	2��� 	����	�	��0� ���� ��
����
����
� ����
0� �����
�����
� �
�� �����

�
�	���0������������
��	�%�)��	�����
O��������	��
�	��������
��	����!�)/>@����������������
��	���

��
�
	���

����2������	�	��������
	���	
�������	�������
���
������
��2����	
�%�(�
�E�����
��
0�


	�
	���������
��
�	���
���	���
������
������0����7����������!��������
�,	���������������
�/�
�
%��

,	��� ���� ��
����
� =�
�	�	�
�	��
� 
�	���� 	���	��
� ����� 
�� ����
	����� ��� ������


�������
�	��0����������������	
��	���������	��	��������
�)���0�����#�+��0�
���
2�	��
�
���
��+��

)�;�����������<����	��J!%�/�������
���
	������'�������
�����������
	���*�����������������
����

�
�<����	����
���

2���
����������	��	��.������	�
	��8������
������������
2����
�
����
;
�1������

�������	��� ��
� ���	�
� ��� �������� �
�
� ������ ���	��0� �
�� ��
� 	��	�	��
� ��	� ;� ��
	����� 
��

����
	������	��
���
��
�
��	�
�����
����
��
�����
�)������	�����������������	��������
�����8�

����@
�����
��	��)����
��
������������������
��	��
�	��
��������
����	�
��
�
���������������

���
����
�)����4%(
�)����
�
	����=��������
���������
�
���
��+��,
�-��	���
��������	�������	
	��

��
� �	��;��
� ����
� ��
� �	��;��
� 
��2�
� ��� ��� ���� ��
� ����	��
� �
	

	���� �
��	�
� ��� '����
�
���

=��	�	����4�����
�)������	��%�&��
����
�����
��
����������0������������
���=8��	�0�8�������

�	�	�
�	���������
�
���=��	�	�����
�� 	��;������
��

��9���
��	��;��
0��	�
������
��
����
����
0�

����������2����	�	���J$%����������
0���
�E�����
��
�
���������
	�����
�
��
��+���
	��
�	�������

��
� �	��;��
� ����
%� /�� �����0� 
���
� ���	�
� 
���� �����
���� ��	�������� ���� �	��
�	��� ���>��	��

@��
�	�
	��������
�>��	�
������@����0�	�
�
�2	

����������	����=�
�	����
�	��
���JD%�

�������������������������������������������������
�J���%� �E _A&/0���%��	�%0��%$!%�
�J!� ��+��)�;�����%�<����	�0�)���%�/��%���%��%�0��"��
	�!""�0���%��	�%0�U�KC%�
�J$� ��+��A


��%�<����	�0���%��	�%�
�JD��#Y%�Y( ���0���%��	�%0���%J"�%�



� KJ�

�����
������

�

)�� ��
�
	�� ���
	
�
	�� 8� ��


��� ��
� 
��+�
� ��� �
� )���� /���������� ��
� >��	�
� ���

��@����� ���
���	�
� ������
	���� ��� �������� ���:��
����	���	
�	��� ��� 8� �:
�	���� 
	� ��� ����
	��

���
���� ���� 
�������
�	��� 
;
���
�	���� ��	� ��������
	�� ��� ����
���� ��
���	�
�	��� ��� �
�

)������	����
�
�����;�������

%�

&��
�
���
��1
����
0�����	1������0����	�	��
����	������'�=��	�	��	���4���	����
�	�������

��	��	�
����	�1���8��2
�����������

��	��
	���
����	�
�����
�)������	���
�
���	������8�����
	��
�

���
����
�������
���	�����'������������ �
� =��	�	��	���4���� ��/�
������
�
�%�&��
�
���
���
�	���

�:��	�����������
	��	�	
	���0���������
0���
�'�
	��
�	��
����:��
����	���	
�	���4%��

)����� �
�
� ��
� 
��+�
0� 	�� 
�
�	


	�� ���2
������ 
	� ��� /�
�� ��
	�� ��
���

2��� ������

�	��
�	�������
�)������	���������

��	��
	���
����
����
�
���	���
������
	�������

�=��	�	��	��0�

���
�
���
��
��������
���	��	��
������
�:����>��	��A�����
�	��
����	�����������������
�����
�

��
���

2	�	�����
�/�
�
%�)��:#�	����
�����
���	
�8��:
�	���0��
�
���
�����

���	�
�����
�����

8� �
�)����
��

2������	
�0�
	� �
������	���
��������
	��
���	2����8����/�
�����
	���������
�	��
	��

���� 2�1���� 8� 
�
� �2�	�
�	��
� *	

��
� ��� �
�)������	��.%�R�� 
� 
	�
	� ���	�	�� 
	� ���/�
�� �
��	��

����
	�� +���� =���� ��
���

2��0� 
�� �	��
�� 	�����
�	��
�0� ������ ��� ��
� �	��
�	��
%� A�� ��� ��
�
	��

���
����8�

��	��
	���
��	��	��
������
	����2	�������
�=��	�	��	��������/�
������
�
�������

��	��


	��������
���

2	�	�����
	�����
�����	
#8#�	
�����
�)������	��%�

&��
�
���
�
���
���������8���


�����
�
��+�
�����
�)��������������0�8���
�
�
�;
������

8� ��
� ����
���� 8� ��
� 
��+�
� �����
� �
�
� �
� �+��� �
�	1��� �
�� ��
� )���
� A�����
�	��
��
�

�
�
���
���
�>��	�
������@����%�

>
�
���
�����	��
��;��
���
��+�
0����
�
���
��2
��������	��
�
�	


	�����=���
�����
	�
�

����	
�8������
������������������2�1�����
	�������	��
�	�
����
	����+����
���	2��
�8���/�
���
��	��

�	
�����
�
�%�A���
��
	����
�	������	�	���
	���
�	��	�	��
�
���	��
��
����
��
	�
������
	����2	������

�
�=��	�	��	����������/�
�%�(
�)����
��
��
���������������8��
�<����	������
�E�
���

2	�	�����
�

/�
�
� ����� ���	�	��� ���
��� 	�� 
�
�	


	�� 
�	�� ��
���
� ��
����
� ��
�	���
0� 
�	�� ��� ���
����
� ��	�

�:������� ��
����	��� ��� ��/�
�� �����	� 
���� 
	��������� �����I���
� ��� �	�	���
��
�� ����/�
�0� 
�	��

��
���
� ����	
� �
�� ��� /�
�� ��	� �����I�
	�0� ��� �
�	1��� �����
�0� ��� 
����� /�
�%� (
� )����

������
	�0��
�
�����
�������
���
��

0�������
����
����
�
���	���
��
����
�
���
������
�'�
����
�

	�������	
	��
�4������
	��������
� =��	�	��	��������/�
��������
�	����
������
�;���
	����
�����
�


����
�	���������
����
�
����
%�/�������
���
	��
���
��
���
���

2	�	������
���/�
���
��	��
	�

�

�����	���8������
�������
	�������
	���8��
�)������	��%�)������	������
	���������
����������
���
�



� KF�

���	�
�����
�)������	��0��
������	����
	�������
�����������
	��%�>
�
���
��+��,
�-��	�����
��1
0�

����� 
� ������ 
���� ������ =��	
��������� ��� ��
� ���
� 
������� ���� ��
� �

� �:����	�����
�

��
���	�
�	����:��
����	���	
�������
�=��	�	��	��%��

>
�
� ��� ���:	1��� �;��� ��
��+�
0� 	�� 
�
�	


	�� ��
���
� 
���	2��
� 8� ��� /�
�� �
	
� ��	�

���
	�������	�����������
���
���������
0������	�
��
	������������
��
�
����
���	��������0��
��

���/�
�� ���
����� ��	0� 
������� ����
	�� �

����2��� ��� 
;
�1��� ��� �
�)������	��%�(
�)���� 
�


��	
0��
�
���
�
��
	��
0�������/�
���
��	�����
	���:
�	������
�
���
�����	
����8�����������8�

�����
�����
�	�������	�� 
�	�
� ��
����
	���� �
�)������	��%�)��:#�	�������
	�����

������
��
���

��
���������
����	�
�����
�)������	�������
��+����
�	1����������

����'��	��
�	����	������4%�A��

�
��
	��
	���������+����
]�����	���:	
�
	�������	��
�	�����
��
��������
�)������	��0��
�
���
��

�

��
���
���=8�����	
0��������	
��������	��
�	��0��������
�
���
����
���+��������	
%�

&��
� 
���
� ������� ��� ����� ���
� ���0� �
��� 8� ��� �

� ��	� 
�� ��
�� ���
��� �
� )����

�������������
����	�
������@����0�	���
������=���
������
2�������������8�

��	��
	���/�
���
��	��


�
�	��������
�������
�
��

����
��������������:��H
���
��������<���8������
����%��

R����	�	
��
���
�	��� ��
���	�1��
�������	��A�����
�	��
������
�+��
���
!��������
�/�
�
�


�	�� ��� ��	�� 
	� ��� /�
�� �
�� ��
���

2��� 	�����
�	��
������%� R�� ����
� 
	� 

� �����	��� ��	� �
��


���	2�������
	���������
�	��������2�1����8�
�
��2�	�
�	��
�����
�)/>@%��

/�
�	��0�
�	������
����
���

2��0�	���
����:
�	������
�	��	�	��
�������
��
����
�
���
%�

R���:
�	���
���
�
	��
��	��
�	�����
����	�
����	�
�����
�2	�
�������������������������
��
�����
�

�����	��������/�
���
��	�%��	����
������

0���
����
����
����7�����!������!��������
�,	�������������

��/�
��������
�	��%�

W�
��� 8� 

��	�� ����
� ���	�
� ��� �
� )������	��� �������� +���� ��
�����
0� 	�� �
���
�

��������� 8� ��	�� 
	� ���/�
�� ����
	�� �
�����
!������� 
�������� ���� ������� ����� 	�� �
�� ���
�	��0�

��
��� ������ ��� �
�
��1��� �:��
����	���	
�� ��� �
� 
	��
�	��%� A�� 
�
�	�
� ����� �����I��� ��� �
	�� 8�

�������������
�������:
���������
��
	���
������%�R��
���	������������
����
	�������
�����������

��������<�������������
����/�
�������
������	�1�����
���	2��	���
�����1���8���������I���	�����
���


�����
����
����
0����
�����������������	�
�8����������
��
���	����������
���%�

>����������
0����
�
���
����
��0������
�)����/����������
��
	������
�����
��	:#
����

/�
�
���
���

2��
�����
��	��
�	�������
�)������	��0��
�
���
��+��,
�-��	�0�
	������
�
	��
�	�	�

��
���	�1��
%�/�������0����2��2
�����������
	��+����
���	2���
�:�/�
�
��
��	�
��	
�����
�
�����

���
�	��
	�������	��
�	���������	��8��
��	�%�(�
�E�����
��
0�
�������������
��
�	���
��������
0�

�����
	��������
�=��	�	��	��������
�/�
�
��
���
��	��
�	��������������	��8��
��	��
�
	������	����	�����

���	����	
��
�������2��2
����������	�
�
	���	�����������
�
���
�����������
��	�%��



� KK�

)�����
��0����������	
	���
��
	�����������
����	���	�
�	������	�	��������
��
�������
�

)�����	
#8#�	
�������
�����R��
�	

�	���A�����
�	��
����������)��
�	�������/����������R< &%�

)����� ���	
	��� 
��
	�� 
���
� ��
�� ��� ���2���:� ���2�1��
� ��� ���
�	����� 
�:�/�
�
� ����+���

����
��
��	�
�8���R< &����8���
�)������	���/������������
�>��	�
������@����%�>�����
0��
�

)���� 
�� 
��
	�� ���
���� 8� 
�������� �
� ����
��� ��
� �

� �:��
����	���	
�:%�R�0� ����� �
�� ��=8� ��1
�

�����2���� �
�� ��� ���2��� ���	


��� ��
��
	��
� ��	� 
�� ���
������� 8� ����� ��� ���
� ��
��
	�� �
	��

���
���
����
��������������%� A�� �
���
���
�
�����
�����
	� ��
�
�������
� =��	�	���
���������

+���� 	�����
� �
��� 8� ���� 2����� �������� ���	�	���� ������ ��
� /�
�
� ��� �
��� 8� � ��
� ���2�1��
�

�����
�	

�	�������
�)����*��	�����������
	�����
�+������
���
�8���
	����������������������1���

��� 
;
�1��.%� &��
� ��� ��� ���
��
� �

%� /�� �����0� 
	� ��
� 
�������
� =��	�	���
� ��	����� +����

���������
0� ����� ��
� �
�
�
0� ���
� 


	
���
� 8� �
� ����� ��� 
;
�1��� ��� �
� )������	���

/������������
�>��	�
������@����%�)����	��
����	���������������
2��%�

�+���
	� �
�)������	��������	���

�
�
���	������
�������
�
� ��������������	�������

�������0� 	���
�� ����
����� ��
�/�
�
��
��	�
���������� �������
���

2	�	�����
���	�
�
�	

����8�

�����
����� ��� �	������ 
	�
	� ��
� ���	�
� ��
� ���
����
� ��	� ���1����� ��� ����� =��	�	��	��%� &�����


;
�1�������
�)������	���/������������
�>��	�
������@������
����1
���	���������	�
��0�	�����

�
����

����������� 	�����������������

��� ��
��	��
�	��
�����
�)������	����
�
���
�����	��	��
�

�
	
������
�
�����
���8������
����%�

&����� �	
��	��� 	��
��	��� ��� 
	��������� ������� 
�� ������������0� ��
��� �����

	������	
�%� /�� �����0� 
��� 	����������� ��
� �

� ���� �:��	����� �
�� ��
� 
�������
� =��	�	���
�



�	
�
	

��
%� �������
	��0���
�������
�	����	
��������	1����
�
������
�
	�����
�
������������

������ �	
��	��� 
��
	�� �]� ����
O���� ���� �	�� 2	��� ���
� ������
�� �
�� ��
� /�
�
� �
��	�
� ��
	����

��
	������� ���
���
!���� ��� 2��2
�������� 
��	��� ��� ��
� E�����
��
� �����
	���� 2	��� ��� �����

,	���������%�

'
����
������������������������
�������	�����
	��&�������
���
!����������
�������&���

�	
��������������������������
�������	���������	������
���������
������������7�����!�������

�
� ,	���������� ��	�� -�
�� �
������ ��	�� 
�	����� ��


���	���� ��� �	����� ���
������� ��� �������

�������
���
����� ��� ���;
�������� 9��������� ��� �
� ,	������������	�� -�
��:� ��� ��


���	��� ��	���

�
��7���
�	�������������-���������
�	�<���	����� ��
��
������� �
����	
����������

���	����	��

�
����������
	;��������	�
�����	���� �
	����
��
�����������4�4����� ���� �������	���;�����������������

-�
�����������
	����������
���������������������������������!
��	����"���������������
��7����	��

������������	�
������������������	;����
��������

�

�



� KC�

E��������
�,	2�	���
��	���
%�

�

 �����
%�

�

•�  �E _A&/0��%0�6���
���������.�����������/�����

��	������
���
�����������
����
���

������
���
!����������-�
���
	����
�������
�"-./0�	��'�E�����<�	��
��	�������
�>��	�
�

�����@�����4�0��GGJ0��%�$%�

•� )R@/&#�R& <@ &0�L%0�'
����������
���
���������
�,	��������������
�"�	��

-	��
����������.�����������/����0�	��'�E�����<�	��
��	�������
�>��	�
����

��@�����40�!""!0��%��"FG%�

•� )E XYRE>0��%0�)�����	���������;��������������
���������
������������
�"����������

���������������
����
���	���
����
���
!����������-�
��0�)
�2�	���0�!""!%�

•� Y( ���%��#Y%0�#��	
���������
�"����������-	��
����������.�����������/�������

��


���
������;��
���������
��0�	��'� ���
�	��
�=��	�	���
����>��	�� ��	�	
��
�	��40��

���%�F0�!""!0��%J""%�

•� L &�@RY�� &�>/E��//E�)@0�X%�%0�'��;��
�����������
�"����������-	��
������

����.�����������/����0�	��'�E�����<�	��
��	�������
�>��	�
������@�����40��GG"0�A0�

�%J%�

•� @ &&��0�@%0� ��!��������
�
�����"���
���
���
�
���
����	�
����������	���

'� ���	�
�����	��;����A�����
�	��
��(
B��������	��
�40�!""!0��%�GJ%�

•� ( X�R&0�E%0�	���E/A�/&0�L%�*/�%.0�1�
����1���������%�
���)�����
����
��

8�����
���0�!""!0��%!C�%�

•� (/&R,(/0��%0�+��
���
!������)�����
����
�������-�
������"����<���$��������
�0�	��

'�E�����2��������>��	��A�����
�	��
��40��GC�#C!0��%GJ%�

•� �/ER&0�<�%0�-;��
���������
���%����/	�
��+������$��
�%0�	��'� ���	�
�������
�����

A�����
�	��
��(
B�40����%�CG0��GGJ0��%KC%�

•� R�/^0�)%�T�X@A</0�E%0��
��2
�
���B�	��0�$���-	��
�
��"�������������/	�
��

+�����0�R:�������	���
	�;����

0�R:����0�!""!0��%!$%�

•� �/<<A<A0�/%0�>/) �_0�/%0�A�,/E<0��#@%0�'
�"����������-	��
����������.���������

��/�������"������
����
�������

��
������0�/�����	�
�*!1���/�%.0��GGG%�

•� ER,/E<�R&0� %@%�*/�%.0�"���������-��������������>$�
�
	;����

�
������?��������

-	��
����"�������������/	�
��+�����0��GKJ0��
��%�AA%�



� KG�

•� Ee<@0� %0�<EA(�)@0��%0�)�����
����
�������������-"/+�� 
���������� ����	�0�

'� ���	�
�������
�����A�����
�	��
��(
B�40�!""$0��%�FC%�

•� E�SA/0�>%0�.�����)�����
����
���	!���0�>
���M�*��1���/�%.0��
�	
0��GGD%�

•� ��RL(^0��%�T�LA,&/^0��%0�$�
���
����
��/	�
��+������=!���
�C����0�	��

'�@��
��E	���
�W�
�����;�40����%�!D0�!""!0��%�KC�%�

•� ��>E/0�Y%0�-;��
����������
��������������#��&��1�����������
�"�	��-	��
����������

.�����������/����0�	��'�E�����L����
������>��	��A�����
�	��
����2�	��40��GG"0��%�"C%�

•� XA>>RX�0��%0�$���


���
��������
�$��
�%����0
����
������
��
��%��	����������

��������%0�	��'�A�����
�	��
��
���)���
�
�	���(
B�W�
�����;�40����%�$J0��GCF0��%K!D%�

•� ^ @A0� %0�'
�����
�������	��$�
������
����	�
������	�����������$�
���������	�����������
�

���
���
!������������
����
��0�'�E�����2��������>��	��A�����
�	��
��40��GG$0��%D$K%�

�

>��	
	��
%�

�

�%�>��	
	��
�����
�)���	

	���/������������
����	�
������@����%�

•� )���%�/��%���%��%�0�!F��
	��GKJ0�)�;�����%�<����	�0��c�FKC"NKJ����FGJ"NKJ0�	��

'�>��	
	��
����E
�����
�40����%�!�0��%�!J%�

•� )���%�/��%���%��%�0�!C��
	��GKJ0�A�
��@�

��%�E�;
������	0��c�F!$�NK$0�	��

'�>��	
	��
����E
�����
�40����%�!0��%K!%�

•� )���%�/��%���%��%�0��C�=
��	����GCG0���
�����2�����
����
��%�E�;
������	����

E���2�	����Y����
����� ����
���0��c��!C�FNCK0�	��'�>��	
	��
����E
�����
�40����%�JG0�

�%�GD%�

•� )���%�/��%���%��%�0�!J�
�����2����GFJ0�_��%�EY 0��c�F��NF!0�	��'� ���
	�������
�

)���	

	���40����%�C0��GFJ0��%�JC%�

�

!%�>��	
	��
�����
�)����/������������
�>��	�
������@��������

�	
���	2��
�
������
	��������NN�����%����%���%	��N�����N%�

•� )����/��%���%��%�0��!������2���!""�0�,
�-��	�����
����
��%� ����
���0�,���	���0�

>
���
�-0�/
�
���0�Y�
���0�L�1��0�@����	�0�A
�
���0�A�
�	�0�(�:��2����0�&���1��0�

�
;
#,

0��������0�������
�0�E�;
���#��	0�E���2�	�������1���0�<����	�%�

•� )����/��%���%��%�0��C������2����GCF0�,�M
����%�Y�
���%�

•� )����/��%���%��%�0�!���
�
�!""!0�)
�
2����%�A�
�	����� ����
���%�

•� )���%�/��%���%��%�0��"��
	�!""�0�)�;�����%�<����	�%�



� C"�

•� )���%�/��%���%��%�0�!"�
�
��GG"0�)��M��
�

����
����
��%���1��%�

•� )����/��%���%��%�0�!F�=�	���GG!0�>��M������
���
�-��%�Y�
�������/
�
���%�

•� )����/��%���%�@%�0�D�=�	�����!""�0�A�

����%�������
����Y����
�	������E�

	�%�

•� )����/��%���%��%�0��!�=�	���GGF0�A


��%�<����	�%�

•� )����/��%���%��%�0�!C������2����GGF0�(�	M	�����%�<����	�%�

•� )����/��%���%��%�0��!��
�
�!""$%0�a�
�
���%�<����	�%�

•� )����/��%���%��%�0�!"�=�	�����!""�0��������	�	��%�A�
�	�%�

•� )����/��%���%��%�0�K�=�	������GCG0�����	����%�E�;
������	%�

•� )����/��%���%��%�0��!�����2����GCG0�����-���%� ����
���%�

•� )����/��%���%��%�0����=
��	���!""�0�_�
�
�
����
����
��%�A�
�	����� �2
�	�%�

�

$%�>��	
	��
����)��	�����
�>��	�
������@�������
�&
�	��
���	�
����

�	
���	2��
�
������
	����������NN�G$%�GD%�$C%�G"N�2
N���%�
��

•� R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������,���	���0�G������2����GGC0�

))�EN)NKGN ��%�GG%�

•� R2
���
�	��
����)��	�����
�>��	�
������@�����
���)�;���0��GGC0�))�EN)NKGN ��%�

CC%�

•� R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������A
�
`�0��C�
�]���GGC0�

))�EN)NKGN ��%�G$%�

•� R2
���
�	��
��	�
��
����)��	�����
�>��	�
������@������^����
�
�	�0�!C�����	����GG!0�

))�EN)NKGN ��%��F%�

•� )��	�����
�>��	�
������@����0�)%��%� �
��
�	�0�))�EN)NKFN>NG""N�GGG%�

•� )��	�����
�>��	�
������@����0�L����2���%�E���2�	����>�����
�	�������)����0�

))�EN)NKJN>NFD�N�GGJ%�

•� )��	�����
�>��	�
������@����0�(	�����
��	���%������
;0� N$CND"%�

•� )��	�����
�>��	�
������@�������
�&
�	��
���	�
0�(���M�,����
��%������
;0�

 N$FND"%�

•� )��	�����
�>��	�
������@�������
�&
�	��
���	�
0�&���M��%������
;0����������%�

�����
;0��
��	�
��%������
;0� N$KND"%�

�

�

�

�



� C��

D%�>��	
	�������
�)����A����# ���	�
	�����
�>��	�
������@��������

�	
���	2���
������
	����������NNBBB%�����	��%��%��N=��	
\	��N	���:%�����

•� ���Z
���M�E���[���M�)

�0�A����# ���	�
��)��������@��
��E	���
0�����������������;�

!G0����	�
�)�&�%�D%0��GCC%�

�

J%�>��	
	�������
�)���	

	���A����# ���	�
	�����
�>��	�
������@������

•� ����
��	���
�;���

���
�	��L�
��
�
���,
;0�)�2
0�A����# ���	�
��)���	

	������

@��
��E	���
0��
�����$0�!""!0�	��'�A�����
�	��
��(
B��
���	
�
�40����%�D�0�!""!0�

J$!%�

�

F%�>��	
	�������
�)����A�����
�	��
��������
�	�����

�	
���	2���
������
	����������NNBBB%	�=#�	=%���N�

•� A)�0��	�	�
�;�
����
�
�	�	�
�;� ��	�	�	�
�	��
���
�
	�
��&	�
�
��
�*&	�
�
��
��%�

��	������
��
���� ���	�
.0��GCF%�

�

�

�

�


